
Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 1

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
ACURA : 90001-SG0-003 150155035 HONDA RETAINING CLIP 14291
ACURA : 90505-SL0-003 150159563 SCR RIVET BUMP CVR 19140
ACURA : 90661-ST7-003 150155409 INTEGRA WHT PL BUMPR C 18456
ACURA : 90666-SA7-003ZW 150155625 ACURA/HONDA TRUNK LIN RET 19506
ACURA : 90688-SB0-013 150155173 HONDA SCREW RETAINER 14698
ACURA : 90700-SJ4-000 150157040 ACURA HOOD INSUL BLK 7.5 18746
ACURA : 91501-SG0-003 150155232 BODY SIDE CLIP 17440
ACURA : 91503-S0K-A01 150157083 GRILL MOUNTING RTNR ELEMENT '03-'04 20608
ACURA : 91503-SP0-003 150155597 RIVET TYPE SCREW 17267
ACURA : 91503-SZ3-003 150155500 HON/ACURA BUMPER PUSH RET 19233
ACURA : 91503-SZ5-003 150155512 HONDA DRIVE RIVET F&R 20564
ACURA : 91504-SP1-003 150155626 ACURA MOULDING CLIP 19507
ACURA : 91512-SX0-003 150155514 HONDA/ACU DRIVE RIVET M8 19239
ACURA : 91515-SR3-000 150152045 HONDA CIVIC BLK PL RTN CL 19483
ACURA: 75801-SD2-003 150155257 BODY SIDE CLIP 90-6752
ACURA: 90652-SD4-003 150155224 ACURA DOOR MLDNG. CLIP 89-6593
AUDI: 113-857-219A 150152080 TRUNKLINR PLUG BLCK VINYL VW BEETLE AUDI 13206
AUDI: 801-867-299/041 150155036 RETAINING CLIP BLACK NYLON VW & AUDI 13202
AUDI: 803-853-139A 150155077 ROCKER PANEL CLIP 13189
BMW : 51-11-8-174-185 0501105035 PANEL CLIP BMW E28,30,39 PACK OF 25 20248
BMW : 51-13-1-804-205 150155094 MOULDING CLIP W/ SEALER NYLON BMW 13158
BMW : 51-14-1-902-279 150155279 EMBLEM GROMMET NATRL NYLON BMW '86-'01 20186
BMW : 51-31-1-938-494, 51-31-8-177-850 150152089 NYLN WINDSHLD MLDCLIP BMW 7 SERIES 1987+ 17279
BMW : 51-47-1-840-960 150155700 SCUFF PLATE RETAINER 20403
BMW : 51-48-1-938-725 150155515 BMW7 DRIVE RIVET TRUNK 20270
BMW : 51-71-1-916-197 150156077 BMW HEADLAMP COVER 17645
BMW: 07-11-9-901-294, 07-11-9-916-945 150152081 PLATED U TYPE NUT 4.8MM SCREW BMW 13215
BMW: 07-12-9-925-708 150152087 PLATED U NUT 4.2MM SCREW BMW 13223
BMW: 07-12-9-925-720 150152091 U TYPE NUT PLATED BMW 5.6 MM SCREW 13162
BMW: 07-12-9-925-730 150152086 PLATD UNUT 6.5MM SCREW BMW 13222
BMW: 07-12-9-925-737 150152084 PLATED U NUT 4.8MM SCREW BMW 13218
BMW: 6101126 150159465 HEX HEAD DOG POINT 6X30 90-6746
CHRYSLER: 1624705, 6010093 150159273 CHRY UNI MLDNG FASTNER 2744
CHRYSLER: 1758099, 6000720, 6010046 150159270 CHRY UNI MLDNG FASTNR 2752
CHRYSLER: 2486468 150153106 CHRY BUSHING 11/32-13/32-13/32 17434
CHRYSLER: 2524525 150156007 HEADLAMP BEZEL NUT 8419
CHRYSLER: 2745108, 2945109, 4658676, 4658677, 4003672R 150153042 UPPR GRILL ATT PL/GR CAD 10262
CHRYSLER: 2964547 150159316 CHRY WTHSTRP RETAIN BLK 11129
CHRYSLER: 34201631 150155380 CHRY BLIND RIVET TOUGH M6.3 FLG17 81UP 18108
CHRYSLER: 34202159 150151099 STAMPED NUT M4 17495
CHRYSLER: 34202672 150155582 DRIVE TYPE RIVET 13993
CHRYSLER: 3691590, 4004569, 6031321 150155045 PLASTIC SHIELD RET. 78ON 10831
CHRYSLER: 3796071 150153058 DOOR LOCK ROD END 1/6INCH 78-4813
CHRYSLER: 3861577 150155054 STONE SHIELD CLIP 11679
CHRYSLER: 4005099, 6033862 150153131 DOOR PANEL RETAIN-GM/JEEP 11349
CHRYSLER: 4005470, 6003349 150153047 DOOR TRIM PANEL RETAINER 11678
CHRYSLER: 4006516 150155610 COWL RETAINER 11612
CHRYSLER: 4006529, 5208743 150153098 CHRY/AMC TRM PNL3/4X11/16 15040
CHRYSLER: 4033711, 4498100 150153085 CHRY BUSHING 1/4-21/64-23/64 14552



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 2
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
CHRYSLER: 4040732 150152019 DOOR/HOOD INNER CIP 18509
CHRYSLER: 4341060 150157015 HOOD INSULATION RETAINER 17004
CHRYSLER: 4370138, 6503860 150155188 BLIND RIVET 17101
CHRYSLER: 4381395, 6501086 150155079 CHRY DR FRM/BMPR RET 20316
CHRYSLER: 4630088, 4630660 150155363 CHRY BLIND RIVET CNTSK 6.3X17 NYL 93UP 18031
CHRYSLER: 4630088 150155348 RIVET-BLIND W/SHOULD CHRY 18028
CHRYSLER: 4630253 150155353 RIVET-DRIVE TYPE CHRYSLER 18029
CHRYSLER: 4638136 150155591 RADIATOR GRILL RIVET 14993
CHRYSLER: 4658444 150153184 DOOR LOCK ROD R.H.CLIP 19191
CHRYSLER: 4658445 150153183 DOOR LOCK ROD L.H.CLIP 19190
CHRYSLER: 4658673 150153177 CHRY DOOR WTHRSTRIP CLP M5 19149
CHRYSLER: 4658674 150153181 DOOR LOCK ROD R.H. 97-7696
CHRYSLER: 4658675 150153182 DOOR LOCK ROD C.H. 97-7697
CHRYSLER: 4658676 150153151 CIRRUS DOOR ROD CLP WH 96-7519
CHRYSLER: 4658887 150157074 TRIM PAN RET-CHRYS 97-00 20165
CHRYSLER: 4676356 150155484 CHRY RADIATOR GRILL RET. 19339
CHRYSLER: 4696129 150152039 WEATHERSTRIP CLIP - CHRYS 18033
CHRYSLER: 4696488 150155422 CHRY SCR RIVET PL HL7HD12.5X30GR2- 14995
CHRYSLER: 4805119 150155545 CHRY COWL VENT GROM 19785
CHRYSLER: 4805570-AA 150155717 CHRYSLER RADIATOR GRILL FASTENER 20526
CHRYSLER: 4857345-AA 150159663 CHRYSLER TAIL LIGHT HOUSING RETAINER 20457
CHRYSLER: 4860375-AB 150155749 COWL VENT GROMMET CHRY MINIVAN 2004 20667
CHRYSLER: 4878883-AA 150157073 HOOD INSUL RET-CHRY 97-00 20164
CHRYSLER: 5012874-AA, 6505539AA 150153209 JEEP DOOR PANEL RETNR M7 19628
CHRYSLER: 5028438-AA 150153549 CHRY DOOR TRIM RETAINER L GREEN 20428
CHRYSLER: 55022134 150155195 BMP FASCIA RET 1/4 15042
CHRYSLER: 55055098 150156086 DODGE RAM BL PL HDLMP GKT 18248
CHRYSLER: 55156429-AA 150155757 ROCKER PANEL BUMPER FASCIA CLIP BLK NYL 20523
CHRYSLER: 55176248 150155614 DRIVE TYPE RIVET 14020
CHRYSLER: 55350747-AB 150157069 TRIM PAN RET W/SEAL-CHEVY 19775
CHRYSLER: 5BB14LX9 150155505 DODGE BUMP CVR RETAIN 19245
CHRYSLER: 5FR56DX9 150153226 JEEP MOULDING CLIP 19894
CHRYSLER: 5GC71RC3AA, 5GF92RC3AA 150155668 CHRY/ INT.TRIM RETAINER 20273
CHRYSLER: 6000943, 8934-201-263 150155028 CHRY/AMC GRILL NUT NYL #8 9377
CHRYSLER: 6002372, 6003323 150153135 CHRY DOOR PANEL RETAINER 94-7358
CHRYSLER: 6003351 150157006 HOOD INSULATION FASTNER 11136
CHRYSLER: 6006264 150159588 PUSHNUT 3/16 STEEL 3404
CHRYSLER: 6023171 150159291 EXT U NUT 5/16-18 10053
CHRYSLER: 6023925 150159089 CHRY L/P NUT NYLON 1/4#14 8242
CHRYSLER: 6025005 150159122 HEX NUT SPIN WASH 1/4-20 15347
CHRYSLER: 6025007 150159123 5/16-18 SPIN WASH HEX NUT 15350
CHRYSLER: 6025329 150159047 CHRY BDY BLT HX HD SEMS 9480
CHRYSLER: 6026430 150159323 PUSH ON RETAINER 1/2 9299
CHRYSLER: 6026958 150159321 PUSH ON RETAINER 1/4-1/2 10086
CHRYSLER: 6029501 150156020 GM HEADLAMP BEZEL NUT 64-76 12735
CHRYSLER: 6030441 150155051 CHRYS PAD SHLD CLIP 11146
CHRYSLER: 6030538 150155044 REAR BUMPER RETAINER 10832
CHRYSLER: 6031147 150159194 FLAT PUSH ON WASH 3/16 8865
CHRYSLER: 6031383 150155061 CHRY GRILLE RETAINER 11704
CHRYSLER: 6031390 150155058 DRIVE TYPE NUT 11699



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 3

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
CHRYSLER: 6031872 150151106 RIVET WITH SHOULDER 92-7069
CHRYSLER: 6032138 150159558 RIV TRUNK LOCK COVER CHRY 16687
CHRYSLER: 6032363 150153014 CHRY DOOR TRM 75UP 11351
CHRYSLER: 6032856 150155356 RIVET-BLIND SEALING CHRYS 17615
CHRYSLER: 6033018 150155418 FRNT BUMPER FASCIA RET 20332
CHRYSLER: 6033082, 6033840 150155397 RETAINER 1/4 INCH HOLE 17664
CHRYSLER: 6033677 150159002 ANCHOR 14756
CHRYSLER: 6033854 150159487 HEX HD BLT1/4X3/4SLF PIER 91-6899
CHRYSLER: 6034703, 6035188, 6505813AA 150159509 HES HEAD BODY BOLT#14X7/8 18934
CHRYSLER: 6035122 150155531 JEEP BLND RVT SS 3/16X3/8 19751
CHRYSLER: 6035201 150155598 BLIND RIVET 17639
CHRYSLER: 6035274 150155191 GROMMET NUT 14037
CHRYSLER: 6035414 150155501 BLIND RIVET MULTI GRIP 19406
CHRYSLER: 6035821 150159666 DODGE DOOR & FENDER SHIELD RETAINER 20524
CHRYSLER: 6036148-AA 150155746 SPLIT TYPE RIVET 5/32"DIAM ALM CHRY99-04 20629
CHRYSLER: 6100042, 6101283 150159330 NUT 8MM 11629
CHRYSLER: 6100047 150159368 6MM HEX NUT W/14MM SPIN W 19216
CHRYSLER: 6100048, 6500284 150159117 185E SPIN WASH NUT PHOS 15329
CHRYSLER: 6100049, 34201358 150159369 M6 HEX NUT W/10 HEX 19MM WASHER OD 15331
CHRYSLER: 6100775 150159280 WSHR LOCK NUT ZN WR10MM 12254
CHRYSLER: 6100814 150159573 CHRY THR CUT NUT ZN M6 19548
CHRYSLER: 6100839 150159165 PUSHNUT BOLT RETAINER ZN 12122
CHRYSLER: 6500787 150153080 RETAINER CLIP GM 14016
CHRYSLER: 6500898 150159602 PLASTIC RIVET 5MM 13755
CHRYSLER: 6500911, 6504700 150159405 BLACK NYLON RIVET 1/4 13750
CHRYSLER: 6501025 150159352 PUSH NUT 8M 12125
CHRYSLER: 6501067 150155144 AIR-SCOOP CLIP 15481
CHRYSLER: 6501301 150155399 TRIM PANEL RETAINER 16818
CHRYSLER: 6501559 150155381 DODGE BLIND RIVET SUPER NYL 6.3X13 94UP 13751
CHRYSLER: 6501590 150155146 BK PLASTIC DRIVE RIVET 6M 14019
CHRYSLER: 6501773 150155424 CIRRUS GROMMET NUT 12569
CHRYSLER: 6501825 150155097 8MM PUSHNUT 12259
CHRYSLER: 6501925 150155354 RIVET DRIVE CLIP 18030
CHRYSLER: 6502104 150155432 DODGE H/L MNT 6.5X25X29.7 18771
CHRYSLER: 6502328 150152027 DOOR WEATHERSTRIP RETAINR 14921
CHRYSLER: 6502573 150155358 RIVET SCR TYPE COWL-CHRYS 18032
CHRYSLER: 6502625 150155229 RIVET SCREW WITH SHOULDER 16835
CHRYSLER: 6502776 150155341 TAIL LAMP RETAINER 18102
CHRYSLER: 6502842 150157028 HOOD INSULATION RETAINER 17975
CHRYSLER: 6502907, 6504014 150153141 PANEL RETAINER YEL NYL 17669
CHRYSLER: 6502907, 6504014 150153153 NEON DOOR PANEL CLIP 18915
CHRYSLER: 6502988 150155490 GARNISH MOULDING CLIP 19519
CHRYSLER: 6502991 150153159 PNL/CLP7.5X16X32. JEEP DR TRM 17685
CHRYSLER: 6503106 150155362 CHRY/JEEP DRIVE RIVET 6.33X22 PL 93UP 18269
CHRYSLER: 6503163 150155185 SCREW TYPE RIVET PLASTIC 14997
CHRYSLER: 6503204 150153195 CHRY DOOR TRIM PNL CLIP M7 18862
CHRYSLER: 6503221 150155087 STONE SHIELD 82 ON 12766
CHRYSLER: 6503339 150155378 COWL SCREEN RETAINER 18249
CHRYSLER: 6503401, 6503819 150159557 CHRY SQ TRUSS 19417
CHRYSLER: 6503454 150155496 JEEP PIN DRIVE RIVET 18327



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 4
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
CHRYSLER: 6503598 150155325 RIVET DRIVE 17216
CHRYSLER: 6503709 150153199 CHRY DR TRM PNL5/16X1/16 19213
CHRYSLER: 6503768 150155417 BLK PLS BUMBER CLIP 18301
CHRYSLER: 6503800 150159601 PLASTIC RIVET 5MM 13748
CHRYSLER: 6503892 150157046 CHRY HOOD INSUL RETAIN 18827
CHRYSLER: 6503938 150155468 DODGE BLND RVT BLK NYL 18913
CHRYSLER: 6504090, 34201621; 150155117 FRT FEND. SKIRT 1981ON 12567
CHRYSLER: 6504098 150155448 HOOD SEAL RETAINER 19338
CHRYSLER: 6504135 150157062 HOOD INSUL RETAIN-CHRYS 19541
CHRYSLER: 6504452 150153196 CHRY DR TRM PNL M7 1X14 98-7776
CHRYSLER: 6504521 150155494 CHRY PIN DRIVE RIVET 19422
CHRYSLER: 6504870AA 150155557 U Nut #8 (M4.2) 19809
CHRYSLER: 6505292AA 150153197 CHRY DR PNL RET M9.5 14MM 19386
CHRYSLER: 6505759-AA 150153548 CHRY DOOR TRIM RETAINER GRAY 20427
CHRYSLER: 6505918-AA 150153544 CHRYSLER TRIM PANEL RETAINER 20515
CHRYSLER: 6506008AA; 150156108 RADIATOR WHEEL HOUSE FENDER PUSH RETAIN 19639
CHRYSLER: 6506311-AA 150155738 HEADLNR RETNR JEEP LIBERTY 2002-2004 20622
CHRYSLER: 6507219-AA 150159652 HEX WASHER HEAD 20436
CHRYSLER: 8934-201-262 150153010 NYLON NUT SIDE MARKER LT 11855
CHRYSLER: 8934-201-681 150153055 TRIM PNL RETNR NYLON AMC 1984+ VW 1982+ 13475
CHRYSLER: 8934-201-767 150155116 TUBULAR BARREL NUT FOR 3/16 STUD 13966
CHRYSLER: J4004175 150159163 PUSH ON RETAINER 3/8 9298
CHRYSLER: J4004354 150159164 7/16 PUSHNUT 9297
CHRYSLER: J4004354, J4005293 150159322 PUSH ON RETAINER 5/16 10087
CHRYSLER: MB361578 150155465 CHRY FND MOULD GROMM 8X11 97-7722
CHRYSLER: MB566719 150153207 CHRY DOOR CLAD RETM7 96UP 98-7893
CHRYSLER: MB888869 150159563 CHRY SCR RIVET BUMP CVR 19140
CHRYSLER: MR200300 150155669 FEND/BUMP RETAIN 20247
FORD: 1U2Z-14S411-HA, WPT-109 155617018 FD LAMP-ST SCKT BASE 3157 96-7573
FORD: 375890-S102 150159100 TUB NUT GRN W/SEAL 1/8 11293
FORD: 376337-S100 150159008 BUMPER BOLT FORD 5/16X3/4 9853
FORD: 376785, 376785-S2 150159118 3/8-16 SPIN WASH HEX NUT 15351
FORD: 376988-S2, N804992-S58 150159187 FLSH WSH OVAL HDSMS 8X114 10654
FORD: 379830-S 150159127 FORD CLIP SZ 8 OR 10 NUT 9862
FORD: 379830-S, 383356-S 150159002 FORD ANCHOR 14756
FORD: 379831-S, 45268-S2 150159296 EXTRUDING NUT 5/16 8814
FORD: 380707-S 150159348 FORD LICENSE PLATE NUT NYLON #14 11368
FORD: 380934-S2 150159504 PH RND HD DRILL SCR8X1/2 92-7021
FORD: 381671-S 150151008 PHIL OVAL WSH HD #8X3/8 10642
FORD: 381818-S2 150159241 U NUT PHOS #8 PR.025-.150 HL 3/8 9880
FORD: 381863-S2 150159240 U NUT #8 9879
FORD: 383142-S 150159293 LICENSE PLATE RETAINER 20310
FORD: 385330-S, D3OZ-16776-A 150157006 HOOD INSULATION FASTNER 11136
FORD: 385661-S 150153014 DOOR TRM 75UP 11351
FORD: 385677 150152050 WEATHERSTRIP CLIP 19425
FORD: 386299-S 150155011 FORD HOOD ROD CLIP 16954
FORD: 386553-S 150157053 HOOD INSULATION FASTENER 19655
FORD: 387258-S 150155054 STONE SHIELD CLIP 11679
FORD: 387477-S 150153050 FORD TRIM PANEL CLIP 77UP 11797
FORD: 387496-S 150153054 FORD TRIM PANEL RETAINER 76UP 11672



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 5

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
FORD: 387843-S 150155056 FNDR SHLD RET 19/32 11705
FORD: 387944-S 150155057 GRL TO METL STMPG RET 11706
FORD: 388047-S102, 388047-S1021 150159471 1/4 ZINC/PHOSP FASTENER 12653
FORD: 388246-S 150155610 COWL RETAINER 11612
FORD: 388246-S 150155610 COWL RETAINER 11612
FORD: 388442-S100, 388442-S309 150159393 1/4 BLK PHOSPHATE FASTNR 12652
FORD: 388577-S, W705589-S300 150155051 PAD SHLD CLIP 11146
FORD: 388664-S100 150159391 FACIA BUMPER FASTENER 14127
FORD: 388904-S 150155079 FORD DR FRM/BMPR RET 20316
FORD: 388908-S 150157011 RETAINER HOOD INSULATION 14163
FORD: 388930-S 150152074 FORD TRIM PANEL RETAINER 12909
FORD: 389258, 389358-S 150155045 PLASTIC SHIELD RET. 78ON 10831
FORD: 389268-S-100 150159225 GLASS STOP RIVET 1/4 12658
FORD: 389360-S 150155365 FORD GROMMET 4.2 TAIL LAMP ASSBLY PL79UP 11865
FORD: 389443-S 150159018 FORD FACIA TO BUMPER81-85 12571
FORD: 390018-S 150155397 RETAINER 1/4 INCH HOLE 17664
FORD: 390428-S100 150159508 RIVET-CLOSE END FORD LUGG 17410
FORD: 45263-S101, 45263-S2 150159297 EXTRUDING NUT 1/4 10050
FORD: 45264 150159291 FORD EXT U NUT 5/16-18 10053
FORD: 45265-S2 150159302 FOLD NUT U 3/8-16 FORD/GM 10054
FORD: 45267; GM: 1494257 150159298 EXTR J NUT WID 1/4-20 PR 10051
FORD: 45332 150159122 HEX NUT SPIN WASH 1/4-20 15347
FORD: B040 68 865 A96 150155212 SCREW TYPE RIVET 89-6574
FORD: C8AZ-63442413-A, C8AZ-63642413-A, 150152007 FORD WNDW REVEALMLDCLP68UP 9882

D1AB-6542413-AB, D1AZ-6542413-B
FORD: D0AZ-62234A24-B 150152009 POWER WINDOW REGULATOR 17974
FORD: D2VZ-6521952-A 150153049 DOOR LOCK ROD RETAINER 72-3705
FORD: D2VZ-6521952-A 150153043 DOOR ROD END CLIP 14967
FORD: D7VY-6050074-A 150155116 TUBULAR BARREL NUT FOR 3/16 STUD 13966
FORD: D8BB-13M093-AA, D8BZ-13032-A, D8BZ-13032-B 150156036 HEADLAMP ADJUSTING SCREW 11869
FORD: D90Z-6522841A 150153086 FORD BSHNG 5/16-31/64-9/32 14551
FORD: E0AZ-5442487-A 150155470 WHEEL FLARE 97-7736
FORD: E2SZ-13410-A 155618065 FORD F/1157 SOCKET/WIRE A 86-6047
FORD: E4SZ-6321970-A, F1LY-6321970-A 150153113 DOOR LOCK RIGHT/LEFT 90-6731
FORD: E6DZ-5421952A, E83Z-5421952-B 150153104 2PC FOLD OVER CLIP FORD86 17122
FORD: E6DZ-5421970-A, F3LY-6321970-A 150153112 DOOR LOCK POWR RIGHT HAND 17119
FORD: E6DZ-5421971-A, F3LY-6321971-A 150153111 DOOR LOCK POWER LEFT HAND 17118
FORD: E7GZ-17A904-B 150155264 SCREW TYPE RIVET 15366
FORD: E7GZ-6120586-B 150152023 WEATHERSTRIP CLIP 18692
FORD: E7TB-13A093-AB, E7TZ-13032-A 150156066 UPPER PIVOT 16402
FORD: E83Z-16758-A, N805083-C 150157020 HOOD BUMPER KIT 16832
FORD: E92Z-17C756-C 150155252 PLASTIC RIVET SCREW 17060
FORD: E9DB-13N020AA, E9DZ-13N129-A 150156048 HDLIT COMP RET. 15940
FORD: F1CZ-16774-A 150155421 HOOD INSULATION 6MM HOLE 18458
FORD: F1TZ-7810182-A, F57Z-7810182-AAA 150155433 PANEL 9MM HOLE 19441
FORD: F22Z-16774-A 150155149 HOOD INSULATION CLIP 14709
FORD: F2SZ-14570-A 150153204 FORD DOOR PWR WND&LCK SWT 19426
FORD: F2UZ-16828-A 150157023 HOOD ROD RETAINER 91-6984
FORD: F32Z-17C756-S 150155473 BUMPER COVER RETAINER 17003
FORD: F37Z-13N129-A 150156084 HEADLAMP ADJUSTING BAR RE 18263
FORD: F3LY-14570-B 150155326 RIVET DRIVE 17222



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 6
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
FORD: F3TZ-101012-A 150155449 HL LIP MOULD RETAIN 97-7626
FORD: F4ZZ-6310182-A 150155503 FORD ROCKER PNL GRD EFF 98-7844
FORD: F57B-16241-AA 150159556 FORD MOULDING FENDER 99-8248
FORD: F57Z-16241-AB, W709767-S300 150155747 ROCKER PANL MOULDING CLIP MUSTANG 01-04 20663
FORD: F58Z-16237A02-A 150153146 WINDSTAR YEL PL DR PNL 18848
FORD: F6DZ-5410182-AA 150155691 FORD ROCKER PANEL CLIP 20358
FORD: F75Z-13N129-AA, XL3Z-13N129-AA 150153228 FORD HEADLIGHT MOUNT BRKT 19180
FORD: F7UZ-1513284-BA 150155458 STEPWELL MOULDING CLIP 19421
FORD: F85Z-1521952-BB 150153200 FORD DOOR LOCK ROD 4.8MM 19651
FORD: KA01 68 401, H260-68-401 150155222 DOOR INTERNAL TRIM CLIP 89-6586
FORD: MB455-56143; 150155387 FORD RIVET SCREW 8X18 GR3-7 PL 89-92 17632
FORD: N605771-S100, N605771-S2 150159080 HEX WSHR HEAD 6-1.0X14MM 12341
FORD: N606676-S100, N606676-S2 150159394 HEX HD SEMS DOG POINT6X20 12160
FORD: N606676-S36 150159371 FORD FENDER 6X1.0X23MM/8M 15778
FORD: N606677-S36 150159049 FORD FENDER 6X1.0X28MM/8M 12335
FORD: N606690-S2 150159446 FORD BLT IND HX HD W/DOG 15780
FORD: N620391-S36 150151099 STAMPED NUT M4 17495
FORD: N620480, N620480-S2A 150159035 FLANGE LOCKNUT M6X1.0 15316
FORD: N621903 150159442 HEX NUT W/WASHER 5MM 10WR 15326
FORD: N621905 150159367 HEX NUT W/WASHER 6.3 11WR 15328
FORD: N621940; 150159340 M8 NUT W/13 HEX 24MM WASHER OD 15335
FORD: N621942-S301 150159079 FREE SPNG WSH NUT 10X1.5 15337
FORD: N623332-S100, N623332-S2, N623332-S53, 150159365 FOLD NUT U 6MM GM/FD 5.30 12669
W520802-S426
FORD: N623333-S100, N623333-S2 150159330 FOLD NUT 8MM G.M./FORD 11629
FORD: N623334-S426 150159653 EXTRUDED U NUT 20447
FORD: N623343-S100, N623343-S2 150159331 FOLD NUT 8MM G.M./FORD 11630
FORD: N800394-S2 150159450 IND HEX HD BLT W/WSH 8X25 88-6467
FORD: N800503-S 150155059 FORD GRL ATT. NUT NYL #6 11841
FORD: N800928-S45, N801851-S45, N806345-S433, 150159466 FORD MIRROR SCR - PICKUPS 14947
N806345-S47
FORD: N801293-S36 150159567 FORD IND HX M4-.7X12 98-7781
FORD: N801706-S 150155424 GROMMET NUT 12569
FORD: N801925-S, N802900-S 150153216 CLIP DOOR TRIM PANEL 12565
FORD: N801994-S100 150153191 FORD TRM PAD CLP3/16X3/4X 19667
FORD: N802239-S 150159498 FORD FUEL LINE RET. CLIP 17643
FORD: N802241-S 150159499 FORD FUEL LINE RET. CLIP 17642
FORD: N802408-S100 150159464 HEX HEAD DOG POINT BOLT 90-6745
FORD: N802538-S100 150159566 FORD U NUT GRN PHOS #8 14526
FORD: N802781-S 150155614 DRIVE TYPE RIVET 14020
FORD: N802900-S 150153125 FORD DOOR TRIM PANEL CLIP 13470
FORD: N803043-S 150159405 BLACK NYLON RIVET 1/4 13750
FORD: N803170-S 150155585 FORD RETAIN PL FASCIA HL5 HD10 84UP 14021
FORD: N803387-S, N803387-S300 150155431 TRIM CLIP FORD 15668
FORD: N803421-S 150155146 BK PLASTIC DRIVE RIVET 6M 14019
FORD: N803494-S 150155584 SCR RIVT FASCIA/GRIL FORD 14953
FORD: N803613-S 150157033 FRD HOOD INUL RETAIN 16863
FORD: N803678-S 150155418 FRNT BUMPER FASCIA RET 20332
FORD: N803763-S100 150159651 M6-1.0 SPECIALTY INSERT WITH SEALER 20415
FORD: N803862-S 150155381 BLIND RIVET SUPER NYL 6.3X13 94UP 13751
FORD: N803933-S101, N806126-S100 150159531 CLOSE END RIVET 17408
FORD: N804189-S 150159600 PLASTIC RIVET 5MM 13747



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 7

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
FORD: N804343-S 150159601 PLASTIC RIVET 5MM 13748
FORD: N804349-S 150153097 INTERIOR TRIM RETAINER 15479
FORD: N804379-S 150155171 BLK PLS BUMPER FASCIA 15478
FORD: N804448 150159243 FORD ENG & HEAT SH.RET CLIP 14757
FORD: N804570-S 150155156 SCREW TYPE RETAINER 14753
FORD: N804583-S 150155174 BLIND RIVET 15187
FORD: N804675S 150155188 BLIND RIVET 17101
FORD: N804765-S 150152048 FORD GRMT NUT WHEEL OPENG 19277
FORD: N804837-S 150155183 SCREW TYPE RETAINER 14994
FORD: N804851-S100 150155475 FORD BLIND RIVET ALUM. 19516
FORD: N805026S 150155422 SCR RIVET PL HL7HD12.5X30GR2- 14995
FORD: N805155-S 150153109 TRIM PANEL DOOR CLIP 17124
FORD: N805231S 150155241 RIVET DRIVE TYPE 15522
FORD: N805315 150155308 HEADLINER RETAINER 17381
FORD: N805592-S100 150155592 3/16 RIVET FORD LP FRAME 17121
FORD: N806322-S 150155400 FRD RIVETSCR 6.3X18X13 18893
FORD: N806334-S 150155676 FORD NYLON NUT #8-6MMHOLE 20245
FORD: N806624-S191 150155341 TAIL LAMP RETAINER 18102
FORD: N806830-S100 150155598 BLIND RIVET 17639
FORD: N807154-S 150153206 FORD DRPNL RET GRY M7 91UP 19373
FORD: N807155-S 150157055 FORD ROOF/TRIM RETAIN-TAN 19354
FORD: N807168-S 150159559 RIVET BUMPER TAURUS 96' 19111
FORD: N807389-S 150155325 RIVET DRIVE 17216
FORD: N807535-S 150155553 FORD KICK PANEL RETAIN M7 19760
FORD: N807577-S, N808331-S 150155402 FORD RIVET SCR PL6.3X18X27 18895
FORD: N807578-S, N808332-S 150155401 FORD RIVET SCR PL6.3X18X19 18894
FORD: N807601-S417 150159562 FORD RIVET ALY/STL M6.3 97-7703
FORD: N807706-S 150153193 FORD TAIL LMP RET M9.5 19326
FORD: N807994-S 150155405 FORD MUSTNG PL GRMT HL10M 18816
FORD: N808048-S, W705532-S300 150155246 RIVET DRIVE TYPE 16726
FORD: N808147-S 150159547 PUSH RETAINER BLK NYL 14991
FORD: N808342-S307 150155723 AIR CABIN FILTER FASTENER TAURUS & SABLE 20546
FORD: N808426-S100 150155476 BLIND RIVET ALUM. 19396
FORD: N808791 150155668 FORD INT.TRIM RETAINER 20273
FORD: N808842-S 150155448 HOOD SEAL RETAINER 19338
FORD: N811169-S, W705550-S300 150155537 FORD PARK&TURN HOUS RETNR 19783
FORD: N811257-S100, N811257-S309 150159655 M5-8 SPECIALTY INSERY WITH SEALER 20421
FORD: N811460-S100 150159546 FORD BUMP RIVET ALU/ALU 19419
FORD: N811534-S61 150159052 HEX HEAD M 4.2 X30MM 19653
FORD: N811849-S300 150155544 COWL RETAIN 52X14 19517
FORD: NAO1-56145; KIA : MNA01-56145 150159598 FENDER RIVET 16858
FORD: W525170-S417 150154004 FORD PEEL RVT 3/16 FLG 1/2 19414
FORD: W700615-S300 150155485 FORD RIVET SCREW PL M6 98-7785
FORD: W700636-S303 150159664 FORD RIVET W/ CAP 20398
FORD: W700671-S300 150157031 HOOD INSULATION RETAINER 20319
FORD: W701054-S300 150155396 BK PLASTIC DRIVE RIVET 8M 18503
FORD: W701374-S 150155692 FORD ESCAPE HOOD RETAINER 20399
FORD: W701380-SSW 150155394 TRUNK LINER RETAINER 18379
FORD: W701649-S, W704881-S300 150155491 FRD COWL RETAINER PH REC. 19237
FORD: W701855-S300 150157080 FENDER LINER/ MUD FLAP RETAINER 20366



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 8
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
FORD: W704958-S300 150153211 LINCOLN LW DR TRM PNL M9 19511
FORD: W705849-S300 150155690 FORD FRONT END CLIP 20355
FORD: W70595-S300 150155441 FRT BMP RET M7 17.5X37 96-7588
FORD: W706172-S309, W708384-S309 150159657 M6X1.0 SPECIALTY INSERT WITH SEALER 20401
FORD: W706182-S300 150155715 FORD HEADLIGHT & DECK LID RETAINER 20516
FORD: W706494-S300 150156117 BUMPER PUSH RETAINER FORD 2000 19849
FORD: W706713-S300 150155696 FORD BUMPER COVER RETAINER 20367
FORD: W707606-S300 150155753 SCREW GROMMET REAR BUMPER COVER 20517
FORD: W708621-S300 150153220 TRIM PANEL CLIP FORD TAURUS/SABLE 2000 20190
FORD: W709002-SAA 150157084 FENDER FLARE RTNR EXPEDITION & NAVIGATR 20624
FORD: XL3Z-17E971-AA 150155556 DRIVE RIVET 10.5X12.5 19607
FORD: XW7Z-6302354-AAB 150157082 HEADLINR RETNR EXPDITION NAVIGATR '03-04 20625
FORD: YF4Z-8194-AA 150155699 FORD RADIATOR GRILL CLIP 20400
FORD: YL3Z-1521971-AA 150153221 FORD DOOR LOCK CLIP-LEFT 20195
FORD: YS4Z-16K262-AA 150155671 FORD PUSH RETAINER 20191
GM: 10009923 150155097 8MM PUSHNUT 12259
GM: 10051034, 12338011, 20123070, 20328600 150152015 FRONT & REAR DOOR WINDOW GUIDE 15467
GM: 10053182 150155185 SCREW TYPE RIVET PLASTIC 14997
GM: 10053388, 22542705 150155542 GM DRIVE RIVET FRT 10X25 PR3.5-7 98UP 15045
GM: 10073833, 15600382, 20421800 150153078 DOOR FASTENER NYLON 12992
GM: 10087223 150152024 FRNT DOOR WINDW GUIDE 87-6293
GM: 10089262 150155023 SCREW TYPE RETAINER 14987
GM: 10098645 150155526 BMPR CVR RET 5X13 18682
GM: 10108746 150155342 RIVET DRIVE TYPE 16625
GM: 10109689, 12337915 150155226 NYLON BLIND RIVET 15490
GM: 10119816 150155271 COWL SCREEN RETAINER 18859
GM: 10120517, 10155743 150159476 PHIL SCREW W/WASHER4.2X15 90-6819
GM: 10120608 150159472 BLIND RIVET WITH FLANGE 18929
GM: 10121502 150155397 RETAINER 1/4 INCH HOLE 17664
GM: 10134407 150155354 RIVET DRIVE CLIP 18030
GM: 10139822, 25680782 150159547 PUSH RETAINER BLK NYL 14991
GM: 10140336, N808552-S 150155419 GM PUSH IN TYPE RETAINER 96-7504
GM: 10140480 150155229 RIVET SCREW WITH SHOULDER 16835
GM: 10146315 150155441 GM FRT BMP RET M7 17.5X37 96-7588
GM: 10153057 150153115 DOOR TRIM CLIP 16695
GM: 10157900, 11517803, 15993201 150155261 RIVET DRIVE TYPE 16622
GM: 1016937, 11503957, 11518121, 12337917 150159365 FOLD NUT U 6MM GM/FD 5.30 12669
GM: 10182300 150155418 GM FRNT BUMPER FASCIA RET 20332
GM: 10184895, 20452072 150155381 BLIND RIVET SUPER NYL 6.3X13 94UP 13751
GM: 10185925 150155417 GM BLK PLS BUMBER CLIP 18301
GM: 10195515 150155422 SCR RIVET PL HL7HD12.5X30GR2- 14995
GM: 10207146, 21077323 150155327 RIVET DRIVE 17226
GM: 10242285, 10297369, 10308019 150159667 GM ROCKER PANEL MOULD RET. W/ SEALER 20521
GM: 10242602 150155748 WHEEL OPENING MOULD CLIP GREEN NYLON 20617
GM: 10246149, 22657634 150155554 GM SCRW RIVET M5X11 19788
GM: 10249241 150157057 GM TRIM PANEL RETAIN-TAN 19501
GM: 10271128 150157042 HOOD PROP ROD CLIP 97-7639
GM: 10271562 150155471 GM LIFTGATE SCUFF PLATE 19523
GM: 10281487 150159659 M6X1.0 SPECIALTY INSERT 20395
GM: 10281610 150155472 COWL VENT RETAINER 19530



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 9

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
GM: 10283414, 10405030 150152062 GM WTHRSTRP CLP FR/RRDR97 19368
GM: 10285935 150153169 DOOR PAN GM U,W&Y '97 19270
GM: 10287971 150153168 DOOR PANEL GM U & W '97 19275
GM: 10301966, 10425306 150155698 COWL VENT RETAINER 20365
GM: 10308063 150159668 GM ROCKER PANEL MOULD. RET. 20520
GM: 10323057 150155720 ROCKER MOULDING CLIP GRAND PRIX 20607
GM: 10363811, 22722859 150155736 DOOR PANEL RETAINER ALERO & GRAND AM '04 20634
GM: 10408480 150157059 GM TRIM PANEL RETAINER 19527
GM: 10421018 150153553 GM DOOR PANEL REATAINER WHITE 20338
GM: 10423553 150159669 GM SIDE, ROCKER, FENDER CLIP 20481
GM: 10431761 150156116 ROCKER PANEL MOULDING CLIP CHEVY 2000 19821
GM: 10437565 150156113 ROCKER PANEL MOULDING CLIP CHEVY 2000 19800
GM: 10443956 150155707 ROCKER PANEL MOULDING CLIP 20328
GM: 10443956, 11518357 150155706 ROCKER PANEL MOULDING CLIP 20377
GM: 11500657, 11504693 150159357 EXTRUDING NUT 5M 11626
GM: 11500659 150159376 LONG THROAT EXT NUT6.3MM 78-4968
GM: 11500660, 11502617 150159330 FOLD NUT 8MM G.M./FORD 11629
GM: 11500661, 11503317, 11516150, 12337966 150159331 FOLD NUT 8MM G.M./FORD 11630
GM: 11500662, 22531616 150159332 FOLD NUT 10X1.5 GM 11631
GM: 11500747, 11501106, 30066200 150159349 HEX NUT W/WASHER 6.3 11WR 11642
GM: 11500971 150159620 HX HD S-TAP SC 8X1.25X35 12348
GM: 11500994, 11509371 150159042 #14X5/8 HEX SEMS W/WASHER 12057
GM: 11501105 150159377 GM BODY BLT HX SEMS PHOS 11633
GM: 11501188, 11504567, 11508269, 11515757 150159337 IND W/LOOSE WSR8-1.25X30 13614
GM: 11501193 150159359 IND W/LOOSE WSR10-1.5X40 11641
GM: 11501794 150159147 POSIDRIVE SCR-CHR4.2X12MM 12739
GM: 11501800 150159516 NUT W/WSH M8 13WR 15334
GM: 11501814, 21011332 150159280 WSHR LOCK NUT ZN WR10MM 12254
GM: 11501836 150159355 STAMP NUT 6.3M 12255
GM: 11501883 150159150 SF-TAP PHI WASH HD 4.2X13 12059
GM: 11501889, 11502609, 11507036, 11514518, 11514596 150159373 HX FLNGE NUT PHOS M8-1.25 11644
GM: 11501903 150159149 SLF-TP PHI WASH HD 4.2X10 12062
GM: 11502546 150159482 STAMPED NUT 6.3MM 90-6851
GM: 11502556 150159555 GM THR CUT NUT M3.2X8 12251
GM: 11502605, 11502624, 11509511, 11514343 150159372 GM BODY BLT HX WASH HD 11639
GM: 11502737 150159353 PUSHNUT BLT RETAIN ZN 12127
GM: 11502759 150159618 PUSH NUT 10X1.5 BLK 12126
GM: 11502790 150159343 IND HEX W/LOOSE WSH6.3X25 11935
GM: 11502941, 11506174 150159409 HX HD/CONICAL WASH/6X20MM 12693
GM: 11503395, 11509374 150159059 4.2X16 HX SCR W/SPIN12WAS 12741
GM: 11503412 150159447 SLF-TAP6.3X20HEX HD W/WSH 88-6419
GM: 11503499 150159481 PHILLIP PAN W/WSH 4.2X15 90-6845
GM: 11503578, 11503785 150159455 GM IND HX SLF DRILL FREE 18261
GM: 11503619 150159345 8MM BODY BOLT 13613
GM: 11503632 150159338 IND W/FIXED WSR8-1.25X25 12336
GM: 11503695, 11506117, 11516780 150159340 M8 NUT W/13 HEX 24MM WASHER OD 15335
GM: 11503715, 11508241, 11515478 150159370 GM METRIC U NUT 6MM 12575
GM: 11503736, 14093869 150159449 PUSH NUT 6M 14980
GM: 11503754, 11503756, 11505005, 11517293 150159396 HEX NUT W/WASHER 6MM 11WR 12596
GM: 11503792 150159091 BODY BLT WSH HD BLK M6 12345



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 10
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
GM: 11503800, 11517517 150159056 HX HD S-TAP SC 6X1.0X20MM 12324
GM: 11503825, 11505209 150159063 HEX HEAD BOLT6X30MM 13618
GM: 11503834, 11517343, 20351035 150159594 HEX HD W/WASHER 6X1.0X25 12065
GM: 11503982 150159040 BODY BLT HX HD SEMS PHOS M6-1.0X25 12066
GM: 11504010 150159077 IND HEX HD SEMS 4.2X13 15721
GM: 11504056, 11513801 150159146 HEX HD SCREW/WSH 4.2X20 12738
GM: 11504493 150159379 IND HEX W/LOOSE WSH6X25MM 12323
GM: 11504565, 11516942, 11517706 150159148 GM BDY BLT HX HD SEMSr PHOS M10-1.5X30 13619
GM: 11504570, 11509816, 11514623 150159390 HEX HEAD WITH WASHER 6X22 12067
GM: 11504982 150159005 GM BODY BLT HX WASH HD 12343
GM: 11505044 150159420 GM IND HX HD W/START WASH 18416
GM: 11505104 150159043 SLF-TAP PHIL WSH HD BLK#8 13712
GM: 11505816 150159431 BLK IND SCR W/WSR 5X20MM 87-6201
GM: 11508322 150159494 IND HEX W/DOG POINT 6X20 91-6940
GM: 11508930 150159463 INDENT HEX WITH WSH 6X16 15791
GM: 11509030 150155745 DOOR PANEL RETAINER MALIBU 2004 20664
GM: 11509319 150159470 POZI DRILL OVAL 4.2X12 90-6789
GM: 11509627, 115313599 150159576 GM EXTR U NUT BLK 98-7888
GM: 11513923 150159534 TORX OVAL TRIM SCR 4.2X20 95-7362
GM: 11514332 150159484 IND HEX W/WAHSER 6.3X16 90-6855
GM: 11517992 150157081 FENDER LINER RETAINER BONNEVILLE '00-'04 20615
GM: 11519031 150153556 DOOR PANEL RETAINER W/SEALER HUMMER H2 20616
GM: 11519952 150159656 M6X1.0 SPECIALTY INSERT GRIP 20422
GM: 11519960 150159660 M8X1.25 SPECIALTY INSERT 20423
GM: 11588988 150155719 PUSH RETAINER FRONT BUMPER COVER GP 20631
GM: 1196781 150159288 LICENSE PLATE NUT 3682
GM: 12015631 150155535 GM WIRE HARNESS CONVL 6.3 19795
GM: 12015983 150160012 CONVOLUTED WIRING HARNESS 16941
GM: 12040984 150155536 GM WIRE HARNESS CONVL 6.3 19440
GM: 12046623, 12101899, PT169 155638003 GM COOLANT TEMPERATUR SENSOR 89-6625
GM: 12337920, 20374473 150153070 GM DOOR PANEL CLIP 82-85 12737
GM: 12338015, 14066728 150153227 GM DOOR HINGE PIN 4-5/32L 17437
GM: 12338074, 15691493, 15964971, 16632193 150153122 DOOR HINGE BUSHING 16936
GM: 12338153, 20184399 150159225 GLASS STOP RIVET 1/4 12658
GM: 1254815 150155052 SCREW GROMMET #6 THRD 11838
GM: 1255823 150155365 GROMMET 4.2 TAIL LAMP ASSBLY PL79UP 11865
GM: 1370853 150156020 GM HEADLAMP BEZEL NUT 64-76 12735
GM: 14003784 150159419 GM BMPR BOLT SS CAP 16986
GM: 14003786 150155069 REAR BUMPER END CAP RET. 79-5026
GM: 14013246 150156038 ADJUSTING BEZEL NUT 13960
GM: 14019205, 20452072 150155117 GM FRT FEND. SKIRT 1981ON 12567
GM: 14019205, 20590899, 20664092, 22538004 150155156 SCREW TYPE RETAINER 14753
GM: 14019226, 14071289 150159429 BLACK NYLON FASTENER 14011
GM: 14032291 150159398 W/R CLIP #8 14009
GM: 14037239, 15545178 150153158 GM TLGATE RODCLP3/32X3/16 18926
GM: 14045480 150155613 RET. FRONT FACIA ATTACHED 14010
GM: 14063981, 22638717 150159405 BLACK NYLON RIVET 1/4 13750
GM: 14074081 150159226 GM REAR HOOD SEL RET BLK 14036
GM: 14093088 150155614 DRIVE TYPE RIVET 14020
GM: 14103461 150154125 DRIVE TYPE RIVET 15043



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 11

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
GM: 1494254, 12337873 150159302 FOLD NUT U 3/8-16 FORD/GM 10054
GM: 1494258, 10008002 150159296 EXTRUDING NUT 5/16 8814
GM: 15002520, 15682898, 15709521 150155385 GM S-10 TRUCKS RADIATOR GRILLE CLIP 94UP 18262
GM: 15015804, 22643056, 88891791 150159548 WINDOW REGULATOR UNIT 18889
GM: 15022087 150156092 GM BLIND RIVET STEEL 19395
GM: 15046306 150155721 ROCKER PANEL FASTENER GM S & T TRUCKS 20619
GM: 15056810 150155693 GM BUMPER RETAINER 20362
GM: 15076791 150153550 TRIM PANEL RETAINER 20444
GM: 15149708 150156108 RADIATOR WHEEL HOUSE FENDER PUSH RETAIN 19639
GM: 15153415 150155520 GM DRIVE RIVET REAR BUMP 19615
GM: 15545202 150153107 DOOR TRIM PANEL CLIP 15670
GM: 15545202, 15607165, 15612948, 15953247 150153133 RADIATOR GRILL-GM 15970
GM: 15562609, 15964972, 16632192 150153123 DOOR HINGE BUSHING 16937
GM: 15562610 150153127 DOOR HINGE PIN RETAINER 17976
GM: 15591860, 15685040, 15691595, 15967691, 88891731 150153124 GM DOOR HINGE PIN 5-1/4 19424
GM: 15596280 150155191 GROMMET NUT 14037
GM: 15622490 150155356 RIVET-BLIND SEALING CHRYS 17615
GM: 15638413, 15963179 150153147 GM DOOR TRIM PNL CLIP BLK 16938
GM: 15672328 150155349 GM RAD GRILLE RETAIN5/16X3/4X1-2/16 91UP 17599
GM: 15672330, 15956470 150155024 PUSH TYPE RETAINER 410HLE 14998
GM: 15678493, 21039141 150157027 HOOD INSULATION RETAINER 17215
GM: 15685073 150153144 DR LCK ROD CLP RH/LH 95-7467
GM: 15685099 150159651 M6-1.0 SPECIALTY INSERT WITH SEALER 20415
GM: 15686142 150155280 FRONT BUMPER RETAINER 18153
GM: 15707256 150159571 GM EXTR NUT SNAP IN 19317
GM: 15732202 150155348 RIVET-BLIND W/SHOULD CHRY 18028
GM: 15733970 150159636 GM C&K TRUCKS FRONT AIR GROMMET 19614
GM: 15733971 150159637 GM C&K TRUCKS FRONT AIR RETAINER 19613
GM: 15745990 150155760 REAR LIGHT HOUSING LOWER GROMMET 20527
GM: 15745991 150155761 REAR LIGHT HOUSING UPPER GROMMET 20529
GM: 15748479 150155679 GM GARNISH MOULDG FASTENR 20268
GM: 15953247 150153143 GM TRUCK TRIM PANEL RET 17649
GM: 15959832 150155383 GM DRIVE RIVET 10X25 12X2.0X41 PL 94UP 18268
GM: 15959833 150155384 GM DRIVE RIVET 10X25 12X2.0X45 PL 94UP 18334
GM: 15960325 150153140 DOOR TRIM PANEL RET 18353
GM: 15960621 150155506 GM DRIVE RIVET PL 19355
GM: 15969147, 21030249 150155325 RIVET DRIVE 17216
GM: 15986673 150153194 GM DR PNL RET M7 18X28 19356
GM: 15990498 150159654 SPECIALTY INSERT WITH SEALER 20451
GM: 1605396, 15958694 150155051 PAD SHLD CLIP 11146
GM: 1619321 150155575 CLIP VINYL SHIELD RADIATO 12137
GM: 1623436 150159425 JACKNUT M5 12998
GM: 1631564 150155171 GM BLK PLS BUMPER FASCIA 15478
GM: 1635218, 14007940 150159426 JACKNUT M6 12999
GM: 1636632, 20687704 150155456 GM DRV RVT REAR FASC M6 16624
GM: 1644290 150153161 GM RET SPKR CLP5.9X11X19 18948
GM: 16500308 150153080 RETAINER CLIP GM 14016
GM: 16503329 150159125 GM CLIP BLCK NYLON #6 14002
GM: 16506617 150156094 GM PIVOT SCKT HDLMP ADJ 19549
GM: 16629990, 16675980 150153212 DOOR LOCK CLIP 5/32” ROD 19658



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 12
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
GM: 16662182 150155490 GM GARNISH MOULDING CLIP 19519
GM: 20032850 150155054 STONE SHIELD CLIP 11679
GM: 20043351, 20043361 150156101 GM DOOR HINGE PIN PHOS 4 LONG 19183
GM: 20095324 150155379 DRIVE RIVET FRT WHL WELL 5X9 94UP 94-7255
GM: 20097200 150155424 GROMMET NUT 12569
GM: 20130258 150159284 GM WELL NUT M6-1.0 13003
GM: 20160591 150152016 FRONT DOOR WINDOW GUIDE 15466
GM: 20180200 150151106 RIVET WITH SHOULDER 92-7069
GM: 20200750 150152046 GM WEATHER STRIP HOOD CLP 18510
GM: 20227160 150155528 GM INT TRIM RET 1/4X23/32 98-7887
GM: 20319841 150153071 SEAT BACK RETAINER 12731
GM: 20325696 150151120 BLIND RIVET 1/8 12656
GM: 20413107, 25016383 150155610 COWL RETAINER 11612
GM: 20423647 150159600 PLASTIC RIVET 5MM 13747
GM: 20426301 150155029 TOY SCREW RETAINER 14260
GM: 20429500 150153083 GM BUSHING 5/16-1/2-23/64 14553
GM: 20432975 150159601 PLASTIC RIVET 5MM 13748
GM: 20451401 150153217 GM TRIM PANEL RETAINER 13461
GM: 20455900 150155153 PUSH TYPE RETAINER 14006
GM: 20510029 150155582 DRIVE TYPE RIVET 13993
GM: 20511451 150155140 COWL VENT RETAINER 13454
GM: 20514862 150155583 GM RETAINER CLIP 15367
GM: 20570245, 20635065 150155154 GM SPARE TIRE RET HD1HL5 13994
GM: 20582532 150153094 DOOR LOCK ROD RIGHT END 18392
GM: 20582533 150153095 DOOR LOCK ROD 18393
GM: 2064891, 9818648, 9883583, 15600382 150155607 PANEL FASTENER 10621
GM: 20664092, 22538004 150155591 GM RADIATOR GRILL RIVET 14993
GM: 20699808 150152027 DOOR WEATHERSTRIP RETAINR 14921
GM: 20734005 150153117 DOOR TRIM CLIP 17092
GM: 21039129 150157028 HOOD INSULATION RETAINER 17975
GM: 21047094, 21110145 150155411 GM BLK PLS DRIVE TYPE RIV 16816
GM: 21075686 150155326 RIVET DRIVE 17222
GM: 21077123 150155323 RIVET DOOR COWL 19801
GM: 21077131 150155412 SATURN BLK PLS FRNT FASCI 17616
GM: 21077405 150155339 RIVET DRIVE 17227
GM: 21093072 150159523 BLIND RIVET 17637
GM: 21094146 150155399 TRIM PANEL RETAINER 16818
GM: 21094747 150155328 BLIND RIVET 17220
GM: 21095797 150155413 SATURN BLK PLS DRIVE RET 18896
GM: 22093245 150153130 GM BLD RVT DR LCK ACTUATOR 90UP 17177
GM: 22512276 150155087 GM STONE SHIELD 82 ON 12766
GM: 22520368 150159283 WELL NUT M5-0.8 GM#22520368 LUGGAGE RACK 16239
GM: 22535007 150155196 DRIVE TYPE RIVET 15044
GM: 22536642 150155420 GM BLK PUSH IN TYPE RET 18298
GM: 22569178, 22579423 150152059 3/16” DIA RIVET 18927
GM: 22578214 150159524 BLIND RIVET 94-7240
GM: 22585836, 22641917 150159549 GM RIVET STL/ALU 18912
GM: 22587036 150154127 DRIVE BUMPER RIVET GM 18310
GM: 22600612, 22651066 150153163 DOOR TRIM CLIP 18930
GM: 22603384 150155710 ROCKER PANEL MOULDING CLIP 19820



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 13

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
GM: 22615352 150155550 PONT FRNT BUMP FASC CLIP 19732
GM: 22642007 150159033 GM FENDR BRKT RET NUT #8 19264
GM: 22642756 150155678 GM TRUNK TRIM RETAINER 20262
GM: 22657634 150156112 FENDER AND ROCKER PANEL PUSH RETAINER 19787
GM: 22659122 150155455 GM MALIBU DRV RVT M9 97-7687
GM: 22677979, 22677980 150155744 DOOR TRIM RETNR GRAY NYLON MALIBU 2004 20666
GM: 22722860 150155737 TRIM PANEL GRMMT W/SEALR ALERO &GRAND AM 20635
GM: 25500454 150155083 ROCKER PANEL CLIP 18210
GM: 25501771 150156037 GM HEADLIGHT PANEL RETAIN 12136
GM: 25512804 150159500 INDENT HEX WITH WSH4.2X16 91-6969
GM: 25601491 150153162 GM DR RAD TRM8X19X24 92UP 18174
GM: 25603960 150155447 GM RAD BAFFLE RET BLK 18389
GM: 25618730 150155592 3/16 RIVET FORD LP FRAME 17121
GM: 25647358 150155718 SCREW GROMMET DOOR MOULDING CADILLAC 20584
GM: 25704141, 25762391 150157066 TRIM PAN RET W/SEAL PONT 19758
GM: 25707329 150155675 GM PUSH RETAINER 20244
GM: 30012018 150155586 SCREW TYPE RIVET 14696
GM: 3065575 150153052 DOOR TRIM PANEL CLIP G.M. 11796
GM: 3078511, 3977775 150157004 HOOD INSULATION CUP GM 11130
GM: 332364 150155045 PLASTIC SHIELD RET. 78ON 10831
GM: 343555 150156017 HEADLAMP ADJUSTING SCREW 11243
GM: 3540146, 3548011, 3548690 150159525 BLIND RIVET 17640
GM: 3540858 150155548 GM DRIVE RIVET M6.3 FLG19 18308
GM: 3543865 150155504 BMPR CLIP 19369
GM: 3548804 150155450 BUMPER COVER FRONT & REAR 18685
GM: 363137, 9685057, 20451401 150153037 TRIM PANEL RETAINER 16017
GM: 3744999 150159270 GM UNI MLDNG FASTNR 2752
GM: 3783006 150159088 PLASTIC ANCHOR #10 SCR 5228
GM: 380370 150159090 REAR LICENSE PLATE NUT 8418
GM: 380382 150159315 GM LICENSE PLATE NUT 9829
GM: 3893980 150159294 GM PANEL NUT #8 SCRW SIZE 10330
GM: 3907444, 4755299 150159292 LICENSE PLATE NUT G.M. 11719
GM: 3919773, 22649878, 22649879 150156021 HEADLAMP BEZEL NUT G.M. 11691
GM: 3921446 150156011 ADJUSTING NUT 9851
GM: 3986997, 14011722 150159333 HEX WSHR BLT CONE3/8-16X1 11109
GM: 3998009, 9711304 150153012 REMOTE CONTROL ROD DOOR 15759
GM: 411700 150155046 GM TRIM PANEL RETAINER 11721
GM: 4234830, 12337868 150153046 GM DOOR LOCK CLIP 15518
GM: 4234830, 12337868 150153048 ANTI RATTLE CLIP 15518
GM: 4689929, 4778814 150159273 GM UNI MLDNG FASTNER 2744
GM: 4689929, 4778814 150159273 GM UNI MLDNG FASTNER 2744
GM: 472434 150155058 DRIVE TYPE NUT 11699
GM: 472450, 12338034 150157013 HOOD BUMPER 15453
GM: 480534, 6270163 150155044 REAR BUMPER RETAINER 10832
GM: 4876498 150153000 DOOR OPENING FASTENER 10744
GM: 490067 150159007 GM BUMP BLT ZN UNCAP HD 11770
GM: 556539 150156028 HEADLAMP ADJUSTING SCREW 11667
GM: 557057, 22512857, 22513813 150156041 GM HDLMP ADJ ASSY SLTD 12605
GM: 557057, 559312 150156030 HEADLAMP ADJUSTING SCREW 11655
GM: 588546 150159285 GM TAP SCR CHRM PH WASH 15037



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 14
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
GM: 5973400 150155088 GM FASCIA CLIP 12757
GM: 5973996 150155090 DRIVE TYPE RIVET 12756
GM: 5973996, 10077283, 14103438 150155195 GM BMP FASCIA RET 1/4 15042
GM: 6271989, 20046147 150153081 REPLACEMENT DOOR HINGE PN 14559
GM: 796255 150153131 DOOR PANEL RETAIN-GM/JEEP 11349
GM: 8717859, 9854717 150151009 GM WINDOW REV MLD CLP70UP 10243
GM: 8731909 150152011 GM DOOR WTHRSTRP CLP BLK 11120
GM: 8732474 150155372 BLACK PLASTIC RETAINER 94-7223
GM: 88969790 150153558 FENDER FLARE RETAINER VIBE & ECHO 20576
GM: 88970345 150155735 GARNISH MLDNG RETAINER VIBE 20559
GM: 88970494 150155725 PANEL RETAINER VIBE '03-'04 20577
GM: 88970495 150155726 ROCKER MOULDING RETAINER VIBE 20578
GM: 8911472 150160010 WIRE LOOM ROUTING CLP 1/2 14546
GM: 8911473 150160008 CONVOLUTED WIRING HARNESS 14544
GM: 8911497 150160000 CONVOLUTED WIRING HARNESS 14545
GM: 8917320 150160011 CONVOLUTED WIRING HARNESS 14547
GM: 90058568 150155351 GM INSUL RETAIN HD20MM HL8MM GR7-15 PL 93-7133
GM: 94051993 150155581 COWEL PANEL CLIP 16859
GM: 94198687 150155408 SCREW TYPE RIVET 14697
GM: 94218027 150156047 CLIP GRILLE/HEADLAMP PLAS 17195
GM: 94221150 150159416 PUSH RETAIN NYL 5X14 14X22 9X7 14727
GM: 94226492 150155611 GM NOVA TRIM PANEL CLIP 85UP 14269
GM: 9424837, 15650655 150159241 GM U NUT PHOS #8 PR.025-.150 HL 3/8 9880
GM: 9431647, 22529733 150159113 U NUT PHOS 1/4-20 2293
GM: 9432137, 20477732 150159558 RIV TRUNK LOCK COVER CHRY 16687
GM: 9432552 150159527 BLIND RIVET 1/8 16686
GM: 9433043, 11500658 150159329 FOLD NUT 6.0M G.M. 11628
GM: 9433155, 9440178, 11504531 150159240 U NUT #8 9879
GM: 9433185 150159528 BLIND RIVET 17653
GM: 9433489 150159325 BUMPER BOLT 11614
GM: 9434229 150155534 GM BLIND RIVT ALU/ALU 18732
GM: 9439719 150153034 3/16 STEEL RIVET (BLACK) 12657
GM: 9442361, 25609048 150159526 BLIND RIVET 17641
GM: 94841226; 150155122 NYLON U-NUT BLK #10 14750
GM: 94847334, 96057847 150155276 DRIVE TYPE RIVET 17383
GM: 94848834 150153026 RETAINR W/SEALER INTO 8MM 15695
GM: 94852368 150159563 SCR RIVET BUMP CVR 19140
GM: 95008221 150153188 DOOR TRM PNL M9X17 19129
GM: 96057846 150155275 DRIVE TYPE RIVET 17162
GM: 96061699 150155039 HOOD WEATHERSTRIP 14367
GM: 96064506 150155461 SCR RVT FNDR M7 FLG20 19128
GM: 9616231 150155609 WHEEL HOUSING MLDING #8-16 72-3572
GM: 9669486 150153010 NYLON NUT SIDE MARKER LT 11855
GM: 9685057 150153047 DOOR TRIM PANEL RETAINER 11678
GM: 9716926, 20345137 150153084 GM THICK BUSHING 5/16-1/2-23/64 14549
GM: 9796223 150159336 FENDER BOLT 5/16X1 10714
GM: 9815325, 16607593 150153043 DOOR ROD END CLIP 14967
GM: 9822198 150153064 GM BUSHING 3/8-1/2-15/32 14548
GM: OLDS 22524346 150155370 RADIATOR RETAINING CLIP 94-7220
GM: OLDS 24512415 150155361 GM RAD GRILLE FILLER PANEL 10X20 88-92 93-7193



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 15

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
HONDA : 66435-648-000, 66435-648-0000 150155035 HONDA RETAINING CLIP 14291
HONDA : 71144-SR3-A00 150159098 BUMPER GROMMET 18415
HONDA : 71592-S5D-000 150155739 BUMPR RETNR W/SEALER HONDA '01-'04 20603
HONDA : 74842-659-003, 74842-659-0030 150153024 HONDA RETAINING CLIP 16779
HONDA : 75521-611-000, 75521-611-0000 150155576 GROMMET NUT 14274
HONDA : 90106-SW3-003 150155541 HONDA REAR BUMP GROM 19650
HONDA : 90107-S10-003 150155629 HONDA SCREW GROMMET 19533
HONDA : 90107-SX0-003 150155645 HONDA BUMP GROM #10 SCREW 19734
HONDA : 90108-SW3-003, 90109-SW3-003, 150155538 HONDA REAR BMPR RETAIN 19470
90418-SW3-003
HONDA : 90114-SE0-000 150159640 #10X3/4 TRUSS HD SEMS BLK 20259
HONDA : 90505-SM4-003 150155593 RIVET SCREW TYPE SILL PL. 17057
HONDA : 90601-SH3-014 150155231 CLIP DOOR BELT MLDG PLAST 17442
HONDA : 90602-S7S-003 150155742 COWL VENT RETAINER ACCORD '03-'04 20611
HONDA : 90651-SL9-013, 90651-SL9-0130 150155620 HONDA BUMPER FASCIA GROM 19454
HONDA : 90652-SB2-023 150157018 HONDA WASHERHOSE RETAINER 16949
HONDA : 90655-SA0-003, 90655-SA0-0030 150155020 HONDA CLIP NYLON #6 9.5X9.5MM HOLE6X6MM 14288
HONDA : 90656-671-6310M1 150155038 #14 SCREW ANCHOR NYLON 14287
HONDA : 90657-SA6-003, 90657-SA6-0030 150155408 IMPORT SCREW TYPE RIVET 14697
HONDA : 90661-SC7-003, 90661-SC7-0030, 150155608 GENERAL PURPOSE CLIP 14695
90684-SA5-003
HONDA : 90662-671-003, 90662-671-0030 150155120 GROMMET NUT 14313
HONDA : 90662-693-003, 90662-693-0030, 150155135 GROMMET NUT 14281
90662-693-0031
HONDA : 90664-671-003, 90664-671-0030, 150152018 WEATHERSTRIP CLIP 14328
91530-SE0-003
HONDA : 90666-SA0-003, 90666-SA0-0030 150153017 RETAINER CLIP HONDA 14289
HONDA : 90667-671-013ZA 150155687 TRIM PANEL CLIP 20381
HONDA : 90667-S0D-003ZC 150155689 HONDA TRUNK PAD RETAINER GRAY 20334
HONDA : 90667-SA7-003, 90667-SA7-0030 150153039 TRIM PNEL RETAIR INTO 6MM 16775
HONDA : 90668-SB0-003, 90688-SB0-003 150155173 HONDA SCREW RETAINER 14698
HONDA : 90669-SP0-003ZA 150155649 HONDA TRUNK TRIM RET 98ON 19744
HONDA : 90670-SG0-003, 91626-SH3-003 150153208 DOOR PANEL SCREW GROMMET #8 19741
HONDA : 90671-SB3-003YF, 90671-SX3-003YF 150155638 HONDA HEADLINER RETAINER 19674
HONDA : 90672-671-003 150155245 COWL GRILLE CLIP 18157
HONDA : 90672-SA0-003, 90672-SA0-0030 150155008 HONDA CABLE STRAP 140MM DIA 30MM 14298
HONDA : 90675-SB3-003 150155180 SCREW RETAIN CLIP-HONDA 16000
HONDA : 90676-SA7-003, 90682-SB0-003 150155368 HONDA GROMMET NUT GRILLE 5X8 PL 84UP 17058
HONDA : 90677-671-003 150155134 HOOD PROP ROD CLIP HONDA 14687
HONDA : 90684-SA5-0030 150155586 SCREW TYPE RIVET 14696
HONDA : 90687-SA5-003, 90687-SA5-0030 150155590 COWL TOP CLIP 14282
HONDA : 90687-SB0-003, 90687-SB0-013 150155172 HONDA COWL RETAINER 17287
HONDA : 90700-SB2-003 150155189 HOOD INSULATION CLIP 15998
HONDA : 91501-S04-003 150155463 PSH TYPE RETAINR INTO 8MM 19118
HONDA : 91501-S1K-003 150155741 HOOD INSL RETNR ACURA HONDA 2004-2000 20609
HONDA : 91501-S5A-003, 91501-S5D-A01 150155703 HONDA DOOR MOULDING CLIP 20340
HONDA : 91501-SM4-003 150155299 HONDA COWL CLIP 17205
HONDA : 91502-SM4-000 150155603 HONDA BUMPER FASCIA RIVET 17143
HONDA : 91502-SP0-003 150159520 RIVET TYPE SCREW 18119
HONDA : 91503-SZ5-003 150155512 HONDA DRIVE RIVET F&R 20564
HONDA : 91504-SM4-000 150155269 HONDA BUMPER FASCIA RIVET 17144



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 16
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
HONDA : 91508-SM4-003 150155320 COWL GRILLE REATAINER 17192
HONDA : 91508-SR3-000 150155427 RET M7 COWL GRILLE 18165
HONDA : 91510-SR3-003 150153156 BELT MOULDING CLIP CIVIC 17981
HONDA : 91512-SM4-003 150155596 RIVET SCREW TYPE - HONDA 17379
HONDA : 91512-SR3-004 150159665 HONDA EMBLEM NUT W/ SEALER 20472
HONDA : 91513-SM4-000 150155317 ROCKER PANEL RETAINER 17096
HONDA : 91516-SM4-013, 91530-ST5-003 150152053 HONDA WTHRSTRP FRT & RR DOOR CLP 19116
HONDA : 91518-S10-003 150155640 HONDA HOOD SEAL RET BLK 19682
HONDA : 91518-SM4-003 150155464 HOOD SL RET 9X12X9 19114
HONDA : 91520-SM4-C01, 91520-SM4-C010 150153165 ACURA HOOD WEATHER CLP 18114
HONDA : 91524-SE0-003 150155255 SCREW TYPE RIVET 17081
HONDA : 91527-SM4-003, 91527-SZ3-003, 91561-S84-A01 150155307 BELT CLIP 19415
HONDA : 91530-SP1-003 150152052 WTHRSTRP RET 5X15 18877
HONDA : 91531-ST0-003 150155509 HONDA BELT MLD CLIP GRN 19359
HONDA : 91534-SE0-000, 91534-SE0-003 150155203 BODY SIDE CLIP 17443
HONDA : 91545-SE0-003, 91545-SE0-003-W1 150155600 IMPORT DRIVE TYPE RIVET 16782
HONDA : 91550-SH3-003 150155540 HONDA SCR RIVET 6.6X15X13 19142
HONDA : 91560-SP0-003 150153190 DOOR PANEL FRONT RETAINER 19145
HONDA : 91566-SP0-003 150155429 HONDA SEAT PNL RET8.5X12.6 18294
HONDA : 91570-SK7-003ZF, 91570-SKF-003ZF 150155656 HONDA T-GATE LINING PUSHRET 19546
HONDA : 91578-SV4-003 150155369 HONDA ACCORD RAD GRILLE RETAIN PL 94UP 18457
HONDA : 91589-SV4-003 150155497 HONDA BELT MOULD CLIP RED 20272
HONDA: 75329-DH4-013 150153118 HONDA RED DOOR CLIP 91-6921
HONDA: 90140-SB0-000 150159459 BUMPER BOLT WITH SHOULDER 90-6723
HONDA: 90603-S7S-003 150155743 COWL VENT GROMMETW/SLR ACCORD '03-'04 20612
HONDA: 90668-SGO-003 150155513 HONDA GROMET NUT M4 7X10 98-7861
HONDA: 91503-SZ3-003 150155500 HONDA/ACURA BUMPER PUSH RET 19233
HONDA: 91528-SM4-023 150155551 HONDA DRIP RAIL CLIP WHT 99-7931
HONDA: 91562-S84-A01 150155511 HONDA BELT MLDNG CLIP YEL 98-7859
HYUNDAI : 81126-37010 150155754 HOOD INSL RETAINER BLK NYLON 20543
HYUNDAI: 86353-21001 150155205 GRILLE CLIP 88-6500
HYUNDAI: 87756-2D000 150155728 BODY SIDE MOULDING CLIP W/SEALER HYUNDAI 20566
HYUNDAI: 87756-38000 150155729 BODY SIDE MOULDING CLIP W/SEALER HYUNDAI 20567
HYUNDAI: 87758-3D000 150155730 ROCKER PANEL CLIP W/SEALER HYUNDAI '04 20568
ISUZU : 8941340270 150159578 ISUZU WD RANGENUT 14739
ISUZU : 8942180270 150156047 CLIP GRILLE/HEADLAMP PLAS 17195
ISUZU : 8942211500 150159416 ISUZU PUSH RETAIN NYL 5X14 14X22 9X7 14727
ISUZU : 8942264920 150155611 TRIM PANEL CLIP 85UP 14269
ISUZU : 8942981190 150155586 SCREW TYPE RIVET 14696
LEXUS : 75039-33010 150153201 LEXUS ES3000 LOWDRPNL MLD 19482
LEXUS : 75039-33060 150155499 LEXUS ES300 LOW QRT PNL 19120
LEXUS : 75049-33010 150153202 LEXUS SD DR CLAD RET 90UP 17989
LEXUS : 90467-07117 150155508 PUSH TYPE RETAINER 7MM 18270
LEXUS : 90467-07126 150151151 LEXUS PIN RET CWL16X1795UP 19535
LEXUS : 90467-09138 150153025 NYLON RETAIN CLIP 7MM 17990
LEXUS : 90467-09143 150155486 PSH-TYPE RETAINR INTO 9MM 17988
MAZDA : 1395-68-676, 9926-50-635 150155163 SCREW TYPE RIVET 14369
MAZDA : 8133-50-022 150153029 RETAIN CLIP FOR 8MM HOLE 14380
MAZDA : 9924-90-512B 150155039 MAZDA HOOD WEATHERSTRIP 14367
MAZDA : 9926-40-531B 150153166 MAZDA HOOD CLP 14X15 18271
MAZDA : 99265-0625 150155029 SCREW RETAINER 14260
MAZDA : 9927-40-825 150155611 TRIM PANEL CLIP 85UP 14269



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 17

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
MAZDA : 9927-70-901 150159083 TUBE/CABLE ROUTING CLIP 14378
MAZDA : 9928-91-053 150155008 MAZDA CABLE STRAP 140MM DIA 30MM 14298
MAZDA : 9991-00-402 150155082 ANCHOR NUT 14366
MAZDA : 9991-00-412 150155049 GROMMET NUT 13930
MAZDA : 9991-00-501 150155589 ROCKER PANEL NUT 14357
MAZDA : 9991-00-503 150155120 GROMMET NUT 14313
MAZDA : 9991-00-601 150155576 GROMMET NUT 14274
MAZDA : B003-68-865-96 150155211 INTERNAL CARPET CLIP 17453
MAZDA : B092-50-715 150156047 CLIP GRILLE/HEADLAMP PLAS 17195
MAZDA : B092-51-833 150155387 RIVET SCREW 8X18 GR3-7 PL 89-92 17632
MAZDA : B455-56-741 150155421 HOOD INSULATION 6MM HOLE 18458
MAZDA : BF67-50-033 150155264 SCREW TYPE RIVET 15366
MAZDA : FB01-56-964 150155180 SCREW RETAIN CLIP 16000
MAZDA : FD02-50-798 150155727 COWL VENT GROMMET W/SEALER MAZDA '04 20579
MAZDA : G030-68-885-B-38, GA2A-56-694 150155149 HOOD INSULATION CLIP 14709
MAZDA : G031-58-762;67868-89101 150152023 TOY WEATHERSTRIP CLIP 18692
MAZDA : GJ21-50-034 150155252 PLASTIC RIVET SCREW 17060
MAZDA : GJ21-50-049 150155473 BUMPER COVER RETAINER 17003
MAZDA : GJ21-68885-B69 150155216 DRIVE TYPE RIVET 18206
MAZDA : H001-50-841 150155608 GENERAL PURPOSE CLIP 14695
MAZDA : LA01-56-135 150155122 NYLON U-NUT BLK #10 14750
MAZDA : N304-13-356-A 150155408 SCREW TYPE RIVET 14697
MAZDA : NA01-56-145 150159598 FENDER RIVET 16858
MAZDA : UB39-45-919 150155714 MAZDA FRONT & REAR FENDER RETAINER 20465
MAZDA: B100-68-8550 150155256 MAZDA REAR LAMP ACC DOOR 90-6750
MERCEDES: 000-987-10-15 150153088 PLASTIC TRIM RETAINER 13148
MERCEDES: 000-988-15-81 050011751 SIDE MOULD BUTTON RED 13141
MERCEDES: 000-988-86-25 150153551 SCREW GROMMET ROCKER PANEL MOULDING CLIP 20404
MERCEDES: 000-990-34-92 150159295 RADIATOR HOUSING RTNR MERCEDES 1974+ 20187
MERCEDES: 000-990-37-92 150155053 TRUCK & TRIM RETAINER MB SL500 & 600 '99 20314
MERCEDES: 000-994-04-45 150152088 PLATED U NUT 4.2 MM MERCEDES 13224
MERCEDES: 000-994-06-45, 003-994-30-45 150152084 PLATED U NUT 4.8MM SCREW MERCEDES 13218
MERCEDES: 000-994-09-45 150152085 PLATED U NUT 6.3MM SCREW MERCEDES 13220
MERCEDES: 000-994-14-45 150152081 PLATED U TYPE NUT 4.8MM SCREW MERCEDES 13215
MERCEDES: 000-994-14-45 150152082 ZINC U TYPE NUT 4.8MM 13216
MERCEDES: 000-994-25-45 150152087 PLATED U NUT 4.2MM SCREW BMW MERCEDES 13223
MERCEDES: 000-994-50-45 150152086 PLATED UNUT 6.5MM SCREW MERECDES 13222
MERCEDES: 001-988-20-81 050011755 BUTTON NEW MB RED 16124
MERCEDES: 001-988-20-81, 001-988-76-81 150159673 MOULDING INSERT WHT NYLN MERCDS 1994+ 20205
MERCEDES: 003-988-41-78 150153175 TRIM PANEL RETNR WHT NYLNMERCDS '95-'68 20188
MERCEDES: 124-990-07-92-9C75 150159694 PUSH RETNR BLK NYLON MERCDS 1986+ 20203
MITSUBISHI: 106212, MB106212, MB132008 150155092 SCREW ANCHOR 14335
MITSUBISHI: MB020923 150153180 HOOD INSULATION RETAINER 19385
MITSUBISHI: MB023930 150155082 ANCHOR NUT 14366
MITSUBISHI: MB098145 150159440 SCREW GROMT 14275
MITSUBISHI: MB153825 150156047 CLIP GRILLE/HEADLAMP PLAS 17195
MITSUBISHI: MB325299 150155588 BUMPER STRIP CLIP 16671
MITSUBISHI: MB361578 150155465 FENNDER MOULD GROMM 8X11 97-7722
MITSUBISHI: MB547806 150155574 FRONT BUMPER CLIP 17472
MITSUBISHI: MB608104 150153188 DR TRM PNL M9X17 19129
MITSUBISHI: MC440901 150155687 TRIM PANEL CLIP 20381



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 18
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
MITSUBISHI: MR138807 150159568 SCR RIVET M8 18951
MITSUBISHI: MR478262 150155722 BMPR CVR & GRNSH MLDNG RTNR MITSU 20580
MITSUBISHI: MR478263 150155724 BMPR CVR GRNSH RTNR W/SLR MITSU 20581
MITSUBISHI: MS480002, MS480009 05007711 SCREW ANCHOR 13932
MITSUBISHI: MS480012 150155608 GENERAL PURPOSE CLIP 14695
MITSUBISHI: MU000319 150155514 DRIVE RIVET M8 19239
MITSUBISHI: MU481187 150155616 HOOD INSUL RETAINER 19323
NISSAN: 01281-00023, 01281-00231 150159440 NISSAN SCREW GROMT 14275
NISSAN: 01281-00151, 96706-H9400, 96706-K1300, 150155092 SCREW ANCHOR 14335
96706-K1351
NISSAN: 01281-00231, 01651-00481, 74798-S9000 150155608 GENERAL PURPOSE CLIP 14695
NISSAN: 01281-00441 150155304 NISSAN FRONT BUMPER 17342
NISSAN: 01553-00172 150152071 WEATHERSTRIP TRIM PANEL C 14737
NISSAN: 01553-0052U 150155751 TRIM PANEL RETNG CLIP FRONTIERXTERR00-04 20671
NISSAN: 01553-00542 150153068 FENDER CLIP M5 82-5536
NISSAN: 01553-00545, 01553-01121 150155303 REAR BUMPER RETAINER 17452
NISSAN: 01553-01781, 27158-20100 150155302 COWL GRILLE PLASTIC RET 17634
NISSAN: 01553-02741, 01553-03101 150155197 SCREW TYPE RIVET 17378
NISSAN: 01553-02741, 01553-03201 150159543 NISSAN SCREW TYPE RIVET BLK 95-7491
NISSAN: 01553-02923 150155469 NISSAN WHL FLARE GROMMET 97-7734
NISSAN: 01553-06721 150155595 RIVET DRIVE TYPE RETAINER 17347
NISSAN: 01553-07111 150155750 TRIM PANEL RETNR ALTIMA INFINITI 97-04 20669
NISSAN: 01553-09241 150155479 NISSAN BUMPR RETAIN 10X18 19246
NISSAN: 01553-09321 150155507 NISSAN DRIVE RIVET REUSABLE 19274
NISSAN: 01553-09611 150155705 NISSAN BUMPER CLIP 20349
NISSAN: 10998-30880 150155586 SCREW TYPE RIVET 14696
NISSAN: 1553-53500 150153093 NISSAN TRUCKS DOOR TRIM CLIP 85-5958
NISSAN: 62228-51S00 150155415 NISN METAL FRNT BUMPR RET 19147
NISSAN: 62228-61A00 150155273 FRONT BUMPER RETAINER 90-6801
NISSAN: 62228-65E00 150155416 NISSAN METAL CLP FRNT BUMPR 95-7493
NISSAN: 62318-01W00 150155152 DARK GRAY GILLE CLIP 16860
NISSAN: 62318-H8500 150155099 BLACK GRILLE CLIP 82-5539
NISSAN: 62380-U7400 150155344 NISSAN GRILLE RETAIN CLP PL 12X16MM 87UP 17196
NISSAN: 62660-48600-1 150155687 TRIM PANEL CLIP 20381
NISSAN: 62698-V7000, 68425-H5000 150155120 GROMMET NUT 14313
NISSAN: 62869-N4700, 76997-P7100 150155030 RETAINING CLIP 6MM HOLE 14723
NISSAN: 63844-01A00 150159598 NISSAN FENDER RIVET 16858
NISSAN: 63844-D0100 150159416 NISSAN PUSH RETAIN NYL 5X14 14X22 9X7 14727
NISSAN: 63848-01G00 150155600 IMPORT DRIVE TYPE RIVET 16782
NISSAN: 63848-40Y00 150155740 FRONT BMPR RETNR FRONTIER XTERRA '98-04 20613
NISSAN: 63848-9E001 150155708 NISSAN BUMPER FASCIA PUSH TYPE RETAINER 20327
NISSAN: 63848-D4000, 63848-D4001 150155606 INNER PANEL CLIP 17385
NISSAN: 63854-01A00 150155574 NISSAN FRONT BUMPER CLIP 17472
NISSAN: 63876-95596 150155180 SCREW RETAIN CLIP-HONDA 16000
NISSAN: 63878-01E10 150155704 NISSAN BUMPER RETAINER 20348
NISSAN: 65832-F5000, 65846-30F00 150155143 HOOD INSUL. CLIP NISSAN 17237
NISSAN: 66814-01A00 150155301 RIVET TYPE SCREW 91-6952
NISSAN: 66814-01G00 150155587 NISSAN DRIVE RIVET M5PR1-4 FACE8X12 86UP 16725
NISSAN: 66824-01G00 150155403 PUSH-TYPE RETAINER 16783
NISSAN: 66860-01W01 150155581 NISSAN COWEL PANEL CLIP 16859
NISSAN: 76882-57A00 150155272 DRIVE TYPE RIVET 18265



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 19

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
NISSAN: 76906-T3000 150152070 TRIM PANEL CLIP 14353
NISSAN: 80533-00100 150153074 DATSUN CLIP ROD END 82-5567
NISSAN: 80875-85E00 150159093 TRIM PANEL RETAINER 10X4 18166
NISSAN: 80999-05N07 150153155 NISSAN DRIVE TYPE RIVET 7X18X11MM 16784
NISSAN: 82532-H8500 150153075 DATSUN CLIP ROD END 82-5568
NISSAN: 85284-AD005 150155752 REAR BUMPER RETNR W/SLR QUEST 2004 20674
NISSAN: 89427-98070 150153039 TRIM PNEL RETAIR INTO 6MM 16775
NISSAN: 96706-89901 150155082 ANCHOR NUT 14366
NISSAN: 96706-B0700, 96706-B6700, 97606-B0700 150155049 GROMMET NUT 13930
NISSAN: 96706-H2500 150155085 ANCHOR NUT 14724
NISSAN: 96706-P0105 150155576 GROMMET NUT 14274
OPEL: 20-72-175 150152086 PLATED UNUT 6.5MM SCREW OPEL 13222
OPEL: 20-72-175 150152085 PLATED U NUT 6.3MM SCREW OPEL 13220
SUZUKI: 09409-07313 150155276 DRIVE TYPE RIVET 17383
TOYOTA: 52161-02020, 52161-16010 150155445 REAR BUMPER COVER RET. TOYOTA 18873
TOYOTA: 53452-90351 150157039 PREVIA HOOD PROP ROD CLIP 17611
TOYOTA: 53455-14020 150159129 HOOD PROP ROD CLIP 14732
TOYOTA: 53879-14010, 53879-14020, 53879-22030, 150155122 TOYOTA NYLON U-NUT BLK #10 14750
53897-22030
TOYOTA: 53879-22010 150155602 TOYOTA BLACK CLIP 5MM 14276
TOYOTA: 53879-60010 150155694 TOYOTA FENDER LINER RETAINER 20335
TOYOTA: 62217-13010 150155734 GARNISH MOULDING RETAINER LEXUS & TOYOTA 20558
TOYOTA: 62955-12010, 62955-20020 150153026 RETAINER W/SEALER INTO 8MM 15695
TOYOTA: 67771-12010, 67771-12010F 150155611 TOYOTA TRIM PANEL CLIP 85UP 14269
TOYOTA: 67771-12070 150155716 TOYOTA DOOR PANEL RET. W/ SEALER 20473
TOYOTA: 67771-12080 150153557 DOOR PANEL & ROCKER MLDNG TOYOTA '98-'04 20575
TOYOTA: 67771-22020 150153065 TRIM PANEL CLIP 14728
TOYOTA: 67771-30070 150153186 TOYOTA DR TRM PNL CLP M9X11 19109
TOYOTA: 67771-30090 150153188 TOYOTA CRU DR TRM PNL M9X17 19129
TOYOTA: 67867-28030, 67867-89103, 67868-89101 150152023 TOYOTA WEATHERSTRIP CLIP 18692
TOYOTA: 68211-06020 150155628 TOYOTA DOOR BELT MOULD CLIP 19531
TOYOTA: 69293-12030 150153554 TOYOTA DOOR LOCK ROD CLIP-RH 20469
TOYOTA: 69293-12040 150153555 TOYOTA DOOR LOCK ROD CLIP-LH 20470
TOYOTA: 69293-12050 150155755 DOOR LOCK ROD CLIP LEXUS TOYOTA '90-'03 20534
TOYOTA: 69293-12060 150155756 DOOR LOCK ROD CLIP LEXUS TOYOTA 90-03 20535
TOYOTA: 75867-21010 150153558 FENDER FLARE RETAINER VIBE & ECHO 20576
TOYOTA: 75867-30110 150155654 TOYOTA ROCKER PANEL 97 ON 19842
TOYOTA: 76924-52021 150155726 ROCKER MOULDING RETAINER VIBE & COROLLA 20578
TOYOTA: 81124-89101 150156045 HEADLAMP SPACER 16951
TOYOTA: 81195-89101 150156053 HEADLAMP ADJUSTING SCREW 89-6710
TOYOTA: 90075-10801, 90075-10805, 90189-06111 150155537 PARK & TURN HOUS RETNR 19783
TOYOTA: 90080-46269, 90467-10077 150155653 TOYOTA DOOR MOULD W/SEALER 19797
TOYOTA: 90084-26001 150151145 TOYOTA CLOSE END SLRVTM597UP 17420
TOYOTA: 90183-03001, 90468-04038 150155578 TOYOTA FRONT BUMPER CLIP 16306
TOYOTA: 90189-04011, 90189-04057 05007709 TOYOTA SCREW ANCHOR 14271
TOYOTA: 90189-04014 150155577 TOYOTA ANCHOR CLIP 14256
TOYOTA: 90189-04066 150155135 GROMMET NUT 14281
TOYOTA: 90189-05012 150159578 TOYOTA LEXUS WD RANGE NUT 14739
TOYOTA: 90189-05013 05007711 TOYOTA SCREW ANCHOR 13932
TOYOTA: 90189-06001 150159440 TOYOTA SCREW GROMT 14275
TOYOTA: 90189-06005 150155580 BODY MOULDING CLIP 14273



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 20
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
TOYOTA: 90189-06006 150155108 TOYOTA ANCHOR NUT 14265
TOYOTA: 90189-06010 150155576 GROMMET NUT 14274
TOYOTA: 90189-06013 05007747 TOYOTA PLASTIC ANCHOR 14267
TOYOTA: 90189-06028 150155502 WHEEL APRON RETAIN PL 19194
TOYOTA: 90189-06042 150155608 GENERAL PURPOSE CLIP 14695
TOYOTA: 90189-06104 150155648 TOYOTA FEN LIN SCREW GROM#12 19742
TOYOTA: 90189-06157 150155642 FENDER LINING SCREW GROM 19721
TOYOTA: 90189-06214 150155652 TOYOTA FEN LIN SCREW GROM#12 19756
TOYOTA: 90269-05054 150159670 TOYOTA GAS FILLER RIVET W/ SEAL, M5 99-8008
TOYOTA: 90269-06013 150159671 TOYOTA GAS FILLER RIVET W/ SEAL, M6 Hole 99-8209
TOYOTA: 90467-06017, 90467-06017-20, 90467-06017-41 150155029 TOYOTA SCREW RETAINER 14260
TOYOTA: 90467-06133-CO 150155680 TOYOTA ROCKER PANEL PUSH 20196
TOYOTA: 90467-06150 150155622 TOYOTA PUSH TYPE RETAINER 19490
TOYOTA: 90467-07041, 90467-07041-B2, 90467-07076-C0 150155275 DRIVE TYPE RIVET 17162
TOYOTA: 90467-07043, 90467-07043-11, 90467-07043-C0 150153155 TOYOTA DRIVE TYPE RIVET 7X18X11MM 16784
TOYOTA: 90467-07044 150155461 TOYOTA SCR RVT FNDR M7 FLG20 19128
TOYOTA: 90467-07050, 90467-08008 150152071 WEATHERSTRIP TRIM PANEL C 14737
TOYOTA: 90467-07059-22 150153189 TOYOTA DR TYP RVT M7 15X2MM 19013
TOYOTA: 90467-07066 150155276 DRIVE TYPE RIVET 17383
TOYOTA: 90467-07096 150153187 TOYOTA TRM PNLCLP M6 26X10.5 97-7709
TOYOTA: 90467-07146 150155539 TOYOTA DRIVE RIVET COWL GRIL 19552
TOYOTA: 90467-07151 150155480 TOYOTA LUGGAGE COMP RETAIN 98-7767
TOYOTA: 90467-07166 150155462 TOYOTA DRIVE RIVET FRT FENDR 18888
TOYOTA: 90467-07168, 90467-07168-C1 150155725 PANEL RETAINER VIBE '03-'04 TOYOTA '00-'04 20577
TOYOTA: 90467-08124 150157044 TOYOTA/LEXUS HOOD INSUL PL M7 19113
TOYOTA: 90467-08155 150159563 SCR RIVET BUMP CVR 19140
TOYOTA: 90467-09004, 90467-09004-01 150157045 TOYOTA HOOD INSUL RETAIN M7 19112
TOYOTA: 90467-09006 150157049 TOYOTA HOOD INSUL RETAIN M7 18842
TOYOTA: 90467-09008, 90467-09008-01 150155181 HOOD RETAINER 7MM 14738
TOYOTA: 90467-09050 150155644 LEXUS/TOYOTA HOOD INSUL RET 19729
TOYOTA: 90467-09093 150155594 LEXUS BUMPER COVER 17439
TOYOTA: 90467-09096 150159552 SCREW TYPE RIVET 19219
TOYOTA: 90467-09127 150155646 TOYOTA BUMP COVER PUSH RET 19739
TOYOTA: 90467-09128 150159553 SCREW TYPE RIVET 96-7604
TOYOTA: 90467-09139 150155617 TOYOTA PUSH TYPE RET 19416
TOYOTA: 90467-09145 150155488 BUMPER COVR FITS INTO 9MM 17206
TOYOTA: 90467-10107 150155459 TOYOTA FNDR SPLSH SHLD 17X11 97-7710
TOYOTA: 90467-10167 150155735 GARNISH MLDNG RETAINER VIBE LEXUS TOYOTA 20559
TOYOTA: 90467-11100 150155701 MOULDING CLIP 20429
TOYOTA: 90467-12078, 90467-12078-01 150153024 TOYOTA RETAINING CLIP 16779
TOYOTA: 90467-13005 150155100 TOYOTA GRILLE CLIP 17194
TOYOTA: 90467-13011 150156047 CLIP GRILLE/HEADLAMP PLAS 17195
TOYOTA: 90468-04030 150155588 BUMPER STRIP CLIP 16671
TOYOTA: 90520-01002, 90520-01274 150153214 DOOR HANDLE RETAINER 2288
TOYOTA: 90904-67036 150155684 TOYOTA FENDER CLIP-BLUE 20390
TOYOTA: 90904-67037 150155685 TOYOTA FENDER CLIP-RED 20391
TOYOTA: 95008221, 67771-12050, 67771-16080 150153174 FRONT/REAR DOOR RETAINER 97-7673
VOLVO : 1201-930 150152079 MOULDING CLIP BLACK NYLON VOLVO 13195
VOLVO : 1268176-3 150155428 VOLVO DR RVT BMP BLK 6X15 19248
VOLVO : 1372920-7 150155712 VOLVO RADIATOR CLIP 20406



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 21

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Make/OEM

MAKE / OEM # WURTH # DESCRIPTION VENDOR #
VOLVO : 3104-426 150155095 METAL PANEL CLIP VOLVO 13173
VOLVO : 3512624-2 150155062 RCKR PANEL PSH RTNR WHT NYLN VOLVO 1993+ 19249
VOLVO : 9133073-8 150155709 HOOD INSL/RADIATOR SEAL 20407
VOLVO : 9133417-7 150155063 RCKR PNL PUSH RTNR VOLVO 850 SER 1994+ 19904
VOLVO : 9151649-2 150155702 ROCKER PANEL MOULDING CLIP 20405
VOLVO : 946-418 150152085 PLATED U NUT 6.3MM SCREW VOLVO 13220
VOLVO : 979878-6 150159276 VOLVO ALU/BLK BUMPR RIVET 19376
VW: 113-853-585B 150152077 METAL MOULDING CLIP VW 13176
VW: 155-809-966, 179-813-883 150156020 HEADLAMP BEZEL NUT 64-76 12735
VW: 161-867-299-01C 150155060 PUSH RETAINER BLK NYLON 19195
VW: 171-853-575A, 171-853-585A 150152076 NYLON MOULDING CLIP VW 13175
VW: 175-853-577-01C 150159601 PLASTIC RIVET 5MM 13748
VW: 175-867-299 150153055 TRIM PNL RETNR NYLON AMC 1984+ VW 1982+ 13475
VW: 1H0-819-055-B-01C 150155517 VW COWL VENT SCR PL 98-7867
VW: 1H0-853-733B 150152090 WNDSHLD REVL MLD CLIP GOLF JETTA '93-'98 19136
VW: 1J0-853-120 150159634 VW SCUFF PLATE GROMMET 20260
VW: 3B0-868-243 150153552 VW DOOR TRIM PANEL RETAINER 20341
VW: 803-853-139C 150152075 MOULDING CLIP RED NYLON VW 13174
VW: N-014-389-3 150155095 METAL PANEL CLIP VW & VOLVO 13173
VW: N-015-422-2, N15.422.2 150152083 PLATED U NUT 4.2MM SCREW VW AUDI 13217
VW: N15.457.1 150152086 PLATD UNUT 6.5MM SCREW VW 13222
VW: N-900-845-01, N-906-349-01 150152072 VW BLIND RIVET WHL OPENING 17006
VW: N90282401, 3096724 150155159 DOOR TRIM CLIP 85-5952
VW: N989022 150153014 VW DOOR TRM 75UP 11351
VW: N98905101 150153047 DOOR TRIM PANEL RETAINER 11678



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 22
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Article #

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
0124754216 CSTK SEMS BLK 8X5/8 90-6837
021039 LICENCE PLATE SCREW 94-7329
05007709 TOYOTA SCREW ANCHOR 14271 TOYOTA: 90189-04011, 90189-04057
05007711 TOYOTA SCREW ANCHOR 13932 MITSUBISHI: MS480002, MS480009; TOYOTA: 90189-05013
05007747 TOYOTA PLASTIC ANCHOR 14267 TOYOTA: 90189-06013
050011751 MB SIDE MOULD BUTTON RED 13141 MERCEDES: 000-988-15-81
050011755 BUTTON NEW MB RED 16124 MERCEDES: 001-988-20-81
0501105035 "PANEL CLIP BMW E28,30,39 PACK OF 25" 20248 BMW : 51-11-8-174-185
1367538 HEX SERATED FLNG NUT G8 BLK 3/8-16 J868
150150001 HOG RING PLIER 7657
150151008 PHIL OVAL WSH HD #8X3/8 10642 FORD: 381671-S
150151009 GM WINDOW REV MLD CLP70UP 10243 GM: 8717859, 9854717
150151099 STAMPED NUT M4 17495 CHRYSLER: 34202159; FORD: N620391-S36
150151106 RIVET WITH SHOULDER 92-7069
150151120 BLIND RIVET 1/8 12656 GM: 20325696
150151145 TOY CLOSE END SLRVTM597UP 17420 TOYOTA: 90084-26001
150151151 LEXS PIN RET CWL16X1795UP 19535 LEXUS : 90467-07126
150152007 FRD WNDW REVEALMLDCLP68UP 9882 FORD: C8AZ-63442413-A, C8AZ-63642413-A, D1AB-

6542413-AB,D1AZ-6542413-B
150152009 POWER WINDOW REGULATOR 17974 FORD: D0AZ-62234A24-B
150152011 GM DOOR WTHRSTRP CLP BLK 11120 GM: 8731909
150152014 9-TOOTH CHRY PWR WINDOW REG 77-4628
150152015 FRONT & REAR DOOR WINDOW GUIDE 15467 GM: 10051034, 12338011, 20123070, 20328600
150152016 FRONT DOOR WINDOW GUIDE 15466 GM: 20160591
150152018 WEATHERSTRIP CLIP 14328 HONDA : 90664-671-003, 90664-671-0030, 91530-SE0-003
150152019 FORD DOOR/HOOD INNER CIP 18509 CHRYSLER: 4040732
150152023 TOY WEATHERSTRIP CLIP 18692 FORD: E7GZ-6120586-B; MAZDA : G031-58- 762; TOYOTA:

67867-28030, 67867-89103, 67868-89101
150152024 FRNT DOOR WINDW GUIDE 87-6293
150152027 DOOR WEATHERSTRIP RETAINR 14921 CHRYSLER: 6502328; GM: 20699808
150152039 WEATHERSTRIP CLIP - CHRYS 18033 CHRYSLER: 4696129
150152044 FRONT DOOR WINDOW REGULAT 20424
150152045 HONDA CIVIC BLK PL RTN CL 19483 ACURA : 91515-SR3-000
150152046 GM WEATHER STRIP HOOD CLP 18510 GM: 20200750
150152048 FRD GRMT NUT WHEEL OPENG 19277 FORD: N804765-S
150152049 FORD/CHY REPAIR KIT FOR PWR WINDOWS 3PC 19786
150152050 WEATHERSTRIP CLIP 19425 FORD: 385677
150152052 HNDA WTHRSTRP RET 5X15 18877 HONDA : 91530-SP1-003
150152053 HNDA WTHRSTRP FRT & RR DOOR CLP 19116 HONDA : 91516-SM4-013, 91530-ST5-003
150152055 FRD 1/2 NYL GR F/PWR 89UP 97-7746
150152057 FRD KIT F/PWR WNDWREG89UP 18947
150152059 GMBLINDRVT LEG.RET3/16X7/ 18927 GM: 22569178, 22579423
150152060 GM HOOD&BMPR NUT KIT 78UP 98-7797
150152062 GM WTHRSTRP CLP FR/RRDR97 19368 GM: 10283414, 10405030
150152070 TRIM PANEL CLIP 14353 NISSAN: 76906-T3000
150152071 WEATHERSTRIP TRIM PANEL C 14737 NISSAN: 01553-00172; TOYOTA: 90467-07050, 90467-08008
150152072 VW BLIND RIVET WHL OPENING 17006 VW: N-900-845-01, N-906-349-01
150152074 FORD TRIM PANEL RETAINER 12909 FORD: 388930-S
150152075 MOULDING CLIP RED NYLON VW 13174 VW: 803-853-139C
150152076 NYLON MOULDING CLIP VW 13175 VW: 171-853-575A, 171-853-585A
150152077 METAL MOULDING CLIP VW 13176 VW: 113-853-585B



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 23

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150152078 TRIM PANEL FASTENER VW BLACK NYLON 13179
150152079 MOULDING CLIP BLACK NYLON VOLVO 13195 VOLVO : 1201-930
150152080 TRUNK LINER PLUG BLK VINYL VW BEETLE AUDI 13206 AUDI: 113-857-219A
150152081 PLATED U TYPE NUT 4.8MM SCREW MERCDS BMW 13215 BMW: 07-11-9-901-294, 07-11-9-916-945; MERCEDES: 000-

994-14-45
150152082 ZINC U TYPE NUT 4.8MM BMW 13216 MERCEDES: 000-994-14-45
150152083 PLATED U NUT 4.2MM SCREW VW AUDI 13217 VW: N-015-422-2, N15.422.2
150152084 PLATED U NUT 4.8MM SCREW MERCDS BMW 13218 BMW: 07-12-9-925-737; MERCEDES: 000-994-06-45, 003-994-

30-45
150152085 PLATED U NUT 6.3MM SCREW MRCDS VLVO OPEL 13220 MERCEDES: 000-994-09-45; OPEL: 20-72-175; VOLVO : 946-

418
150152086 PLATED U NUT 6.5MM SCREW MRCDS VW BMW OPEL 13222 BMW: 07-12-9-925-730; MERCEDES: 000-994-
50-45; OPEL: 20-72-175; VW: N15.457.1
150152087 PLATED U NUT 4.2MM SCREW BMW MERCEDES 13223 BMW: 07-12-9-925-708; MERCEDES: 000-994-25-45
150152088 PLATED U NUT 4.2 MM MERCEDES 13224 MERCEDES: 000-994-04-45
150152089 NYLN WINDSHLD MLD CLIP BMW 7 SERIES 1987+ 17279 BMW : 51-31-1-938-494, 51-31-8-177-850
150152090 WNDSHLD REVL MLD CLIP GOLF JETTA '93-'98 19136 VW: 1H0-853-733B
150152091 U TYPE NUT PLATED BMW 5.6 MM SCREW 13162 BMW: 07-12-9-925-720
150153000 DOOR OPENING FASTENER 10744 GM: 4876498
150153010 NYLON NUT SIDE MARKER LT 11855 CHRYSLER: 8934-201-262; GM: 9669486
150153012 REMOTE CONTROL ROD DOOR 15759 GM: 3998009, 9711304
150153014 CHRY/VW DOOR TRM 75UP 11351 CHRYSLER: 6032363; FORD: 385661-S; VW: N989022
150153017 RETAINER CLIP HONDA 14289 HONDA : 90666-SA0-003, 90666-SA0-0030
150153022 DOOR/WIND CRANK HANDLE 11
150153024 RETAINING CLIP 16779 HONDA : 74842-659-003, 74842-659-0030; TOYOTA: 90467-

12078, 90467-12078-01
150153025 NYLON RETAIN CLIP 7MM 17990 LEXUS : 90467-09138
150153026 RETAINR W/SEALER INTO 8MM 15695 GM: 94848834; TOYOTA: 62955-12010, 62955-20020
150153029 RETAIN CLIP FOR 8MM HOLE 14380 MAZDA : 8133-50-022
150153032 CHRY DOOR TRIM PNL FAST. 2310
150153034 3/16 STEEL RIVET (BLACK) 12657 GM: 9439719
150153037 TRIM PANEL RETAINER 16017 GM: 363137, 9685057, 20451401
150153039 TRIM PNEL RETAIR INTO 6MM 16775 HONDA : 90667-SA7-003, 90667-SA7-0030; NISSAN: 89427-

98070
150153042 UPPER GRILL ATT PL/GR CAD 10262 CHRYSLER: 2745108, 2945109, 4658676, 4658677, 4003672R
150153043 DOOR ROD END CLIP 14967 FORD: D2VZ-6521952-A; GM: 9815325, 16607593
150153046 GM DOOR LOCK CLIP 15518 GM: 4234830, 12337868
150153047 DOOR TRIM PANEL RETAINER 11678 CHRYSLER: 4005470, 6003349; GM: 9685057; VW:

N98905101
150153048 ANTI RATTLE CLIP 15518 GM: 4234830, 12337868
150153049 DOOR LOCK ROD RETAINER 72-3705
150153050 FORD TRIM PANEL CLIP 77UP 11797 FORD: 387477-S
150153052 DOOR TRIM PANEL CLIP G.M. 11796 GM: 3065575
150153054 FORD TRIM PANEL RETAINER 76UP 11672 FORD: 387496-S
150153055 TRIM PNL RETNR NYLON AMC 1984+ VW 1982+ 13475 CHRYSLER: 8934-201-681; VW: 175-867-299
150153058 DOOR LOCK ROD END 1/6INCH 78-4813
150153064 GM BUSHING 3/8-1/2-15/32 14548 GM: 9822198
150153065 TRIM PANEL CLIP 14728 TOYOTA: 67771-22020
150153068 FENDER CLIP M5 82-5536
150153070 GM DOOR PANEL CLIP 82-85 12737 GM: 12337920, 20374473
150153071 SEAT BACK RETAINER 12731 GM: 20319841
150153074 DATSUN CLIP ROD END 82-5567

Body Clip Cross Reference
Article #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 24
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Article #

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150153075 DATSUN CLIP ROD END 82-5568
150153078 DOOR FASTENER NYLON 12992 GM: 10073833, 15600382, 20421800
150153080 RETAINER CLIP GM 14016 CHRYSLER: 6500787; GM: 16500308
150153081 REPLACEMENT DOOR HINGE PN 14559 GM: 6271989, 20046147
150153083 GM BUSHING 5/16-1/2-23/64 14553 GM: 20429500
150153084 GM THICK BUSHING 5/16-1/2-23/64 14549 GM: 9716926, 20345137
150153085 CHRY BUSHING 1/4-21/64-23/64 14552 CHRYSLER: 4033711, 4498100
150153086 FORD BUSHING 5/16-31/64-9/32 14551 FORD: D90Z-6522841A
150153088 PLASTIC TRIM RETAINER 13148 MERCEDES: 000-987-10-15
150153090 INTERNAL TRIM CLIP GRAY 85-5946
150153093 NISSAN TRUCKS DOOR TRIM CLIP 85-5958
150153094 DOOR LOCK ROD RIGHT END 18392 GM: 20582532
150153095 DOOR LOCK ROD 18393 GM: 20582533
150153097 INTERIOR TRIM RETAINER 15479 FORD: N804349-S
150153098 CHRY/AMC TRM PNL3/4X11/16 15040 CHRYSLER: 4006529, 5208743
150153104 2 PC FOLD OVER CLIP FORD 17122 FORD: E6DZ-5421952A, E83Z-5421952-B
150153106 CHRY BUSHING 11/32-13/32-13/32 17434 CHRYSLER: 2486468
150153107 DOOR TRIM PANEL CLIP 15670 GM: 15545202
150153109 TRIM PANEL DOOR CLIP 17124 FORD: N805155-S
150153111 DOOR LOCK POWER LEFT HAND 17118 FORD: E6DZ-5421971-A, F3LY-6321971-A
150153112 DOOR LOCK POWR RIGHT HAND 17119 FORD: E6DZ-5421970-A, F3LY-6321970-A
150153113 DOOR LOCK RIGHT/LEFT 90-6731
150153114 DOOR LATCH BUSHING 18914
150153115 DOOR TRIM CLIP 16695 GM: 10153057
150153117 DOOR TRIM CLIP 17092 GM: 20734005
150153118 HONDA RED DOOR CLIP 91-6921
150153122 DOOR HINGE BUSHING 16936 GM: 12338074, 15691493, 15964971, 16632193
150153123 DOOR HINGE BUSHING 16937 GM: 15562609, 15964972, 16632192
150153124 GM DOOR HINGE PIN 5-1/4 19424 GM: 15591860, 15685040, 15691595, 15967691, 88891731
150153125 FORD DOOR TRIM PANEL CLIP 13470 FORD: N802900-S
150153127 DOOR HINGE PIN RETAINER 17976 GM: 15562610
150153130 GM BLD RVT DR LCK ACTUATOR 17177 GM: 22093245
150153131 DOOR PANEL RETAIN-GM/JEEP 11349 CHRYSLER: 4005099, 6033862; GM: 796255
150153133 RADIATOR GRILL-GM 15970 GM: 15545202, 15607165, 15612948, 15953247
150153135 CHRY DOOR PANEL RETAINER 94-7358
150153140 DOOR TRIM PANEL RET 18353 GM: 15960325
150153141 TRIM PANEL RETAINER YEL NYL 17669 CHRYSLER: 6502907, 6504014
150153143 GM TRUCK TRIM PANEL RET 17649 GM: 15953247
150153144 CHVY DR LCK ROD CLP RH/LH 95-7467
150153146 95 WINDSTAR YEL PL DR PNL 18848 FORD: F58Z-16237A02-A
150153147 GM DOOR TRIM PNL CLIP BLK 16938 GM: 15638413, 15963179
150153151 96 CIRRUS DOOR ROD CLP WH 96-7519
150153153 95 NEON DOOR PANEL CLIP 18915 CHRYSLER: 6502907, 6504014
150153155 NISSAN/TOYOTA DRIVE TYPE RIVET 7X18X11MM 16784 NISSAN: 80999-05N07; TOYOTA: 90467-07043, 90467-

07043-11, 90467-07043-C0
150153156 BELT MOULDING CLIP CIVIC 17981 HONDA : 91510-SR3-003
150153158 GM TAIL GATE ROD CLP 3/32X3/16 18926 GM: 14037239, 15545178
150153159 JP DRTRM PNL CLP7.5X16X32. 17685 CHRYSLER: 6502991
150153161 GM RET SPKR CLP 5.9X11X19 18948 GM: 1644290
150153162 GM DR RAD TRM 8X19X24 92UP 18174 GM: 25601491
150153163 DOOR TRIM CLIP 18930 GM: 22600612, 22651066
150153165 HOOD WEATHER CLP 18114 HONDA : 91520-SM4-C01, 91520-SM4-C010



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 25

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150153166 FD/MZDA HOOD CLP 14X15 18271 MAZDA : 9926-40-531B
150153168 DOOR PANEL GM U & W '97 19275 GM: 10287971
150153169 DOOR PAN GM U,W&Y '97 19270 GM: 10285935
150153174 FRONT/REAR DOOR RETAINER 97-7673
150153175 TRIM PANEL RETNR WHT NYL 20188 MERCEDES: 003-988-41-78
150153177 CHRY DOOR WTHRSTRIP CLP M5 19149 CHRYSLER: 4658673
150153180 HOOD INSULATION RETAINER 19385 MITSUBISHI: MB020923
150153181 DOOR LOCK ROD R.H. 97-7696
150153182 DOOR LOCK ROD C.H. 97-7697
150153183 DOOR LOCK ROD L.H.CLIP 19190 CHRYSLER: 4658445
150153184 DOOR LOCK ROD R.H.CLIP 19191 CHRYSLER: 4658444
150153186 TOYOTA DR TRM PNL CLP M9X11 19109 TOYOTA: 67771-30070
150153187 TOYOTA TRM PNLCLP M6 26X10.5 97-7709
150153188 TOYOTA CRU DR TRM PNL M9X17 19129 GM: 95008221; MITSUBISHI: MB608104; TOYOTA: 67771-

30090
150153189 TOYOTA DR TYP RVT M7 15X2MM 19013 TOYOTA: 90467-07059-22
150153190 DOOR PANEL FRONT RETAINER 19145 HONDA : 91560-SP0-003
150153191 TRM PAD CLP3/16X3/4X 19667 FORD: N801994-S100
150153192 NISSAN WHEEL FLARE PIN 97UP 97-7735
150153193 TAIL LMP RET M9.5 19326 FORD: N807706-S
150153194 GM DR PNL RET M7 18X28 19356 GM: 15986673
150153195 CHRY DOOR TRIM PNL CLIP M7 18862 CHRYSLER: 6503204
150153196 CHRY DR TRM PNL M7 1X14 98-7776
150153197 CHRY DR PNL RET M9.5 14MM 19386 CHRYSLER: 6505292AA
150153199 CHRY DR TRM PNL5/16X1/16 19213 CHRYSLER: 6503709
150153200 FORD DOOR LOCK ROD 4.8MM 19651 FORD: F85Z-1521952-BB
150153201 LEXUS ES3000 LOWDRPNL MLD 19482 LEXUS : 75039-33010
150153202 LEXUS SD DR CLAD RET 90UP 17989 LEXUS : 75049-33010
150153204 FORD DOOR PWR WND&LCK SWT 19426 FORD: F2SZ-14570-A
150153206 DR PNL RET GRY M7 91UP 19373 FORD: N807154-S
150153207 CHRY DOOR CLAD RET M7 96UP 98-7893
150153208 DOOR PANEL SCREW GROMMET #8 19741 HONDA : 90670-SG0-003, 91626-SH3-003
150153209 JEEP DOOR PANEL RETNR M7 19628 CHRYSLER: 5012874-AA, 6505539AA
150153211 LINCLN LW DR TRM PNL M9 19511 FORD: W704958-S300
150153212 FORD DR&TL ROD #10-24 M8 19658 GM: 16629990, 16675980
150153214 DOOR HANDLE RETAINER 2288 TOYOTA: 90520-01002, 90520-01274
150153216 CLIP DOOR TRIM PANEL 12565 FORD: N801925-S, N802900-S
150153217 GM TRIM PANEL RETAINER 13461 GM: 20451401
150153218 CHRY DOOR PANEL GROMMET 20275
150153220 TRIM PANEL CLIP FORD TAURUS/SABLE 2000 20190 FORD: W708621-S300
150153221 FORD DOOR LOCK CLIP-LEFT 20195 FORD: YL3Z-1521971-AA
150153226 JEEP MOULDING CLIP 19894 CHRYSLER: 5FR56DX9
150153227 GM DOOR HINGE PIN 4-5/32L 17437 GM: 12338015, 14066728
150153228 FORD HEADLIGHT MOUNT BRKT 19180 FORD: F75Z-13N129-AA, XL3Z-13N129-AA
150153543 DODGE TRUCK HINGE REPAIR KIT 20544
150153544 CHRYSLER TRIM PANEL RETAINER 20515 CHRYSLER: 6505918-AA
150153547 GM TRUCK DOOR PIN & BUSHING KIT 20485
150153548 CHRY DOOR TRIM RETAINER GRAY 20427 CHRYSLER: 6505759-AA
150153549 CHRY DOOR TRIM RETAINER L GREEN 20428 CHRYSLER: 5028438-AA
150153550 TRIM PANEL RETAINER 20444 GM: 15076791
150153551 SCREW GROMMET ROCKER PANEL MOULDING CLIP 20404 MERCEDES: 000-988-86-25
150153552 VW DOOR TRIM PANEL RETAINER 20341 VW: 3B0-868-243

Body Clip Cross Reference
Article #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 26
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Article #

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150153553 GM DOOR PANEL REATAINER WHITE 20338 GM: 10421018
150153554 TOYOTA DOOR LOCK ROD CLIP-RH 20469 TOYOTA: 69293-12030
150153555 TOYOTA DOOR LOCK ROD CLIP-LH 20470 TOYOTA: 69293-12040
150153556 DOOR PANEL RETAINER W/SEALER HUMMER H2 20616 GM: 11519031
150153557 DOOR PANEL & ROCKER MLDNG TOYOTA '98-'04 20575 TOYOTA: 67771-12080
150153558 FENDER FLARE RETAINER VIBE & ECHO 20576 GM: 88969790; TOYOTA: 75867-21010
150154004 PEEL RVT 3/16 FLG 1/2 19414 FORD: W525170-S417
150154125 DRIVE TYPE RIVET 15043 GM: 14103461
150154127 DRIVE BUMPER RIVET GM 18310 GM: 22587036
150155008 MAZDA/HONDA CABLE STRAP 140MM DIA 30MM 14298 HONDA : 90672-SA0-003, 90672-SA0-0030; MAZDA : 9928-

91-053
150155011 FORD HOOD ROD CLIP 16954 FORD: 386299-S
150155020 HONDA CLIP NYLON #6 9.5X9.5MM HOLE6X6MM 14288 HONDA : 90655-SA0-003, 90655-SA0-0030
150155023 SCREW TYPE RETAINER 14987 GM: 10089262
150155024 PUSH TYPE RETAINER 410HLE 14998 GM: 15672330, 15956470
150155028 4HRY/AMC GRILL NUT NYL #8 9377 CHRYSLER: 6000943, 8934-201-263
150155029 SCREW RETAINER 14260 GM: 20426301; MAZDA : 99265-0625; TOYOTA: 90467-06017,

90467-06017-20, 90467-06017-41
150155030 RETAINING CLIP 6MM HOLE 14723 NISSAN: 62869-N4700, 76997-P7100
150155035 HONDA RETAINING CLIP 14291 ACURA : 90001-SG0-003; HONDA : 66435-648-000, 66435-

648-0000
150155036 RETAINING CLIP BLACK NYLON VW & AUDI 13202 AUDI: 801-867-299/041
150155038 #14 SCREW ANCHOR NYLON 14287 HONDA : 90656-671-6310M1
150155039 MAZDA HOOD WEATHERSTRIP 14367 GM: 96061699; MAZDA : 9924-90-512B
150155044 REAR BUMPER RETAINER 10832 CHRYSLER: 6030538; GM: 480534, 6270163
150155045 PLASTIC SHIELD RET. 78ON 10831 CHRYSLER: 3691590, 4004569, 6031321; FORD: 389258,

389358-S; GM: 332364
150155046 GM TRIM PANEL RETAINER 11721 GM: 411700
150155047 CHRY GROMMET 11720
150155049 GROMMET NUT 13930 MAZDA : 9991-00-412; NISSAN: 96706-B0700, 96706-B6700,

97606-B0700
150155051 CHRYS PAD SHLD CLIP 11146 CHRYSLER: 6030441; FORD: 388577-S, W705589-S300; GM:

1605396, 15958694
150155052 SCREW GROMMET #6 THRD 11838 GM: 1254815
150155053 TRUCK & TRIM RETAINER MB SL500 & 600 '99 20314 MERCEDES: 000-990-37-92
150155054 STONE SHIELD CLIP 11679 CHRYSLER: 3861577; FORD: 387258-S; GM: 20032850
150155056 FNDR SHLD RET 19/32 11705 FORD: 387843-S
150155057 GRL TO METL STMPG RET 11706 FORD: 387944-S
150155058 DRIVE TYPE NUT 11699 CHRYSLER: 6031390; GM: 472434
150155059 GRL ATT. NUT NYL #6 11841 FORD: N800503-S
150155060 PUSH RETNR BLK NYLON GOLF JETTA '91-'93 19195 VW: 161-867-299-01C
150155061 CHRY GRILLE RETAINER 11704 CHRYSLER: 6031383
150155062 RCKR PANEL PSH RTNR WHT NYLN VOLVO 1993+ 19249 VOLVO : 3512624-2
150155063 RCKR PNL PUSH RTNR VOLVO 850 SER 1994+ 19904 VOLVO : 9133417-7
150155069 REAR BUMPER END CAP RET. 79-5026
150155077 ROCKER PANEL CLIP 13189 AUDI: 803-853-139A
150155079 CHRY DR FRM/BMPR RET 20316 CHRYSLER: 4381395, 6501086; FORD: 388904-S
150155082 ANCHOR NUT 14366 MAZDA : 9991-00-402; MITSUBISHI: MB023930; NISSAN:

96706-89901
150155083 ROCKER PANEL CLIP 18210 GM: 25500454
150155085 ANCHOR NUT 14724 NISSAN: 96706-H2500
150155087 G.M. STONE SHIELD 82 ON 12766 CHRYSLER: 6503221; GM: 22512276



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 27

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150155088 G.M. FASCIA CLIP 82 ON 12757 GM: 5973400
150155090 DRIVE TYPE RIVET 12756 GM: 5973996
150155092 SCREW ANCHOR 14335 MITSUBISHI: 106212, MB106212, MB132008; NISSAN: 01281-

00151, 96706-H9400, 96706-K1300, 96706-K1351
150155094 MOULDING CLIP W/ SEALER NYLON BMW 13158 BMW : 51-13-1-804-205
150155095 METAL PANEL CLIP VW & VOLVO 13173 VW: N-014-389-3; VOLVO : 3104-426
150155097 8MM PUSHNUT 12259 CHRYSLER: 6501825; GM: 10009923
150155099 BLACK GRILLE CLIP 82-5539
150155100 GRILLE CLIP 17194 TOYOTA: 90467-13005
150155108 ANCHOR NUT 14265 TOYOTA: 90189-06006
150155116 TUBULAR BARREL NUT FOR 3/16 STUD 13966 CHRYSLER: 8934-201-767; FORD: D7VY-6050074-A
150155117 GM FRT FEND. SKIRT 1981ON 12567 CHRYSLER: 6504090, 34201621; GM: 14019205, 20452072
150155120 GROMMET NUT 14313 HONDA : 90662-671-003, 90662-671-0030; MAZDA : 9991-

00-503; NISSAN: 62698-V7000, 68425-H5000
150155122 NYLON U-NUT BLK #10 14750 GM: 94841226; MAZDA : LA01-56-135; TOYOTA: 53879-14010,

53879-14020, 53879-22030, 53897-22030
150155134 HOOD PROP ROD CLIP HONDA 14687 HONDA : 90677-671-003
150155135 GROMMET NUT 14281 HONDA : 90662-693-003, 90662-693-0030, 90662-693-0031;

TOYOTA: 90189-04066
150155140 COWL VENT RETAINER 13454 GM: 20511451
150155143 HOOD INSUL. CLIP NISSAN 17237 NISSAN: 65832-F5000, 65846-30F00
150155144 AIR-SCOOP CLIP 15481 CHRYSLER: 6501067
150155146 BK PLASTIC DRIVE RIVET 6M 14019 CHRYSLER: 6501590; FORD: N803421-S
150155149 HOOD INSULATION CLIP 14709 FORD: F22Z-16774-A; MAZDA : G030-68-885-B-38, GA2A-56-

694
150155152 DARK GRAY GILLE CLIP 16860 NISSAN: 62318-01W00
150155153 PUSH TYPE RETAINER 14006 GM: 20455900
150155154 GM SPARE TIRE RET HD1HL5 13994 GM: 20570245, 20635065
150155156 SCREW TYPE RETAINER 14753 FORD: N804570-S; GM: 14019205, 20590899, 20664092,

22538004
150155159 DOOR TRIM CLIP 85-5952
150155163 NISSAN SCREW TYPE RIVET 14369 MAZDA : 1395-68-676, 9926-50-635
150155171 GM BLK PLS BUMPER FASCIA 15478 FORD: N804379-S; GM: 1631564
150155172 HONDA COWL RETAINER 17287 HONDA : 90687-SB0-003, 90687-SB0-013
150155173 HONDA SCREW RETAINER 14698 ACURA : 90688-SB0-013; HONDA : 90668-SB0-003, 90688-

SB0-003
150155174 BLIND RIVET 15187 FORD: N804583-S
150155180 SCREW RETAIN CLIP-HONDA 16000 HONDA : 90675-SB3-003; MAZDA : FB01-56-964; NISSAN:

63876-95596
150155181 HOOD RETAINER 7MM 14738 TOYOTA: 90467-09008, 90467-09008-01
150155183 SCREW TYPE RETAINER 14994 FORD: N804837-S
150155185 SCREW TYPE RIVET PLASTIC 14997 CHRYSLER: 6503163; GM: 10053182
150155188 BLIND RIVET 17101 CHRYSLER: 4370138, 6503860; FORD: N804675S
150155189 HOOD INSULATION CLIP 15998 HONDA : 90700-SB2-003
150155191 GROMMET NUT 14037 CHRYSLER: 6035274; GM: 15596280
150155195 GM BMP FASCIA RET 1/4 15042 CHRYSLER: 55022134; GM: 5973996, 10077283, 14103438
150155196 DRIVE TYPE RIVET 15044 GM: 22535007
150155197 SCREW TYPE RIVET 17378 NISSAN: 01553-02741, 01553-03101
150155203 BODY SIDE CLIP 17443 HONDA : 91534-SE0-000, 91534-SE0-003
150155205 GRILLE CLIP 88-6500
150155211 INTERNAL CARPET CLIP 17453 MAZDA : B003-68-865-96
150155212 SCREW TYPE RIVET 89-6574

Body Clip Cross Reference
Article #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 28
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Article #

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150155216 DRIVE TYPE RIVET 18206 MAZDA : GJ21-68885-B69
150155222 DOOR INTERNAL TRIM CLIP 89-6586
150155224 ACURA DOOR MLDNG. CLIP 89-6593
150155226 NYLON BLIND RIVET 15490 GM: 10109689, 12337915
150155229 RIVET SCREW WITH SHOULDER 16835 CHRYSLER: 6502625; GM: 10140480
150155231 CLIP DOOR BELT MLDG PLAST 17442 HONDA : 90601-SH3-014
150155232 BODY SIDE CLIP 17440 ACURA : 91501-SG0-003
150155241 RIVET DRIVE TYPE 15522 FORD: N805231S
150155245 COWL GRILLE CLIP 18157 HONDA : 90672-671-003
150155246 RIVET DRIVE TYPE 16726 FORD: N808048-S, W705532-S300
150155252 PLASTIC RIVET SCREW 17060 FORD: E92Z-17C756-C; MAZDA : GJ21-50-034
150155255 SCREW TYPE RIVET 17081 HONDA : 91524-SE0-003
150155256 MAZ REAR LAMP ACC DOOR 90-6750
150155257 BODY SIDE CLIP 90-6752
150155259 CHRYS LP ANCH HD LT DOOR 2625
150155261 RIVET DRIVE TYPE 16622 GM: 10157900, 11517803, 15993201
150155264 SCREW TYPE RIVET 15366 FORD: E7GZ-17A904-B; MAZDA : BF67-50-033
150155269 HONDA BUMPER FACIA RIVET 17144 HONDA : 91504-SM4-000
150155270 PLASTIC SIDE MOULDING 17667
150155271 COWL SCREEN RETAINER 18859 GM: 10119816
150155272 DRIVE TYPE RIVET 18265 NISSAN: 76882-57A00
150155273 FRONT BUMPER RETAINER 90-6801
150155275 DRIVE TYPE RIVET 17162 GM: 96057846; TOYOTA: 90467-07041, 90467-07041-B2,

90467-07076-C0
150155276 DRIVE TYPE RIVET 17383 GM: 94847334, 96057847; SUZUKI: 09409-07313; TOYOTA:

90467-07066
150155279 EMBLEM GROMMET NATRL NYLON BMW '86-'01 20186 BMW : 51-14-1-902-279
150155280 FRONT BUMPER RETAINER 18153 GM: 15686142
150155299 HONDA COWL CLIP 17205 HONDA : 91501-SM4-003
150155301 RIVET TYPE SCREW 91-6952
150155302 COWL GRILLE PLASTIC RET 17634 NISSAN: 01553-01781, 27158-20100
150155303 REAR BUMPER RETAINER 17452 NISSAN: 01553-00545, 01553-01121
150155304 NISSAN FRONT BUMPER 17342 NISSAN: 01281-00441
150155307 BELT CLIP 19415 HONDA : 91527-SM4-003, 91527-SZ3-003, 91561-S84-A01
150155308 HEADLINER RETAINER 17381 FORD: N805315
150155317 ROCKER PANEL RETAINER 17096 HONDA : 91513-SM4-000
150155320 COWL GRILLE REATAINER 17192 HONDA : 91508-SM4-003
150155323 RIVET DOOR COWL 19801 GM: 21077123
150155325 RIVET DRIVE 17216 CHRYSLER: 6503598; FORD: N807389-S; GM: 15969147,

21030249
150155326 RIVET DRIVE 17222 FORD: F3LY-14570-B; GM: 21075686
150155327 RIVET DRIVE 17226 GM: 10207146, 21077323
150155328 BLIND RIVET 17220 GM: 21094747
150155339 RIVET DRIVE 17227 GM: 21077405
150155341 TAIL LAMP RETAINER 18102 CHRYSLER: 6502776; FORD: N806624-S191
150155342 RIVET DRIVE TYPE 16625 GM: 10108746
150155344 NISSAN GRILLE RETAIN CLP PL 12X16MM 87UP 17196 NISSAN: 62380-U7400
150155348 RIVET-BLIND W/SHOULD CHRY 18028 CHRYSLER: 4630088; GM: 15732202
150155349 GM RAD GRILLE RETAIN5/16X3/4X1-2/16 91UP 17599 GM: 15672328
150155351 GM INSUL RETAIN HD20MM HL8MM GR7-15 PL 93-7133
150155353 RIVET-DRIVE TYPE CHRYSLER 18029 CHRYSLER: 4630253
150155354 RIVET DRIVE CLIP 18030 CHRYSLER: 6501925; GM: 10134407



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 29

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150155356 RIVET-BLIND SEALING CHRYS 17615 CHRYSLER: 6032856; GM: 15622490
150155358 RIVET SCR TYPE COWL-CHRYS 18032 CHRYSLER: 6502573
150155361 GM RAD GRILLE FILLER PANEL 10X20 88-92 93-7193
150155362 CHRY/JEEP DRIVE RIVET 6.33X22 PL 93UP 18269 CHRYSLER: 6503106
150155363 CHRY BLIND RIVET CNTSK 6.3X17 NYL 93UP 18031 CHRYSLER: 4630088, 4630660
150155365 FORD GROMMET 4.2 TAIL LAMP ASSBLY PL79UP 11865 FORD: 389360-S; GM: 1255823
150155368 HONDA GROMMET NUT GRILLE 5X8 PL 84UP 17058 HONDA : 90676-SA7-003, 90682-SB0-003
150155369 HONDA ACCORD RAD GRILLE RETAIN PL 94UP 18457 HONDA : 91578-SV4-003
150155370 RADIATOR RETAINING CLIP 94-7220
150155372 BLACK PLASTIC RETAINER 94-7223
150155378 COWL SCREEN RETAINER 18249 CHRYSLER: 6503339
150155379 DODGE DRIVE RIVET FRT WHL WELL 5X9 94UP 94-7255
150155380 CHRY BLIND RIVET TOUGH M6.3 FLG17 81UP 18108 CHRYSLER: 34201631
150155381 DODGE BLIND RIVET SUPER NYL 6.3X13 94UP 13751 CHRYSLER: 6501559; FORD: N803862-S; GM: 10184895,

20452072
150155383 GM DRIVE RIVET 10X25 12X2.0X41 PL 94UP 18268 GM: 15959832
150155384 GM DRIVE RIVET 10X25 12X2.0X45 PL 94UP 18334 GM: 15959833
150155385 GM S-10 TRUCKS RADIATOR GRILLE CLIP 94UP 18262 GM: 15002520, 15682898, 15709521
150155387 FORD RIVET SCREW 8X18 GR3-7 PL 89-92 17632 FORD: MB455-56143; MAZDA : B092-51-833
150155394 TRUNK LINER RETAINER 18379 FORD: W701380-SSW
150155396 BK PLASTIC DRIVE RIVET 8M 18503 FORD: W701054-S300
150155397 RETAINER 1/4 INCH HOLE 17664 CHRYSLER: 6033082, 6033840; FORD: 390018-S; GM:

10121502
150155399 TRIM PANEL RETAINER 16818 CHRYSLER: 6501301; GM: 21094146
150155400 RIVETSCR 6.3X18X13 18893 FORD: N806322-S
150155401 RIVET SCR PL6.3X18X19 18894 FORD: N807578-S, N808332-S
150155402 RIVET SCR PL6.3X18X27 18895 FORD: N807577-S, N808331-S
150155403 PUSH-TYPE RETAINER 16783 NISSAN: 66824-01G00
150155405 FORD MUSTNG PL GRMT HL10M 18816 FORD: N807994-S
150155408 IMPORT SCREW TYPE RIVET 14697 GM: 94198687; HONDA : 90657-SA6-003, 90657-SA6-0030;

MAZDA : N304-13-356-A
150155409 94 INTEGRA WHT PL BUMPR C 18456 ACURA : 90661-ST7-003
150155411 GM BLK PLS DRIVE TYPE RIV 16816 GM: 21047094, 21110145
150155412 SATURN BLK PLS FRNT FASCI 17616 GM: 21077131
150155413 SATURN BLK PLS DRIVE RET 18896 GM: 21095797
150155415 METAL FRNT BUMPR RET 19147 NISSAN: 62228-51S00
150155416 METAL CLP FRNT BUMPR 95-7493
150155417 GM BLK PLS BUMBER CLIP 18301 CHRYSLER: 6503768; GM: 10185925
150155418 GM FRNT BUMPER FASCIA RET 20332 CHRYSLER: 6033018; FORD: N803678-S; GM: 10182300
150155419 GM PUSH IN TYPE RETAINER 96-7504
150155420 GM BLK PUSHIN TYPE RET 18298 GM: 22536642
150155421 HOOD INSULATION 6MM HOLE 18458 FORD: F1CZ-16774-A; MAZDA : B455-56-741
150155422 CHRY SCR RIVET PL HL7HD12.5X30GR2- 14995 CHRYSLER: 4696488; FORD: N805026S; GM: 10195515
150155424 96 CIRRUS GROMMET NUT 12569 CHRYSLER: 6501773; FORD: N801706-S; GM: 20097200
150155427 COWL GRILLE RET M7 T80 18165 HONDA : 91508-SR3-000
150155428 DR RVT BMP BLK 6X15 19248 VOLVO : 1268176-3
150155429 SEAT PNL RET8.5X12.6 18294 HONDA : 91566-SP0-003
150155431 TRIM CLIP FORD 15668 FORD: N803387-S, N803387-S300
150155432 DODGE H/L MNT 6.5X25X29.7 18771 CHRYSLER: 6502104
150155433 PANEL 9MM HOLE 19441 FORD: F1TZ-7810182-A, F57Z-7810182-AAA
150155441 GM FRT BMP RET M7 17.5X37 96-7588
150155445 REAR BUMPER COVER RET. TOYOTA 18873 TOYOTA: 52161-02020, 52161-16010

Body Clip Cross Reference
Article #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 30
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Article #

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150155447 GM RAD BAFFLE RET BLK 18389 GM: 25603960
150155448 HOOD SEAL RETAINER 19338 CHRYSLER: 6504098; FORD: N808842-S
150155449 MOULD RETAIN 97-7626
150155450 BUMPER COVER FRONT & REAR 18685 GM: 3548804
150155455 GM MALIBU DRV RVT M9 97-7687
150155456 GM DRV RVT REAR FASC M6 16624 GM: 1636632, 20687704
150155458 STEPWELL MOULDING CLIP 19421 FORD: F7UZ-1513284-BA
150155459 TOYOTA FNDR SPLSH SHLD 17X11 97-7710
150155461 SCR RVT FNDR M7 FLG20 19128 GM: 96064506; TOYOTA: 90467-07044
150155462 DRIVE RIVET FRT FENDR 18888 TOYOTA: 90467-07166
150155463 PSH TYPE RETAINR INTO 8MM 19118 HONDA : 91501-S04-003
150155464 HNDA HOOD SL RET 9X12X9 19114 HONDA : 91518-SM4-003
150155465 CHRY FND MOULD GROMM 8X11 97-7722
150155468 DODGE BLND RVT BLK NYL 18913 CHRYSLER: 6503938
150155469 NISSAN WHL FLARE GROMMET 97-7734
150155470 NISSAN PATHFNDR WHL FLARE 97-7736
150155471 GM LIFTGATE SCUFF PLATE 19523 GM: 10271562
150155472 OLDS COWL VENT RETAINER 19530 GM: 10281610
150155473 BUMPER COVER RETAINER 17003 FORD: F32Z-17C756-S; MAZDA : GJ21-50-049
150155475 FORD BLIND RIVET ALUM. 19516 FORD: N804851-S100
150155476 BLIND RIVET ALUM. 19396 FORD: N808426-S100
150155477 DRIVE RIVET FRT BUMP 98-7762
150155479 NISSN BUMPR RETAIN 10X18 19246 NISSAN: 01553-09241
150155480 TOYOTA LUGGAGE COMP RETAIN 98-7767
150155484 CHRY RADIATOR GRILL RET. 19339 CHRYSLER: 4676356
150155485 FORD RIVET SCREW PL M6 98-7785
150155486 PSH-TYPE RETAINR INTO 9MM 17988 LEXUS : 90467-09143
150155488 BUMPER COVR FITS INTO 9MM 17206 TOYOTA: 90467-09145
150155490 GM GARNISH MOULDING CLIP 19519 CHRYSLER: 6502988; GM: 16662182
150155491 COWL RETAINER PH REC. 19237 FORD: W701649-S, W704881-S300
150155494 CHRY PIN DRIVE RIVET 19422 CHRYSLER: 6504521
150155496 JEEP PIN DRIVE RIVET 18327 CHRYSLER: 6503454
150155497 HONDA BELT MOULD CLIP RED 20272 HONDA : 91589-SV4-003
150155499 LEXUS ES300 LOW QRT PNL 19120 LEXUS : 75039-33060
150155500 ACURA BUMPER PUSH RET 19233 ACURA : 91503-SZ3-003; HONDA: 91503-SZ3-003
150155501 BLIND RIVET MULTI GRIP 19406 CHRYSLER: 6035414
150155502 WHEEL APRON RETAIN PL 19194 TOYOTA: 90189-06028
150155503 FORD ROCKER PNL GRD EFF 98-7844
150155504 BMPR CLIP 19369 GM: 3543865
150155505 DODGE BUMP CVR RETAIN 19245 CHRYSLER: 5BB14LX9
150155506 GM DRIVE RIVET PL 19355 GM: 15960621
150155507 NISSAN DRIVE RIVET REUSABLE 19274 NISSAN: 01553-09321
150155508 PUSH TYPE RETAINER 7MM 18270 LEXUS : 90467-07117
150155509 HONDA BELT MLD CLIP GRN 19359 HONDA : 91531-ST0-003
150155511 HONDA BELT MLDNG CLIP YEL 98-7859
150155512 HONDA DRIVE RIVET F&R 20564 ACURA : 91503-SZ5-003; HONDA : 91503-SZ5-003
150155513 HONDA GROMET NUT M4 7X10 98-7861
150155514 HONDA/ACU DRIVE RIVET M8 19239 ACURA : 91512-SX0-003; MITSUBISHI: MU000319
150155515 BMW7 DRIVE RIVET TRUNK 20270 BMW : 51-48-1-938-725
150155517 VW COWL VENT SCR PL 98-7867
150155520 GM DRIVE RIVET REAR BUMP 19615 GM: 15153415
150155521 CHRY RETAINER PIN FRT FAS 19641



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 31

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150155525 FORD MUD FLPS RETAIN6.3X18 20192
150155526 BMPR CVR RET 5X13 18682 GM: 10098645
150155528 GM INT TRIM RET 1/4X23/32 98-7887
150155531 JEEP BLND RVT SS 3/16X3/8 19751 CHRYSLER: 6035122
150155534 GM BLIND RIVT ALU/ALU 18732 GM: 9434229
150155535 GM WIRE HARNESS CONVL 6.3 19795 GM: 12015631
150155536 GM WIRE HARNESS CONVL 6.3 19440 GM: 12040984
150155537 FORD PARK & TURN HOUS RETNR 19783 FORD: N811169-S, W705550-S300; TOYOTA: 90075-10801,

90075-10805, 90189-06111
150155538 HONDA REAR BMPR RETAIN 19470 HONDA : 90108-SW3-003, 90109-SW3-003, 90418-SW3-003
150155539 DRIVE RIVET COWL GRIL 19552 TOYOTA: 90467-07146
150155540 HONDA SCR RIVET 6.6X15X13 19142 HONDA : 91550-SH3-003
150155541 HONDA REAR BUMP GROM 19650 HONDA : 90106-SW3-003
150155542 GM DRIVE RIVET FRT 10X25 PR3.5-7 98UP 15045 GM: 10053388, 22542705
150155544 COWL RETAIN 52X14 19517 FORD: N811849-S300
150155545 CHRY COWL VENT GROM 19785 CHRYSLER: 4805119
150155548 GM DRIVE RIVET M6.3 FLG19 18308 GM: 3540858
150155550 PONT FRNT BUMP FASC CLIP 19732 GM: 22615352
150155551 HONDA DRIP RAIL CLIP WHT 99-7931
150155553 FORD KICK PANEL RETAIN M7 19760 FORD: N807535-S
150155554 GM SCRW RIVET M5X11 19788 GM: 10246149, 22657634
150155556 DRIVE RIVET 10.5X12.5 19607 FORD: XL3Z-17E971-AA
150155557 U Nut #8 (M4.2) 19809 CHRYSLER: 6504870AA
150155559 FORD FND LIP MOULD RETAIN 99-7991
150155574 NISSAN FRONT BUMPER CLIP 17472 MITSUBISHI: MB547806; NISSAN: 63854-01A00
150155575 CLIP VINYL SHIELD RADIATO 12137 GM: 1619321
150155576 GROMMET NUT 14274 HONDA : 75521-611-000, 75521-611-0000; MAZDA : 9991-00-

601; NISSAN: 96706-P0105; TOYOTA: 90189-06010
150155577 NISSAN ANCHOR CLIP 14256 TOYOTA: 90189-04014
150155578 FRONT BUMPER CLIP 16306 TOYOTA: 90183-03001, 90468-04038
150155580 BODY MOULDING CLIP 14273 TOYOTA: 90189-06005
150155581 NISSAN COWEL PANEL CLIP 16859 GM: 94051993; NISSAN: 66860-01W01
150155582 DRIVE TYPE RIVET 13993 CHRYSLER: 34202672; GM: 20510029
150155583 GM RETAINER CLIP 15367 GM: 20514862
150155584 SCR RIVT FASCIA/GRIL FORD 14953 FORD: N803494-S
150155585 FORD RETAIN PL FASCIA HL5 HD10 84UP 14021 FORD: N803170-S
150155586 SCREW TYPE RIVET 14696 GM: 30012018; HONDA : 90684-SA5-0030; ISUZU :

8942981190; NISSAN: 10998-30880
150155587 NISSAN DRIVE RIVET M5PR1-4 FACE8X12 86UP 16725 NISSAN: 66814-01G00
150155588 BUMPER STRIP CLIP 16671 MITSUBISHI: MB325299; TOYOTA: 90468-04030
150155589 ROCKER PANEL NUT 14357 MAZDA : 9991-00-501
150155590 COWL TOP CLIP 14282 HONDA : 90687-SA5-003, 90687-SA5-0030
150155591 GM RADIATOR GRILL RIVET 14993 CHRYSLER: 4638136; GM: 20664092, 22538004
150155592 3/16 RIVET FORD LP FRAME 17121 FORD: N805592-S100; GM: 25618730
150155593 RIVET SCREW TYPE SILL PL. 17057 HONDA : 90505-SM4-003
150155594 LEXUS BUMPER COVER 17439 TOYOTA: 90467-09093
150155595 RIVET DRIVE TYPE RETAINER 17347 NISSAN: 01553-06721
150155596 RIVET SCREW TYPE - HONDA 17379 HONDA : 91512-SM4-003
150155597 RIVET TYPE SCREW 17267 ACURA : 91503-SP0-003
150155598 BLIND RIVET 17639 CHRYSLER: 6035201; FORD: N806830-S100
150155600 IMPORT DRIVE TYPE RIVET 16782 HONDA : 91545-SE0-003, 91545-SE0-003-W1; NISSAN:

63848-01G00

Body Clip Cross Reference
Article #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 32
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Article #

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150155602 NISSAN BLACK CLIP 5MM 14276 TOYOTA: 53879-22010
150155603 HONDA BUMPER FACIA RIVET 17143 HONDA : 91502-SM4-000
150155606 INNER PANEL CLIP 17385 NISSAN: 63848-D4000, 63848-D4001
150155607 PANEL FASTENER 10621 GM: 2064891, 9818648, 9883583, 15600382
150155608 GENERAL PURPOSE CLIP 14695 HONDA : 90661-SC7-003, 90661-SC7-0030, 90684-SA5-003;

MAZDA : H001-50-841; MITSUBISHI: MS480012; NISSAN:
01281-00231, 01651-00481, 74798-S9000; TOYOTA: 90189-
06042

150155609 WHEEL HOUSING MLDING#8-16 72-3572
150155610 COWL RETAINER 11612 CHRYSLER: 4006516; FORD: 388246-S; GM: 20413107,

25016383
150155611 GM NOVA/TOYOTA TRIM PANEL CLIP 85UP 14269 GM: 94226492; ISUZU : 8942264920; MAZDA : 9927-40-825;

TOYOTA: 67771-12010, 67771-12010F
150155613 RET. FRONT FACIA ATTACHED 14010 GM: 14045480
150155614 DRIVE TYPE RIVET 14020 CHRYSLER: 55176248; FORD: N802781-S; GM: 14093088
150155616 HOOD INSUL RETAINER 19323 MITSUBISHI: MU481187
150155617 HON/MAZ PUSH TYPE RET 19416 TOYOTA: 90467-09139
150155620 HONDA BUMPER FASCIA GROM 19454 HONDA : 90651-SL9-013, 90651-SL9-0130
150155622 TOYOTA PUSH TYPE RETAINER 19490 TOYOTA: 90467-06150
150155625 ACURA/HONDA TRUNK LIN RET 19506 ACURA : 90666-SA7-003ZW
150155626 ACURA MOULDING CLIP 19507 ACURA : 91504-SP1-003
150155628 DOOR BELT MOULD CLIP 19531 TOYOTA: 68211-06020
150155629 HONDA SCREW GROMMET 19533 HONDA : 90107-S10-003
150155638 HONDA HEADLINER RETAINER 19674 HONDA : 90671-SB3-003YF, 90671-SX3-003YF
150155640 HONDA HOOD SEAL RET BLK 19682 HONDA : 91518-S10-003
150155642 FENDER LINING SCREW GROM 19721 TOYOTA: 90189-06157
150155644 HOOD INSUL RET 19729 TOYOTA: 90467-09050
150155645 HONDA BUMP GROM #10 SCREW 19734 HONDA : 90107-SX0-003
150155646 BUMP COVER PUSH RET 19739 TOYOTA: 90467-09127
150155648 FEN LIN SCREW GROM#12 19742 TOYOTA: 90189-06104
150155649 HONDA TRUNK TRIM RET 98ON 19744 HONDA : 90669-SP0-003ZA
150155652 FEN LIN SCREW GROM#12 19756 TOYOTA: 90189-06214
150155653 DOOR MOULD W/SEALER 19797 TOYOTA: 90080-46269, 90467-10077
150155654 ROCKER PANEL 97 ON 19842 TOYOTA: 75867-30110
150155656 T-GATE LINING PUSHRET 19546 HONDA : 91570-SK7-003ZF, 91570-SKF-003ZF
150155668 CHRY/ INT.TRIM RETAINER 20273 CHRYSLER: 5GC71RC3AA, 5GF92RC3AA; FORD: N808791
150155669 FEND/BUMP RETAIN 20247 CHRYSLER: MR200300
150155670 CHRY DOOR PANEL RETAINER 20274
150155671 FORD PUSH RETAINER 20191 FORD: YS4Z-16K262-AA
150155675 GM PUSH RETAINER 20244 GM: 25707329
150155676 FORD NYLON NUT #8-6MMHOLE 20245 FORD: N806334-S
150155678 GM TRUNK TRIM RETAINER 20262 GM: 22642756
150155679 GM GARNISH MOULDG FASTENR 20268 GM: 15748479
150155680 TOYOTA ROCKER PANEL PUSH 20196 TOYOTA: 90467-06133-CO
150155683 #10-24X3/4 UNIVSL MLDGCLP 19378
150155684 TOYOTA FENDER CLIP-BLUE 20390 TOYOTA: 90904-67036
150155685 TOYOTA FENDER CLIP-RED 20391 TOYOTA: 90904-67037
150155687 TRIM PANEL CLIP 20381 HONDA : 90667-671-013ZA; MITSUBISHI: MC440901;

NISSAN: 62660-48600-1
150155688 FORD EXPED/EXPL/MTN'EER CLIP 20392
150155689 HONDA TRUNK PAD RETAINER GRAY 20334 HONDA : 90667-S0D-003ZC
150155690 FORD FRONT END CLIP 20355 FORD: W705849-S300



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 33

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150155691 FORD ROCKER PANEL CLIP 20358 FORD: F6DZ-5410182-AA
150155692 FORD ESCAPE HOOD RETAINER 20399 FORD: W701374-S
150155693 GM BUMPER RETAINER 20362 GM: 15056810
150155694 TOYOTA FENDER LINER RETAINER 20335 TOYOTA: 53879-60010
150155695 HONDA REAR PANEL RETAINER 20352
150155696 FORD BUMPER COVER RETAINER 20367 FORD: W706713-S300
150155697 FORD DOOR PANEL RET. WHITE 20363
150155698 COWL VENT RETAINER 20365 GM: 10301966, 10425306
150155699 FORD RADIATOR GRILL CLIP 20400 FORD: YF4Z-8194-AA
150155700 SCUFF PLATE RETAINER 20403 BMW : 51-47-1-840-960
150155701 MOULDING CLIP 20429 TOYOTA: 90467-11100
150155702 ROCKER PANEL MOULDING CLIP 20405 VOLVO : 9151649-2
150155703 HONDA DOOR MOULDING CLIP 20340 HONDA : 91501-S5A-003, 91501-S5D-A01
150155704 NISSAN BUMPER RETAINER 20348 NISSAN: 63878-01E10
150155705 NISSAN BUMPER CLIP 20349 NISSAN: 01553-09611
150155706 CHEVROLET ROCKER PANEL MOULDING CLIP 20377 GM: 10443956, 11518357
150155707 CHEVROLET ROCKER PANEL MOULDING CLIP 20328 GM: 10443956
150155708 NISSAN BUMPER FASCIA PUSH TYPE RETAINER 20327 NISSAN: 63848-9E001
150155709 HOOD INSL/RADIATOR SEAL 20407 VOLVO : 9133073-8
150155710 ROCKER PANEL MOULDING CLIP 19820 GM: 22603384
150155712 VOLVO RADIATOR CLIP 20406 VOLVO : 1372920-7
150155714 MAZDA FRONT & REAR FENDER RETAINER 20465 MAZDA : UB39-45-919
150155715 FORD HEADLIGHT & DECK LID RETAINER 20516 FORD: W706182-S300
150155716 TOYOTA DOOR PANEL RET. W/ SEALER 20473 TOYOTA: 67771-12070
150155717 CHRYSLER RADIATOR GRILL FASTENER 20526 CHRYSLER: 4805570-AA
150155718 SCREW GROMMET DOOR MOULDING CADILLAC 20584 GM: 25647358
150155719 PUSH RETAINER FRONT BUMPER COVER GP 20631 GM: 11588988
150155720 ROCKER MOULDING CLIP GRAND PRIX 20607 GM: 10323057
150155721 ROCKER PANEL FASTENER GM S & T TRUCKS 20619 GM: 15046306
150155722 BMPR CVR & GRNSH MLDNG RTNR 20580 MITSUBISHI: MR478262
150155723 AIR CABIN FILTER FASTENER TAURUS & SABLE 20546 FORD: N808342-S307
150155724 BMPR CVR GRNSH RTNR W/SLR 20581 MITSUBISHI: MR478263
150155725 PANEL RETAINER VIBE '03-'04 TOYO '00-'04 20577 GM: 88970494; TOYOTA: 90467-07168, 90467-07168-C1
150155726 ROCKER MOULDING RETAINER VIBE & COROLLA 20578 GM: 88970495; TOYOTA: 76924-52021
150155727 COWL VENT GROMMET W/SEALER MAZDA '04 20579 MAZDA : FD02-50-798
150155728 BODY SIDE MOULDING CLIP W/SEALER HYUNDAI 20566 HYUNDAI: 87756-2D000
150155729 BODY SIDE MOULDING CLIP W/SEALER HYUNDAI 20567 HYUNDAI: 87756-38000
150155730 ROCKER PANEL CLIP W/SEALER HYUNDAI '04 20568 HYUNDAI: 87758-3D000
150155732 PANEL RETAINER MONTERO '01-04 (MB846992) 20572
150155733 HEADLINER NYLON NUT MONTERO '97-'04 20573
150155734 GARNISH MOULDING RETAINER LEXUS & TOYOTA 20558 TOYOTA: 62217-13010
150155735 GARNISH MLDNG RETAINER VIBE LEXUS TOYOTA 20559 GM: 88970345; TOYOTA: 90467-10167
150155736 DOOR PANEL RETAINER ALERO & GRAND AM '04 20634 GM: 10363811, 22722859
150155737 TRIM PANEL GRMMT W/SEALR ALERO &GRAND AM 20635 GM: 22722860
150155738 HEADLNR RETNR JEEP LIBERTY 2002-2004 20622 CHRYSLER: 6506311-AA
150155739 BUMPR RETNR W/SEALER HONDA '01-'04 20603 HONDA : 71592-S5D-000
150155740 FRONT BMPR RETNR FRONTIER XTERRA '98-04 20613 NISSAN: 63848-40Y00
150155741 HOOD INSL RETNR ACURA HONDA 2004-2000 20609 HONDA : 91501-S1K-003
150155742 COWL VENT RETAINER ACCORD '03-'04 20611 HONDA : 90602-S7S-003
150155743 COWL VENT GROMMETW/SLR ACCORD '03-'04 20612 HONDA: 90603-S7S-003
150155744 DOOR TRIM RETNR GRAY NYLON MALIBU 2004 20666 GM: 22677979, 22677980
150155745 DOOR PANEL RETAINER MALIBU 2004 20664 GM: 11509030

Body Clip Cross Reference
Article #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 34
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Article #

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150155746 SPLIT TYPE RIVET 5/32"DIAM ALM CHRY99-04 20629 CHRYSLER: 6036148-AA
150155747 ROCKER PANL MOULDING CLIP MUSTANG 01-04 20663 FORD: F57Z-16241-AB, W709767-S300
150155748 WHEEL OPENING MOULD CLIP GREEN NYLON 20617 GM: 10242602
150155749 COWL VENT GROMMET CHRY MINIVAN 2004 20667 CHRYSLER: 4860375-AB
150155750 TRIM PANEL RETNR ALTIMA INFINITI 97-04 20669 NISSAN: 01553-07111
150155751 TRIM PANEL RETNG CLIP FRONTIERXTERR00-04 20671 NISSAN: 01553-0052U
150155752 REAR BUMPER RETNR W/SLR QUEST 2004 20674 NISSAN: 85284-AD005
150155753 SCREW GROMMET REAR BUMPER COVER 20517 FORD: W707606-S300
150155754 HOOD INSL RETAINER BLK NYLON 20543 HYUNDAI : 81126-37010
150155755 DOOR LOCK ROD CLIP LEXUS TOYOTA '90-'03 20534 TOYOTA: 69293-12050
150155756 DOOR LOCK ROD CLIP LEXUS TOYOTA 90-03 20535 TOYOTA: 69293-12060
150155757 ROCKER PANEL BUMPER FASCIA CLIP BLK NYL 20523 CHRYSLER: 55156429-AA
150155758 DOOR TRIM PANEL RETNR JEEP LIBERTY 02-03 20563
150155759 TRIM PANEL RETNR NYLON & RUBBER 20545
150155760 REAR LIGHT HOUSING LOWER GROMMET 20527 GM: 15745990
150155761 REAR LIGHT HOUSING UPPER GROMMET 20529 GM: 15745991
150156007 HEADLAMP BEZEL NUT 8419 CHRYSLER: 2524525
150156011 ADJUSTING NUT 9851 GM: 3921446
150156017 HEADLAMP ADJUSTING SCREW 11243 GM: 343555
150156020 GM HEADLAMP BEZEL NUT 64-76 12735 CHRYSLER: 6029501; GM: 1370853; VW: 155-809-966, 179-

813-883
150156021 HEADLAMP BEZEL NUT G.M. 11691 GM: 3919773, 22649878, 22649879
150156022 ADJUSTING BEZEL NUT 13933
150156025 HEADLAMP ADJUSTING SCREW 11826
150156028 HEADLAMP ADJUSTING SCREW 11667 GM: 556539
150156030 HEADLAMP ADJUSTING SCREW 11655 GM: 557057, 559312
150156036 HEADLAMP ADJUSTING SCREW 11869 FORD: D8BB-13M093-AA, D8BZ-13032-A, D8BZ-13032-B
150156037 GM HEADLIGHT PANEL RETAIN 12136 GM: 25501771
150156038 ADJUSTING BEZEL NUT 13960 GM: 14013246
150156041 GM HDLMP ADJ ASSY SLTD 12605 GM: 557057, 22512857, 22513813
150156045 HEADLAMP SPACER 16951 TOYOTA: 81124-89101
150156047 CLIP GRILLE/HEADLAMP PLAS 17195 GM: 94218027; ISUZU : 8942180270; MAZDA : B092-50-715;

MITSUBISHI: MB153825; TOYOTA: 90467-13011
150156048 HDLIT COMP RET. 15940 FORD: E9DB-13N020AA, E9DZ-13N129-A
150156053 HEADLAMP ADJUSTING SCREW 89-6710
150156066 UPPER PIVOT 16402 FORD: E7TB-13A093-AB, E7TZ-13032-A
150156077 BMW HEADLAMP COVER 17645 BMW : 51-71-1-916-197
150156084 HEADLAMP ADJUSTING BAR RE 18263 FORD: F37Z-13N129-A
150156086 DODGE RAM BL PL HDLMP GKT 18248 CHRYSLER: 55055098
150156092 GM BLIND RIVET STEEL 19395 GM: 15022087
150156094 GM PIVOT SCKT HDLMP ADJ 19549 GM: 16506617
150156101 GM DOOR HINGE PIN PHOS 4 LONG 19183 GM: 20043351, 20043361
150156108 RADIATOR WHEEL HOUSE FENDER PUSH RETAIN 19639 CHRYSLER: 6506008AA; GM: 15149708
150156111 DOOR BELT MOULDING CLIP FORD 95-98 19752
150156112 FENDER AND ROCKER PANEL PUSH RETAINER 19787 GM: 22657634
150156113 ROCKER PANEL MOULDING CLIP CHEVY 2000 19800 GM: 10437565
150156116 ROCKER PANEL MOULDING CLIP CHEVY 2000 19821 GM: 10431761
150156117 BUMPER PUSH RETAINER FORD 2000 19849 FORD: W706494-S300
150157004 HOOD INSULATION CUP GM 11130 GM: 3078511, 3977775
150157006 HOOD INSULATION FASTNER 11136 CHRYSLER: 6003351; FORD: 385330-S, D3OZ-16776-A
150157011 RETAINER HOOD INSULATION 14163 FORD: 388908-S
150157013 HOOD BUMPER 15453 GM: 472450, 12338034



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 35

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150157015 HOOD INSULATION RETAINER 17004 CHRYSLER: 4341060
150157017 HOOD ADJUST BUMP 16849
150157018 HONDA WASHERHOSE RETAINER 16949 HONDA : 90652-SB2-023
150157019 HOOD ADJUST 6M 16850
150157020 HOOD BUMPER KIT 16832 FORD: E83Z-16758-A, N805083-C
150157023 HOOD ROD RETAINER 91-6984
150157026 1 INCH HOLE PLUG 11749
150157027 HOOD INSULATION RETAINER 17215 GM: 15678493, 21039141
150157028 HOOD INSULATION RETAINER 17975 CHRYSLER: 6502842; GM: 21039129
150157031 HOOD INSULATION RETAINER 20319 FORD: W700671-S300
150157033 HOOD INUL RETAIN 16863 FORD: N803613-S
150157034 PLUG FLUSH HEAD 1/2 11746
150157035 5/8 PLUG FLUSH BLACK 18750
150157037 3/4 PLUG FLUSH BLACK 11747
150157038 7/8 PLUG FLUSH BLACK 11748
150157039 HOOD PROP ROD CLIP 17611 TOYOTA: 53452-90351
150157040 ACURA HOOD INSUL BLK 7.5 18746 ACURA : 90700-SJ4-000
150157042 HOOD PROP ROD CLIP 97-7639
150157044 HOOD INSUL PL M7 19113 TOYOTA: 90467-08124
150157045 HOOD INSUL RETAIN M7 19112 TOYOTA: 90467-09004, 90467-09004-01
150157046 HOOD INSUL RETAIN 18827 CHRYSLER: 6503892
150157049 HOOD INSUL RETAIN M7 18842 TOYOTA: 90467-09006
150157053 HOOD INSULATION FASTENER 19655 FORD: 386553-S
150157055 FORD ROOF/TRIM RETAIN-TAN 19354 FORD: N807155-S
150157057 GM TRIM PANEL RETAIN-TAN 19501 GM: 10249241
150157059 GM TRIM PANEL RETAINER 19527 GM: 10408480
150157062 HOOD INSUL RETAIN-CHRYS 19541 CHRYSLER: 6504135
150157065 WETHRSTRIP RETAIN FD 95UP 19678
150157066 TRIM PAN RET W/SEAL PONT 19758 GM: 25704141, 25762391
150157069 TRIM PAN RET W/SEAL-CHEVY 19775 CHRYSLER: 55350747-AB
150157073 HOOD INSUL RET-CHRY 97-00 20164 CHRYSLER: 4878883-AA
150157074 TRIM PAN RET-CHRYS 97-00 20165 CHRYSLER: 4658887
150157080 FENDER LINER/ MUD FLAP RETAINER 20366 FORD: W701855-S300
150157081 FENDER LINER RETAINER BONNEVILLE '00-'04 20615 GM: 11517992
150157082 HEADLINR RETNR EXPDITION NAVIGATR '03-04 20625 FORD: XW7Z-6302354-AAB
150157083 GRILL MOUNTING RTNR ELEMENT '03-'04 20608 ACURA : 91503-S0K-A01
150157084 FENDER FLARE RTNR EXPEDITION & NAVIGATR 20624 FORD: W709002-SAA
150159002 FORD ANCHOR 14756 CHRYSLER: 6033677; FORD: 379830-S, 383356-S
150159005 GM BODY BLT HX WASH HD 12343 GM: 11504982
150159007 GM BUMP BLT ZN UNCAP HD 11770 GM: 490067
150159008 BUMPER BOLT FORD 5/16X3/4 9853 FORD: 376337-S100
150159018 FORD FASCIA TO BUMPER 12571 FORD: 389443-S
150159025 FLAT NUT PHOS 1/8 STUD SZ 2099
150159026 FLAT NUTS 100 OZ 3/32 1914
150159027 FLAT NUTS 3/16 2103
150159033 GM FENDR BRKT RET NUT #8 19264 GM: 22642007
150159034 TAP SCR 5/16-12X7/8 10364
150159035 FLANGE LOCKNUT M6X1.0 15316 FORD: N620480, N620480-S2A
150159037 HEX HD SEMS 13 HEX 24 WSH 13704
150159039 HX HD/CONICAL WASH 5/16X1 11320
150159040 3M BODY BLT HX HD SEMSr PHOS M6-1.0X25 12066 GM: 11503982
150159042 #14X5/8 HEX SEMS W/WASHER 12057 GM: 11500994, 11509371

Body Clip Cross Reference
Article #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 36
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Article #

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150159043 SLF-TAP PHIL WSH HD BLK#8 13712 GM: 11505104
150159047 BODY BLT HX HD SEMS 9480 CHRYSLER: 6025329
150159049 FORD FENDER 6X1.0X28MM/8M 12335 FORD: N606677-S36
150159052 HEX HEAD M 4.2 X30MM 19653 FORD: N811534-S61
150159054 HEX HD SLF-DRILL 4.2X20 15775
150159055 RD WSH HD TEK 4.2 X 25MM 19006
150159056 HX HD S-TAP SC 6X1.0X20MM 12324 GM: 11503800, 11517517
150159059 4.2X16 HX SCR W/SPIN12WAS 12741 GM: 11503395, 11509374
150159060 GM BODY BLT 5/16-18X3/4 10084
150159063 HEX HEAD BOLT6X30MM 13618 GM: 11503825, 11505209
150159074 HOG RING LARGE 500/BOX 7644
150159075 HOG RING MED 500/BOX 7595
150159077 IND HEX HD SEMS 4.2X13 15721 GM: 11504010
150159079 FREE SPNG WSH NUT 10X1.5 15337 FORD: N621942-S301
150159080 HEX WSHR HEAD 6-1.0X14MM 12341 FORD: N605771-S100, N605771-S2
150159083 TUBE/CABLE ROUTING CLIP 14378 MAZDA : 9927-70-901
150159088 PLAST ANCHOR #10SCR 5228 GM: 3783006
150159089 CHRY L/P NUT NYLON 1/4#14 8242 CHRYSLER: 6023925
150159090 REAR LICENSE PLATE NUT 8418 GM: 380370
150159091 BODY BOLT WSH HD BLK M6 12345 GM: 11503792
150159093 TRIM PANEL RETAINER 10X4 18166 NISSAN: 80875-85E00
150159098 BUMPER GROMMET 18415 HONDA : 71144-SR3-A00
150159100 TUB NUT GRN W/SEAL 1/8 11293 FORD: 375890-S102
150159104 U SPEED NUT#10 .015-.06RN 11429
150159113 U NUT PHOS 1/4-20 2293 GM: 9431647, 22529733
150159117 SPIN WASH NUT PHOS 15329 CHRYSLER: 6100048, 6500284
150159118 3/8-16 SPIN WASH HEX NUT 15351 FORD: 376785, 376785-S2
150159122 HEX NUT SPIN WASH 1/4-20 15347 CHRYSLER: 6025005; FORD: 45332
150159123 5/16-18 SPIN WASH HEX NUT 15350 CHRYSLER: 6025007
150159125 GM CLIP BLCK NYLON #6 14002 GM: 16503329
150159127 FORD CLIP SZ 8 OR 10 NUT 9862 FORD: 379830-S
150159129 HOOD PROP ROD CLIP 14732 TOYOTA: 53455-14020
150159144 TAP SCR PH PAN HD SEMS 12818
150159145 TAP SCR CHROM #8X5/8 PH 2806
150159146 HEX HD SCREW/WSH 4.2X20 12738 GM: 11504056, 11513801
150159147 POSIDRIVE SCR-CHR4.2X12MM 12739 GM: 11501794
150159148 GM BDY BLT HX HD SEMSr PHOS M10-1.5X30 13619 GM: 11504565, 11516942, 11517706
150159149 SLF-TP PHI WASH HD 4.2X10 12062 GM: 11501903
150159150 SF-TAP PHI WASH HD 4.2X13 12059 GM: 11501883
150159156 PLASTIC PLUG 1/2 9288
150159157 PLASTIC PLUG 7/8 9290
150159158 PLG BUTTON PL HL1 HD1-3/8 9291
150159159 PLASTIC PLUG 1 1/4 9292
150159163 PUSH ON RETAINER 3/8 9298 CHRYSLER: J4004175
150159164 7/16 PUSHNUT 9297 CHRYSLER: J4004354
150159165 PUSHNUT BOLT RETAINER ZN 12122 CHRYSLER: 6100839
150159187 FLSH WSH OVAL HDSMS 8X114 10654 FORD: 376988-S2, N804992-S58
150159190 FLAT PUSH ON WASHER 1/8 8863
150159191 FLAT PUSH ON WASHER 5/32 8864
150159192 FLAT PUSH ON WASH 1/4 8868
150159194 FLAT PUSH ON WASH 3/16 8865 CHRYSLER: 6031147
150159225 GLASS STOP RIVET 1/4 12658 FORD: 389268-S-100; GM: 12338153, 20184399



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 37

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150159226 GM REAR HOOD SEL RET BLK 14036 GM: 14074081
150159238 SPRING NUT #8 10065
150159239 SPRING TYP U NUT 9/16 15752
150159240 U NUT #8 9879 FORD: 381863-S2; GM: 9433155, 9440178, 11504531
150159241 U NUT PHOS #8 PR.025-.150 HL 3/8 9880 FORD: 381818-S2; GM: 9424837, 15650655
150159243 FORD ENG & HEATSH.RET CLIP 14757 FORD: N804448
150159244 PUSHNUT 1/4 3405
150159245 PUSHNUT 1/8 ID 5/16 HEX 2895
150159246 PUSHNUT 1/4 7/16 WRENCH 2897
150159247 PUSHNUT 3/16 W/3/8 HEX 2896
150159264 SPRING NUT U #6 10064
150159270 CHRY/GM UNI MLDNG FASTNR 2752 CHRYSLER: 1758099, 6000720, 6010046; GM: 3744999
150159273 CHRY/GM UNI MLDNG FASTNER 2744 CHRYSLER: 1624705, 6010093; GM: 4689929, 4778814
150159276 VOLVO ALU/BLK BUMPR RIVET 19376 VOLVO : 979878-6
150159280 WSHR LOCK NUT ZN WR10MM 12254 CHRYSLER: 6100775; GM: 11501814, 21011332
150159282 SLTF THR NUT ZN M5X10X15 12116
150159283 WELL NUT M5-0.8 GM#22520368 LUGGAGE RACK 16239 GM: 22520368
150159284 GM WELL NUT M6-1.0 13003 GM: 20130258
150159285 GM TAP SCR CHRM PH WASH 15037 GM: 588546
150159288 LICENSE PLATE NUT 3682 GM: 1196781
150159291 FORD EXT U NUT 5/16-18 10053 CHRYSLER: 6023171; FORD: 45264
150159292 LICENSE PLATE NUT G.M. 11719 GM: 3907444, 4755299
150159293 LICENSE PLATE RETAINER 20310 FORD: 383142-S
150159294 GM PANEL NUT #8 SCRW SIZE 10330 GM: 3893980
150159295 RADIATOR HOUSING RTNR MERCEDES 1974+ 20187 MERCEDES: 000-990-34-92
150159296 EXTRUDING NUT 5/16 8814 FORD: 379831-S, 45268-S2; GM: 1494258, 10008002
150159297 EXTRUDING NUT 1/4 10050 FORD: 45263-S101, 45263-S2
150159298 EXTR J NUT WID 1/4-20 PR 10051 FORD: 45267; GM: 1494257
150159299 TAP SCREW ZN 8X7/16 PH 2805
150159300 SELF-THRD NUT/WASHER 5/16 10733
150159302 FOLD NUT U 3/8-16 FORD/GM 10054 FORD: 45265-S2; GM: 1494254, 12337873
150159315 OLDS/AM/MITSU/GM LICENSE PLATE NUT 9829 GM: 380382
150159316 CHRY WTHSTRP RETAIN BLK 11129 CHRYSLER: 2964547
150159318 U-NUT #10 10066
150159319 NUT SIDE MARKER LAMPS5/16 74-4062
150159321 PUSH ON RETAINER 1/4-1/2 10086 CHRYSLER: 6026958
150159322 PUSH ON RETAINER 5/16 10087 CHRYSLER: J4004354, J4005293
150159323 PUSH ON RETAINER 1/2 9299 CHRYSLER: 6026430
150159325 BUMPER BOLT 11614 GM: 9433489
150159329 FOLD NUT 6.0M G.M. 11628 GM: 9433043, 11500658
150159330 FOLD NUT 8MM G.M./FORD 11629 CHRYSLER: 6100042, 6101283; FORD: N623333-S100,

N623333-S2; GM: 11500660, 11502617
150159331 FOLD NUT 8MM G.M./FORD 11630 FORD: N623343-S100, N623343-S2; GM: 11500661, 11503317,

11516150, 12337966
150159332 FOLD NUT 10X1.5 GM 11631 GM: 11500662, 22531616
150159333 HEX WSHR BLT CONE3/8-16X1 11109 GM: 3986997, 14011722
150159336 FENDER BOLT 5/16X1 10714 GM: 9796223
150159337 IND W/LOOSE WSR8-1.25X30 13614 GM: 11501188, 11504567, 11508269, 11515757
150159338 IND W/FIXED WSR8-1.25X25 12336 GM: 11503632
150159340 M8 NUT W/13 HEX 24MM WASHER OD 15335 FORD: N621940; GM: 11503695, 11506117, 11516780
150159343 IND HEX W/LOOSE WSH6.3X25 11935 GM: 11502790
150159345 8MM BODY BOLT 13613 GM: 11503619

Body Clip Cross Reference
Article #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 38
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Article #

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150159346 BODY BOLT 1/4-20X7/8 10823
150159348 FORD LICENSE PLATE NUT NYLON #14 11368 FORD: 380707-S
150159349 HEX NUT W/WASHER 6.3 11WR 11642 GM: 11500747, 11501106, 30066200
150159352 PUSH NUT 8M 12125 CHRYSLER: 6501025
150159353 PUSHNUT BLT RETAIN ZN 12127 GM: 11502737
150159355 STAMP NUT 6.3M 12255 GM: 11501836
150159357 EXTRUDING NUT 5M 11626 GM: 11500657, 11504693
150159359 IND W/LOOSE WSR10-1.5X40 11641 GM: 11501193
150159360 PUSHNUT 6.3MM 12124
150159365 FOLD NUT U 6MM GM/FD 5.30 12669 FORD: N623332-S100, N623332-S2, N623332-S53,

W520802-S426; GM: 1016937, 11503957, 11518121, 12337917
150159367 HEX NUT W/WASHER 6.3 11WR 15328 FORD: N621905
150159368 6MM HEX NUT W/14MM SPIN W 19216 CHRYSLER: 6100047
150159369 M6 HEX NUT W/10 HEX 19MM WASHER OD 15331 CHRYSLER: 6100049, 34201358
150159370 G.M. METRIC U NUT 6MM 12575 GM: 11503715, 11508241, 11515478
150159371 FORD FENDER 6X1.0X23MM/8M 15778 FORD: N606676-S36
150159372 GM BODY BLT HX WASH HD 11639 GM: 11502605, 11502624, 11509511, 11514343
150159373 HX FLNGE NUT PHOS M8-1.25 11644 GM: 11501889, 11502609, 11507036, 11514518, 11514596
150159376 LONG THROAT EXT NUT6.3MM 78-4968
150159377 GM BODY BLT HX SEMS PHOS 11633 GM: 11501105
150159379 IND HEX W/LOOSE WSH6X25MM 12323 GM: 11504493
150159390 HEX HEAD WITH WASHER 6X22 12067 GM: 11504570, 11509816, 11514623
150159391 FASCIA BUMPER FASTENER 14127 FORD: 388664-S100
150159393 1/4 BLK PHOSPHATE FASTNR 12652 FORD: 388442-S100, 388442-S309
150159394 HEX HD SEMS DOG POINT6X20 12160 FORD: N606676-S100, N606676-S2
150159396 HEX NUT W/WASHER 6MM 11WR 12596 GM: 11503754, 11503756, 11505005, 11517293
150159397 PUSH NUT 6M 12123
150159398 GRILLE ATTACH GROMMET 14009 GM: 14032291
150159405 BLACK NYLON RIVET 1/4 13750 CHRYSLER: 6500911, 6504700; FORD: N803043-S; GM:

14063981, 22638717
150159409 HX HD/CONICAL WASH/6X20MM 12693 GM: 11502941, 11506174
150159416 PUSH RETAIN NYL 5X14 14X22 9X7 14727 GM: 94221150; ISUZU : 8942211500; NISSAN: 63844-D0100
150159419 GM BMPR BOLT SS CAP 16986 GM: 14003784
150159420 GM IND HX HD W/START WASH 18416 GM: 11505044
150159421 TORX WASH HD 6X1.0X20MM 86-6013
150159422 NISSAN PH SCREW BLK M5X9 W/WASH15 86-6017
150159425 JACKNUT M5 12998 GM: 1623436
150159426 JACKNUT M6 12999 GM: 1635218, 14007940
150159429 BLACK NYLON FASTENER 14011 GM: 14019226, 14071289
150159431 BLK IND SCR W/WSR 5X20MM 87-6201
150159440 SCREW GROMMET 14275 MITSUBISHI: MB098145; NISSAN: 01281-00023, 01281-00231;

TOYOTA: 90189-06001
150159442 HEX NUT W/WASHER 5MM 10WR 15326 FORD: N621903
150159446 FORD BLT IND HX HD W/DOG 15780 FORD: N606690-S2
150159447 SLF-TAP6.3X20HEX HD W/WSH 88-6419
150159449 PUSH NUT 6M 14980 GM: 11503736, 14093869
150159450 IND HEX HD BLT W/WSH 8X25 88-6467
150159455 GM IND HX SLF DRILL FREE 18261 GM: 11503578, 11503785
150159459 BUMPER BOLT WITH SHOULDER 90-6723
150159461 LIC. SCR SLT HD 1/4X5/8 15758
150159463 INDENT HEX WITH WSH 6X16 15791 GM: 11508930
150159464 HEX HEAD DOG POINT BOLT 90-6745



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 39

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150159465 HEX HEAD DOG POINT 6X30 90-6746
150159466 FORD MIRROR SCR - PICKUPS 14947 FORD: N800928-S45, N801851-S45, N806345-S433,

N806345-S47
150159470 POZI DRILL OVAL 4.2X12 90-6789
150159471 1/4 ZINC/PHOSP FASTENER 12653 FORD: 388047-S102, 388047-S1021
150159472 BLIND RIVET WITH FLANGE 18929 GM: 10120608
150159476 PHIL SCREW W/WASHER4.2X15 90-6819
150159481 PHILLIP PAN W/WSH 4.2X15 90-6845
150159482 STAMPED NUT 6.3MM 90-6851
150159484 IND HEX W/WASHER 6.3X16 90-6855
150159487 HEX HD BLT1/4X3/4SLF PIER 91-6899
150159493 FLANGE HEX M6 1.0X12MM 91-6923
150159494 IND HEX W/DOG POINT 6X20 91-6940
150159498 FORD FUEL LINE RET. CLIP 17643 FORD: N802239-S
150159499 FORD FUEL LINE RET. CLIP 17642 FORD: N802241-S
150159500 INDENT HEX WITH WSH 4.2X16 91-6969
150159504 PH RND HD DRILL SCR 8X1/2 92-7021
150159508 RIVET-CLOSE END FORD LUGGAGE 17410 FORD: 390428-S100
150159509 HEX HEAD BODY BOLT#14X7/8 18934 CHRYSLER: 6034703, 6035188, 6505813AA
150159510 FLAT HEAD NUT RIVET 93-7125
150159516 NUT W/WSH M8 13WR 15334 GM: 11501800
150159518 IND HEX PHIL SCR 1/4X1/2 93-7194
150159519 IND HEX PHIL SCR 1/4X3/4 93-7195
150159520 RIVET TYPE SCREW 18119 HONDA : 91502-SP0-003
150159523 BLIND RIVET 17637 GM: 21093072
150159524 BLIND RIVET 94-7240
150159525 BLIND RIVET 17640 GM: 3540146, 3548011, 3548690
150159526 BLIND RIVET 17641 GM: 9442361, 25609048
150159527 BLIND RIVET 1/8 16686 GM: 9432552
150159528 BLIND RIVET 17653 GM: 9433185
150159529 PH OVAL HD TRIM SCR 8X1 94-7250
150159530 PHIL OVAL HD TRIM SCR 8X1 12957
150159531 CLOSE END RIVET 17408 FORD: N803933-S101, N806126-S100
150159533 HEX TAP IND SCR 4.2X18MM 18796
150159534 TORX OVAL TRIM SCR 4.2X20 95-7362
150159537 WELL NUT M5 .8 PITCH 16242
150159540 GM BLK TORX DRV WSHR HD S 95-7426
150159543 NISN SCREW TYPE RIVET BLK 95-7491
150159546 FORD BUMP RIVET ALU/ALU 19419 FORD: N811460-S100
150159547 PUSH RETAINER BLK NYL 14991 FORD: N808147-S; GM: 10139822, 25680782
150159548 DOOR LOCK ACT.GM JN 18889 GM: 15015804, 22643056, 88891791
150159549 GM RIVET STL/ALU 18912 GM: 22585836, 22641917
150159552 SCREW TYPE RIVET 19219 TOYOTA: 90467-09096
150159553 SCREW TYPE RIVET 96-7604
150159554 OVL HD PH TRIM SCR BLK 96-7605
150159555 GM THR CUT NUT M3.2X8 12251 GM: 11502556
150159556 FORD MOULDING FENDER 99-8248
150159557 GM/CHRY SQ TRUSS 19417 CHRYSLER: 6503401, 6503819
150159558 RIV TRUNK LOCK COVER CHRY 16687 CHRYSLER: 6032138; GM: 9432137, 20477732
150159559 RIVET BUMPER TAURUS 96' 19111 FORD: N807168-S
150159562 FORD RIVET ALY/STL M6.3 97-7703
150159563 CHRY SCR RIVET BUMP CVR 19140 ACURA : 90505-SL0-003; CHRYSLER: MB888869; GM:

Body Clip Cross Reference
Article #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 40
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Article #

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150159566 FORD U NUT GRN PHOS #8 14526 FORD: N802538-S100
150159567 FORD IND HX M4-.7X12 98-7781
150159568 CHRY/MITSU SCR RIVET M8 18951 MITSUBISHI: MR138807
150159571 GM EXTR NUT SNAP IN 19317 GM: 15707256
150159573 CHRY THR CUT NUT ZN M6 19548 CHRYSLER: 6100814
150159576 GM EXTR U NUT BLK 98-7888
150159578 ISUZU WD RANGENUT 14739 ISUZU : 8941340270; TOYOTA: 90189-05012
150159588 PUSHNUT 3/16 STEEL 3404 CHRYSLER: 6006264
150159589 THROTTLE ROD CLIP BLK 3611
150159590 THROTTLE ROD CLIP BLK 3612
150159591 DLR L/P THUMB SCR #14X1/2 15170
150159594 HEX HD W/WASHER 6X1.0X25 12065 GM: 11503834, 11517343, 20351035
150159598 NISSAN FENDER RIVET 16858 FORD: NAO1-56145; KIA : MNA01-56145; MAZDA : NA01-56-

145; NISSAN: 63844-01A00
150159600 PLASTIC RIVET 5MM 13747 FORD: N804189-S; GM: 20423647
150159601 PLASTIC RIVET 5MM 13748 CHRYSLER: 6503800; FORD: N804343-S; GM: 20432975; VW:

175-853-577-01C
150159602 PLASTIC RIVET 5MM 13755 CHRYSLER: 6500898
150159603 PLASTIC RIVET 6.3MM 18502
150159606 DUO-DRIVE TRUSS LP SCREW #14x5/8 x14mmhd 19777
150159618 PUSH NUT 10X1.5 BLK 12126 GM: 11502759
150159620 HX HD S-TAP SC 8X1.25X35 12348 GM: 11500971
150159634 VW SCUFF PLATE GROMMET 20260 VW: 1J0-853-120
150159636 GM C&K TRUCKS FRONT AIR GROMMET 19614 GM: 15733970
150159637 GM C&K TRUCKS FRONT AIR RETAINER 19613 GM: 15733971
150159638 #14X5/8 TRUSS HD S/T SCRW 19170
150159639 8X22 HEX WASH HD SHLDR BT 19201
150159640 #10X3/4 TRUSS HD SEMS BLK 20259 HONDA : 90114-SE0-000
150159650 CIGARETTE LIGHT PLUG 20698
150159651 M6-1.0 SPECIALTY INSERT WITH SEALER 20415 FORD: N803763-S100; GM: 15685099
150159652 HEX WASHER HEAD 20436 CHRYSLER: 6507219-AA
150159653 EXTRUDED U NUT 20447 FORD: N623334-S426
150159654 SPECIALTY INSERT WITH SEALER 20451 GM: 15990498
150159655 M5-8 SPECIALTY INSERY WITH SEALER 20421 FORD: N811257-S100, N811257-S309
150159656 M6X1.0 SPECIALTY INSERT GRIP 20422 GM: 11519952
150159657 M6X1.0 SPECIALTY INSERT WITH SEALER 20401 FORD: W706172-S309, W708384-S309
150159658 #8X3/4 PHILLIPS PAN HEAD SEMS 20271
150159659 M6X1.0 SPECIALTY INSERT 20395 GM: 10281487
150159660 M8X1.25 SPECIALTY INSERT 20423 GM: 11519960
150159663 CHRYSLER TAIL LIGHT HOUSING RETAINER 20457 CHRYSLER: 4857345-AA
150159664 FORD RIVET W/ CAP 20398 FORD: W700636-S303
150159665 HONDA EMBLEM NUT W/ SEALER 20472 HONDA : 91512-SR3-004
150159666 DODGE DOOR & FENDER SHIELD RETAINER 20524 CHRYSLER: 6035821
150159667 GM ROCKER PANEL MOULD RET. W/ SEALER 20521 GM: 10242285, 10297369, 10308019
150159668 GM ROCKER PANEL MOULD. RET. 20520 GM: 10308063
150159669 GM SIDE, ROCKER, FENDER CLIP 20481 GM: 10423553
150159670 TOYOTA GAS FILLER RIVET W/ SEAL, M5 99-8008
150159671 TOYOTA GAS FILLER RIVET W/ SEAL, M6 Hole 99-8209
150159672 UNVRSL NYLON FSTNER FOR 1/2-5/8" MOULDIN 8843
150159673 MOULDING INSERT WHT NYLN MERCDS 1994+ 20205 MERCEDES: 001-988-20-81, 001-988-76-81
150159694 PUSH RETNR BLK NYLON MERCDS 1986+ 20203 MERCEDES: 124-990-07-92-9C75
150160000 CONVOLUTED WIRING HARNESS 14545 GM: 8911497



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 41

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

ARTICLE# DESCRIPTION VENDOR # MAKE / O.E.M. #
150160008 CONVLD WIRING HARNESS 14544 GM: 8911473
150160010 WIRE LOOM ROUTING CLP 1/2 14546 GM: 8911472
150160011 CONVOLUTED WIRING HARNESS 14547 GM: 8917320
150160012 CONVOLUTED WIRING HARNESS 16941 GM: 12015983
155617003 VOLT REGULATOR MODULE 91-6937
155617005 BULB SOCKET FOR BULB#3156 91-6942
155617006 FORD PIGTAIL ASSEMBLY 91-6943
155617018 FORD LAMP-ST SCKT BASE 3157 96-7573
155618007 FORD STOP/TAIL PIGTAIL AS 89-6602
155618040 ELECTRONIC IGN MOD FORD 94-7318
155618041 PIGTAIL SCKT RP HRNS FORD 95-7394
155618060 FORD ALTERNATOR PIGTAIL 76-4340
155618062 PIGTAIL COIL TO INGNITION 78-4768
155618065 FORD F/1157 SOCKET/WIRE A 86-6047
155619001 4-WIRE CON FORD FUEL PUMP 99-8056
155628001 CHRYS BLOWER MOTOR RESIST 98-7899
155637002 GM RH SEAL BEAM HEADLAMP 93-7131
155638003 GM COOLANT TEMPERATUR SENSOR 89-6625
155648001 FUEL INJECTOR PLUG 90-6795

Body Clip Cross Reference
Article #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 42
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Auveco/Car-Pak #

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
11 150153022 DOOR/WIND CRANK HANDLE CL
1914 150159026 FLAT NUTS 100 OZ 3/32
2099 150159025 FLAT NUT PHOS 1/8 STUD SZ
2103 150159027 FLAT NUTS 3/16
2288 150153214 DOOR HANDLE RETAINER TOYOTA: 90520-01002, 90520-01274
2293 150159113 U NUT PHOS 1/4-20 GM: 9431647, 22529733
2310 150153032 CHRY DOOR TRIM PNL FAST.
2625 150155259 CHRYS LP ANCH HD LT DOOR
2744 150159273 CHRY/GM UNI MLDNG FASTNER CHRYSLER: 1624705, 6010093; GM: 4689929, 4778814
2752 150159270 CHRY/GM UNI MLDNG FASTNR CHRYSLER: 1758099, 6000720, 6010046; GM: 3744999
2805 150159299 TAP SCREW ZN 8X7/16 PH
2806 150159145 TAP SCR CHROM #8X5/8 PH
2895 150159245 PUSHNUT 1/8 ID 5/16 HEX
2896 150159247 PUSHNUT 3/16 W/3/8 HEX
2897 150159246 PUSHNUT 1/4 7/16 WRENCH
3404 150159588 PUSHNUT 3/16 STEEL CHRYSLER: 6006264
3405 150159244 PUSHNUT 1/4
3611 150159589 THROTTLE ROD CLIP BLK
3612 150159590 THROTTLE ROD CLIP BLK
3682 150159288 LICENSE PLATE NUT GM: 1196781
5228 150159088 PLAST LPANCHOR CHEV#10SCR GM: 3783006
7595 150159075 HOG RING MED 500/BOX
7644 150159074 HOG RING LARGE 500/BOX
7657 150150001 HOG RING PLIER
8242 150159089 CHRY L/P NUT NYLON 1/4#14 CHRYSLER: 6023925
8418 150159090 REAR LICENSE PLATE NUT GM: 380370
8419 150156007 HEADLAMP BEZEL NUT CHRYSLER: 2524525
8814 150159296 EXTRUDING NUT 5/16 FORD: 379831-S, 45268-S2; GM: 1494258, 10008002
8843 150159672 UNVRSL NYLON FSTNER FOR 1/2-5/8" MOULDIN
8863 150159190 FLAT PUSH ON WASHER 1/8
8864 150159191 FLAT PUSH ON WASHER 5/32
8865 150159194 FLAT PUSH ON WASH 3/16 CHRYSLER: 6031147
8868 150159192 FLAT PUSH ON WASH 1/4
9288 150159156 PLASTIC PLUG 1/2
9290 150159157 PLASTIC PLUG 7/8
9291 150159158 PLG BUTTON PL HL1 HD1-3/8
9292 150159159 PLASTIC PLUG 1 1/4
9297 150159164 7/16 PUSHNUT CHRYSLER: J4004354
9298 150159163 PUSH ON RETAINER 3/8 CHRYSLER: J4004175
9299 150159323 PUSH ON RETAINER 1/2 CHRYSLER: 6026430
9377 150155028 4HRY/AMC GRILL NUT NYL #8 CHRYSLER: 6000943, 8934-201-263
9480 150159047 CHRY BDY BLT HX HD SEMS CHRYSLER: 6025329
9829 150159315 GM LICENSE PLATE NUT GM: 380382
9851 150156011 ADJUSTING NUT GM: 3921446
9853 150159008 BUMPER BOLT FORD 5/16X3/4 FORD: 376337-S100
9862 150159127 FORD CLIP SZ 8 OR 10 NUT FORD: 379830-S
9879 150159240 U NUT #8 FORD: 381863-S2; GM: 9433155, 9440178, 11504531
9880 150159241 GM/FD U NUT PHOS #8 PR.025-.150 HL 3/8 FORD: 381818-S2; GM: 9424837, 15650655
9882 150152007 FRD WNDW REVEAL MLD CLP FORD: C8AZ-63442413-A, C8AZ-63642413-A, D1AB-

6542413-AB, D1AZ-6542413-B



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 43

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
10050 150159297 EXT NUT 1/4 FORD: 45263-S101, 45263-S2
10051 150159298 EXTR J NUT WID 1/4-20 PR FORD: 45267; GM: 1494257
10053 150159291 FORD EXT U NUT 5/16-18 CHRYSLER: 6023171; FORD: 45264
10054 150159302 FOLD NUT U 3/8-16 FORD/GM FORD: 45265-S2; GM: 1494254, 12337873
10064 150159264 SPRING NUT U #6
10065 150159238 SPRING NUT #8
10066 150159318 U-NUT #10
10084 150159060 GM BODY BLT 5/16-18X3/4
10086 150159321 PUSH ON RETAINER 1/4-1/2 CHRYSLER: 6026958
10087 150159322 PUSH ON RETAINER 5/16 CHRYSLER: J4004354, J4005293
10243 150151009 GM WINDOW REV MLD CLP70UP GM: 8717859, 9854717
10262 150153042 UPPR GRILL ATT PL/GR CAD CHRYSLER: 2745108, 2945109, 4658676, 4658677,

4003672R
10330 150159294 GM PANEL NUT #8 SCRW SIZE GM: 3893980
10364 150159034 TAP SCR 5/16-12X7/8
10621 150155607 PANEL FASTENER GM: 2064891, 9818648, 9883583, 15600382
10642 150151008 PHIL OVAL WSH HD #8X3/8 FORD: 381671-S
10654 150159187 FLSH WSH OVAL HDSMS 8X114 FORD: 376988-S2, N804992-S58
10714 150159336 FENDER BOLT 5/16X1 GM: 9796223
10733 150159300 SELF-THRD NUT/WASHER 5/16
10744 150153000 DOOR OPENING FASTENER GM: 4876498
10823 150159346 BODY BOLT 1/4-20X7/8
10831 150155045 PLASTIC SHIELD RET. CHRYSLER: 3691590, 4004569, 6031321; FORD: 389258,

389358-S; GM: 332364
10832 150155044 REAR BUMPER RETAINER CHRYSLER: 6030538; GM: 480534, 6270163
11109 150159333 HEX WSHR BLT CONE 3/8-16X1 GM: 3986997, 14011722
11120 150152011 GM DOOR WTHRSTRP CLP BLK GM: 8731909
11129 150159316 CHRY WTHSTRP RETAIN BLK CHRYSLER: 2964547
11130 150157004 HOOD INSULATION CUP GM GM: 3078511, 3977775
11136 150157006 HOOD INSULATION FASTNER CHRYSLER: 6003351; FORD: 385330-S, D3OZ-16776-A
11146 150155051 CHRYS PAD SHLD CLIP CHRYSLER: 6030441; FORD: 388577-S, W705589-S300;

GM: 1605396, 15958694
11243 150156017 HEADLAMP ADJUSTING SCREW GM: 343555
11293 150159100 TUB NUT GRN W/SEAL 1/8 FORD: 375890-S102
11320 150159039 HX HD/CONICAL WASH 5/16X1
11349 150153131 DOOR PANEL RETAIN-GM/JEEP CHRYSLER: 4005099, 6033862; GM: 796255
11351 150153014 FD/CHRY/VW DOOR TRM 75UP CHRYSLER: 6032363; FORD: 385661-S; VW: N989022
11368 150159348 FORD LICENSE PLATE NUT NYLON #14 FORD: 380707-S
11429 150159104 U SPEED NUT#10 .015-.06RN
11612 150155610 COWL RETAINER CHRYSLER: 4006516; FORD: 388246-S; GM: 20413107,

25016383
11614 150159325 BUMPER BOLT GM: 9433489
11626 150159357 EXTRUDING NUT 5M GM: 11500657, 11504693
11628 150159329 FOLD NUT 6.0M G.M. GM: 9433043, 11500658
11629 150159330 FOLD NUT 8MM G.M./FORD CHRYSLER: 6100042, 6101283; FORD: N623333-S100,

N623333-S2; GM: 11500660, 11502617
11630 150159331 FOLD NUT 8MM G.M./FORD FORD: N623343-S100, N623343-S2; GM: 11500661,

11503317, 11516150, 12337966
11631 150159332 FOLD NUT 10X1.5 GM GM: 11500662, 22531616
11633 150159377 GM BODY BLT HX SEMS PHOS GM: 11501105
11639 150159372 GM BODY BLT HX WASH HD GM: 11502605, 11502624, 11509511, 11514343
11641 150159359 IND W/LOOSE WSR10-1.5X40 GM: 11501193

Body Clip Cross Reference
Auveco/Car-Pak #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 44
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Auveco/Car-Pak #

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
11642 150159349 HEX NUT W/WASHER 6.3 11WR GM: 11500747, 11501106, 30066200
11644 150159373 HX FLNGE NUT PHOS M8-1.25 GM: 11501889, 11502609, 11507036, 11514518, 11514596
11655 150156030 HEADLAMP ADJUSTING SCREW GM: 557057, 559312
11667 150156028 HEADLAMP ADJUSTING SCREW GM: 556539
11672 150153054 FORD TRIM PANEL RETAINER 76UP FORD: 387496-S
11678 150153047 DOOR TRIM PANEL RETAINER CHRYSLER: 4005470, 6003349; GM: 9685057; VW:

N98905101
11679 150155054 STONE SHIELD CLIP CHRYSLER: 3861577; FORD: 387258-S; GM: 20032850
11691 150156021 HEADLAMP BEZEL NUT G.M. GM: 3919773, 22649878, 22649879
11699 150155058 DRIVE TYPE NUT CHRYSLER: 6031390; GM: 472434
11704 150155061 CHRY GRILLE RETAINER CHRYSLER: 6031383
11705 150155056 FNDR SHLD RET 19/32 FORD: 387843-S
11706 150155057 GRL TO METL STMPG RET FORD: 387944-S
11719 150159292 LICENSE PLATE NUT G.M. GM: 3907444, 4755299
11720 150155047 CHRY GROMMET #^
11721 150155046 GM TRIM PANEL RETAINER GM: 411700
11746 150157034 PLUG FLUSH HEAD 1/2
11747 150157037 3/4 PLUG FLUSH BLACK
11748 150157038 7/8 PLUG FLUSH BLACK
11749 150157026 1 INCH HOLE PLUG
11770 150159007 GM BUMP BLT ZN UNCAP HD GM: 490067
11796 150153052 DOOR TRIM PANEL CLIP G.M. GM: 3065575
11797 150153050 FORD TRIM PANEL CLIP 77UP FORD: 387477-S
11826 150156025 HEADLAMP ADJUSTING SCREW
11838 150155052 SCREW GROMMET #6 THRD GM: 1254815
11841 150155059 GRL ATT. NUT NYL #6 FORD: N800503-S
11855 150153010 NYLON NUT SIDE MARKER LT CHRYSLER: 8934-201-262; GM: 9669486
11865 150155365 FORD GROMMET 4.2 TAIL LAMP ASSBLY PL79UP FORD: 389360-S; GM: 1255823
11869 150156036 HEADLAMP ADJUSTING SCREW FORD: D8BB-13M093-AA, D8BZ-13032-A, D8BZ-13032-B
11935 150159343 IND HEX W/LOOSE WSH6.3X25 GM: 11502790
12057 150159042 #14X5/8 HEX SEMS W/WASHER GM: 11500994, 11509371
12059 150159150 SF-TAP PHI WASH HD 4.2X13 GM: 11501883
12062 150159149 SLF-TP PHI WASH HD 4.2X10 GM: 11501903
12065 150159594 HEX HD W/WASHER 6X1.0X25 GM: 11503834, 11517343, 20351035
12066 150159040 3M BODY BLT HX HD SEMSr PHOS M6-1.0X25 GM: 11503982
12067 150159390 HEX HEAD WITH WASHER 6X22 GM: 11504570, 11509816, 11514623
12116 150159282 SLTF THR NUT ZN M5X10X15
12122 150159165 PUSHNUT BOLT RETAINER ZN CHRYSLER: 6100839
12123 150159397 PUSH NUT 6M
12124 150159360 PUSHNUT 6.3MM
12125 150159352 PUSH NUT 8M CHRYSLER: 6501025
12126 150159618 PUSH NUT 10X1.5 BLK GM: 11502759
12127 150159353 PUSHNUT BLT RETAIN ZN GM: 11502737
12136 150156037 GM HEADLIGHT PANEL RETAIN GM: 25501771
12137 150155575 CLIP VINYL SHIELD RADIATO GM: 1619321
12160 150159394 HEX HD SEMS DOG POINT6X20 FORD: N606676-S100, N606676-S2
12251 150159555 GM THR CUT NUT M3.2X8 GM: 11502556
12254 150159280 WSHR LOCK NUT ZN WR10MM CHRYSLER: 6100775; GM: 11501814, 21011332
12255 150159355 STAMP NUT 6.3M GM: 11501836
12259 150155097 8MM PUSHNUT CHRYSLER: 6501825; GM: 10009923
12323 150159379 IND HEX W/LOOSE WSH6X25MM GM: 11504493
12324 150159056 HX HD S-TAP SC 6X1.0X20MM GM: 11503800, 11517517



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 45

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
12335 150159049 FORD FENDER 6X1.0X28MM/8M FORD: N606677-S36
12336 150159338 IND W/FIXED WSR8-1.25X25 GM: 11503632
12341 150159080 HEX WSHR HEAD 6-1.0X14MM FORD: N605771-S100, N605771-S2
12343 150159005 GM BODY BLT HX WASH HD GM: 11504982
12345 150159091 BODY BLT WSH HD BLK M6 GM: 11503792
12348 150159620 HX HD S-TAP SC 8X1.25X35 GM: 11500971
12565 150153216 CLIP DOOR TRIM PANEL FORD: N801925-S, N802900-S
12567 150155117 GM FRT FEND. SKIRT 1981ON CHRYSLER: 6504090, 34201621; GM: 14019205, 20452072
12569 150155424 96 CIRRUS GROMMET NUT CHRYSLER: 6501773; FORD: N801706-S; GM: 20097200
12571 150159018 FORD FASCIA TO BUMPER81-85 FORD: 389443-S
12575 150159370 G.M. METRIC U NUT 6MM GM: 11503715, 11508241, 11515478
12596 150159396 HEX NUT W/WASHER 6MM 11WR GM: 11503754, 11503756, 11505005, 11517293
12605 150156041 GM HDLMP ADJ ASSY SLTD GM: 557057, 22512857, 22513813
12652 150159393 1/4 BLK PHOSPHATE FASTNR FORD: 388442-S100, 388442-S309
12653 150159471 1/4 ZINC/PHOSP FASTENER FORD: 388047-S102, 388047-S1021
12656 150151120 BLIND RIVET 1/8 GM: 20325696
12657 150153034 3/16 STEEL RIVET (BLACK) GM: 9439719
12658 150159225 GLASS STOP RIVET 1/4 FORD: 389268-S-100; GM: 12338153, 20184399
12669 150159365 FOLD NUT U 6MM GM/FD 5.30 FORD: N623332-S100, N623332-S2, N623332-S53,

W520802-S426; GM: 1016937, 11503957, 11518121,
12337917

12693 150159409 HX HD/CONICAL WASH/6X20MM GM: 11502941, 11506174
12731 150153071 SEAT BACK RETAINER GM: 20319841
12735 150156020 GM HEADLAMP BEZEL NUT 64-76 CHRYSLER: 6029501; GM: 1370853; VW: 155-809-966,

179-813-883
12737 150153070 GM DOOR PANEL CLIP 82-85 GM: 12337920, 20374473
12738 150159146 HEX HD SCREW/WSH 4.2X20 GM: 11504056, 11513801
12739 150159147 POSIDRIVE SCR-CHR 4.2X12MM GM: 11501794
12741 150159059 4.2X16 HX SCR W/SPIN12WAS GM: 11503395, 11509374
12756 150155090 DRIVE TYPE RIVET GM: 5973996
12757 150155088 G.M. FASCIA CLIP 82 ON GM: 5973400
12766 150155087 G.M. STONE SHIELD 82 ON CHRYSLER: 6503221; GM: 22512276
12818 150159144 TAP SCR PH PAN HD SEMS
12909 150152074 FORD TRIM PANEL RETAINER FORD: 388930-S
12957 150159530 PHIL OVAL HD TRIM SCR 8X1
12992 150153078 DOOR FASTENER NYLON GM: 10073833, 15600382, 20421800
12998 150159425 JACKNUT M5 GM: 1623436
12999 150159426 JACKNUT M6 GM: 1635218, 14007940
13003 150159284 GM WELL NUT M6-1.0 GM: 20130258
13141 050011751 MB SIDE MOULD BUTTON RED MERCEDES: 000-988-15-81
13148 150153088 PLASTIC TRIM RETAINER MERCEDES: 000-987-10-15
13158 150155094 MOULDING CLIP W/ SEALER NYLON BMW BMW : 51-13-1-804-205
13162 150152091 U TYPE NUT PLATED BMW 5.6 MM SCREW BMW: 07-12-9-925-720
13173 150155095 METAL PANEL CLIP VW & VOLVO VW: N-014-389-3; VOLVO : 3104-426
13174 150152075 MOULDING CLIP RED NYLON VW VW: 803-853-139C
13175 150152076 NYLON MOULDING CLIP VW VW: 171-853-575A, 171-853-585A
13176 150152077 METAL MOULDING CLIP VW VW: 113-853-585B
13179 150152078 TRIM PANEL FASTENER VW BLACK NYLON
13189 150155077 ROCKER PANEL CLIP AUDI: 803-853-139A
13195 150152079 MOULDING CLIP BLACK NYLON VOLVO VOLVO : 1201-930
13202 150155036 RETAINING CLIP BLACK NYLON VW & AUDI AUDI: 801-867-299/041
13206 150152080 TRUNK LINER PLUG BLCK VINYL AUDI AUDI: 113-857-219A

Body Clip Cross Reference
Auveco/Car-Pak #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 46
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Auveco/Car-Pak #

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
13215 150152081 PLATED U TYPE NUT 4.8MM SCREW MERCDS BMW BMW: 07-11-9-901-294, 07-11-9-916-945; MERCEDES: 000-

994-14-45
13216 150152082 ZINC U TYPE NUT 4.8MM BMW MERCEDES: 000-994-14-45
13217 150152083 PLATED U NUT 4.2MM SCREW VW AUDI VW: N-015-422-2, N15.422.2
13218 150152084 PLATED U NUT 4.8MM SCREW MERCDS BMW BMW: 07-12-9-925-737; MERCEDES: 000-994-06-45, 003-

994-30-45
13220 150152085 PLATED U NUT 6.3MM SCREW MRCDS VLVO OPEL MERCEDES: 000-994-09-45; OPEL: 20-72-175; VOLVO :

946-418
13222 150152086 PLATD U NUT 6.5MM SCREW MRCDS VW BMW OPEL BMW: 07-12-9-925-730; MERCEDES: 000-994-50-45;

OPEL: 20-72-175; VW: N15.457.1
13223 150152087 PLATED U NUT 4.2MM SCREW BMW MERCEDES BMW: 07-12-9-925-708; MERCEDES: 000-994-25-45
13224 150152088 PLATED U NUT 4.2 MM MERCEDES MERCEDES: 000-994-04-45
13454 150155140 COWL VENT RETAINER GM: 20511451
13461 150153217 GM TRIM PANEL RETAINER GM: 20451401
13470 150153125 FORD DOOR TRIM PANEL CLIP FORD: N802900-S
13475 150153055 TRIM PNL RETNR NYLON AMC 1984+ VW 1982+ CHRYSLER: 8934-201-681; VW: 175-867-299
13613 150159345 8MM BODY BOLT GM: 11503619
13614 150159337 IND W/LOOSE WSR 8-1.25X30 GM: 11501188, 11504567, 11508269, 11515757
13618 150159063 HEX HEAD BOLT 6X30MM GM: 11503825, 11505209
13619 150159148 GM BDY BLT HX HD SEMSr PHOS M10-1.5X30 GM: 11504565, 11516942, 11517706
13704 150159037 HEX HD SEMS 13 HEX 24 WSH
13712 150159043 SLF-TAP PHIL WSH HD BLK#8 GM: 11505104
13747 150159600 PLASTIC RIVET 5MM FORD: N804189-S; GM: 20423647
13748 150159601 PLASTIC RIVET 5MM CHRYSLER: 6503800; FORD: N804343-S; GM: 20432975;

VW: 175-853-577-01C
13750 150159405 BLACK NYLON RIVET 1/4 CHRYSLER: 6500911, 6504700; FORD: N803043-S; GM:

14063981, 22638717
13751 150155381 DODGE BLIND RIVET SUPER NYL 6.3X13 94UP CHRYSLER: 6501559; FORD: N803862-S; GM: 10184895,

20452072
13755 150159602 PLASTIC RIVET 5MM CHRYSLER: 6500898
13930 150155049 GROMMET NUT MAZDA : 9991-00-412; NISSAN: 96706-B0700, 96706-

B6700, 97606-B0700
13932 05007711 TOYOTA SCREW ANCHOR MITSUBISHI: MS480002, MS480009; TOYOTA: 90189-

05013
13933 150156022 ADJUSTING BEZEL NUT
13960 150156038 ADJUSTING BEZEL NUT GM: 14013246
13966 150155116 TUBULAR BARREL NUT FOR 3/16 STUD CHRYSLER: 8934-201-767; FORD: D7VY-6050074-A
13993 150155582 DRIVE TYPE RIVET CHRYSLER: 34202672; GM: 20510029
13994 150155154 GM SPARE TIRE RET HD1HL5 GM: 20570245, 20635065
14002 150159125 GM CLIP BLCK NYLON #6 GM: 16503329
14006 150155153 PUSH TYPE RETAINER GM: 20455900
14009 150159398 GRILLE ATTACH GROMMET GM: 14032291
14010 150155613 RET. FRONT FACIA ATTACHED GM: 14045480
14011 150159429 BLACK NYLON FASTENER GM: 14019226, 14071289
14016 150153080 RETAINER CLIP GM CHRYSLER: 6500787; GM: 16500308
14019 150155146 BK PLASTIC DRIVE RIVET 6M CHRYSLER: 6501590; FORD: N803421-S
14020 150155614 DRIVE TYPE RIVET CHRYSLER: 55176248; FORD: N802781-S; GM: 14093088
14021 150155585 FORD RETAIN PL FASCIA HL5 HD10 84UP FORD: N803170-S
14036 150159226 GM REAR HOOD SEL RET BLK GM: 14074081
14037 150155191 GROMMET NUT CHRYSLER: 6035274; GM: 15596280
14127 150159391 FASCIA BUMPER FASTENER FORD: 388664-S100
14163 150157011 RETAINER HOOD INSULATION FORD: 388908-S



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 47

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
14256 150155577 ANCHOR CLIP TOYOTA: 90189-04014
14260 150155029 SCREW RETAINER GM: 20426301; MAZDA : 99265-0625; TOYOTA: 90467-

06017, 90467-06017-20, 90467-06017-41
14265 150155108 TOY/NISSAN ANCHOR NUT TOYOTA: 90189-06006
14267 05007747 TOYOTA PLASTIC ANCHOR TOYOTA: 90189-06013
14269 150155611 GM NOVA/TOYOTA TRIM PANEL CLIP 85UP GM: 94226492; ISUZU : 8942264920; MAZDA : 9927-40-

825; TOYOTA: 67771-12010, 67771-12010F
14271 05007709 TOYOTA SCREW ANCHOR TOYOTA: 90189-04011, 90189-04057
14273 150155580 BODY MOULDING CLIP TOYOTA: 90189-06005
14274 150155576 GROMMET NUT HONDA : 75521-611-000, 75521-611-0000; MAZDA : 9991-

00-601; NISSAN: 96706-P0105; TOYOTA: 90189-06010
14275 150159440 SCREW GROMMETT MITSUBISHI: MB098145; NISSAN: 01281-00023, 01281-

00231; TOYOTA: 90189-06001
14276 150155602 BLACK CLIP 5MM TOYOTA: 53879-22010
14281 150155135 GROMMET NUT HONDA : 90662-693-003, 90662-693-0030, 90662-693-

0031; TOYOTA: 90189-04066
14282 150155590 COWL TOP CLIP HONDA : 90687-SA5-003, 90687-SA5-0030
14287 150155038 #14 SCREW ANCHOR NYLON HONDA : 90656-671-6310M1
14288 150155020 HONDA CLIP NYLON #6 9.5X9.5MM HOLE6X6MM HONDA : 90655-SA0-003, 90655-SA0-0030
14289 150153017 RETAINER CLIP HONDA HONDA : 90666-SA0-003, 90666-SA0-0030
14291 150155035 HONDA RETAINING CLIP ACURA : 90001-SG0-003; HONDA : 66435-648-000,

66435-648-0000
14298 150155008 MAZDA/HONDA CABLE STRAP 140MM DIA 30MM HONDA : 90672-SA0-003, 90672-SA0-0030; MAZDA :

9928-91-053
14313 150155120 GROMMET NUT HONDA : 90662-671-003, 90662-671-0030; MAZDA :

9991-00-503; NISSAN: 62698-V7000, 68425-H5000
14328 150152018 WEATHERSTRIP CLIP HONDA : 90664-671-003, 90664-671-0030, 91530-SE0-

003
14335 150155092 SCREW ANCHOR MITSUBISHI: 106212, MB106212, MB132008; NISSAN:

01281-00151, 96706-H9400, 96706-K1300, 96706-K1351
14353 150152070 TRIM PANEL CLIP NISSAN: 76906-T3000
14357 150155589 ROCKER PANEL NUT MAZDA : 9991-00-501
14366 150155082 ANCHOR NUT MAZDA : 9991-00-402; MITSUBISHI: MB023930; NISSAN:

96706-89901
14367 150155039 MAZDA HOOD WEATHERSTRIP GM: 96061699; MAZDA : 9924-90-512B
14369 150155163 NISSAN SCREW TYPE RIVET MAZDA : 1395-68-676, 9926-50-635
14378 150159083 TUBE/CABLE ROUTING CLIP MAZDA : 9927-70-901
14380 150153029 RETAIN CLIP FOR 8MM HOLE MAZDA : 8133-50-022
14526 150159566 FORD U NUT GRN PHOS #8 FORD: N802538-S100
14544 150160008 CONVOLUTED WIRING HARNESS GM: 8911473
14545 150160000 CONVOLUTED WIRING HARNESS GM: 8911497
14546 150160010 WIRE LOOM ROUTING CLP 1/2 GM: 8911472
14547 150160011 CONVOLUTED WIRING HARNESS GM: 8917320
14548 150153064 GM BUSHING 3/8-1/2-15/32 GM: 9822198
14549 150153084 GM THICK BUSHING 5/16-1/2-23/64 GM: 9716926, 20345137
14551 150153086 BUSHING 5/16-31/64-9/32 FORD: D90Z-6522841A
14552 150153085 BUSHING 1/4-21/64-23/64 CHRYSLER: 4033711, 4498100
14553 150153083 GM BUSHING 5/16-1/2-23/64 GM: 20429500
14559 150153081 REPLACEMENT DOOR HINGE PN GM: 6271989, 20046147
14687 150155134 HOOD PROP ROD CLIP HONDA HONDA : 90677-671-003

Body Clip Cross Reference
Auveco/Car-Pak #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 48
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Auveco/Car-Pak #

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
14695 150155608 GENERAL PURPOSE CLIP HONDA : 90661-SC7-003, 90661-SC7-0030, 90684-SA5-

003; MAZDA : H001-50-841; MITSUBISHI: MS480012; NIS
SAN: 01281-00231, 01651-00481, 74798-S9000; TOYOTA:
90189-06042

14696 150155586 SCREW TYPE RIVET GM: 30012018; HONDA : 90684-SA5-0030; ISUZU :
8942981190; NISSAN: 10998-30880

14697 150155408 IMPORT SCREW TYPE RIVET GM: 94198687; HONDA : 90657-SA6-003, 90657-SA6-
0030; MAZDA : N304-13-356-A

14698 150155173 HONDA SCREW RETAINER ACURA : 90688-SB0-013; HONDA : 90668-SB0-003,
90688-SB0-003

14709 150155149 HOOD INSULATION CLIP FORD: F22Z-16774-A; MAZDA : G030-68-885-B-38,
GA2A-56-694

14723 150155030 RETAINING CLIP 6MM HOLE NISSAN: 62869-N4700, 76997-P7100
14724 150155085 ANCHOR NUT NISSAN: 96706-H2500
14727 150159416 PUSH RETAIN NYL 5X14 14X22 9X7 GM: 94221150; ISUZU : 8942211500; NISSAN: 63844-

D0100
14728 150153065 TRIM PANEL CLIP TOYOTA: 67771-22020
14732 150159129 HOOD PROP ROD CLIP TOYOTA: 53455-14020
14737 150152071 WEATHERSTRIP TRIM PANEL C NISSAN: 01553-00172; TOYOTA: 90467-07050, 90467-

08008
14738 150155181 HOOD RETAINER 7MM TOYOTA: 90467-09008, 90467-09008-01
14739 150159578 TOY/ISUZU/LEX WD RANGE NUT ISUZU : 8941340270; TOYOTA: 90189-05012
14750 150155122 NYLON U-NUT BLK #10 GM: 94841226; MAZDA : LA01-56-135; TOYOTA: 53879-

14010, 53879-14020, 53879-22030, 53897-22030
14753 150155156 SCREW TYPE RETAINER FORD: N804570-S; GM: 14019205, 20590899, 20664092,

22538004
14756 150159002 FORD ANCHOR CHRYSLER: 6033677; FORD: 379830-S, 383356-S
14757 150159243 FORD ENG&HEATSH.RET CLIP FORD: N804448
14921 150152027 DOOR WEATHERSTRIP RETAINR CHRYSLER: 6502328; GM: 20699808
14947 150159466 FORD MIRROR SCR - PICKUPS FORD: N800928-S45, N801851-S45, N806345-S433,

N806345-S47
14953 150155584 SCR RIVT FASCIA/GRIL FORD FORD: N803494-S
14967 150153043 DOOR ROD END CLIP FORD: D2VZ-6521952-A; GM: 9815325, 16607593
14980 150159449 PUSH NUT 6M GM: 11503736, 14093869
14987 150155023 SCREW TYPE RETAINER GM: 10089262
14991 150159547 PUSH RETAINER BLK NYL FORD: N808147-S; GM: 10139822, 25680782
14993 150155591 GM RADIATOR GRILL RIVET CHRYSLER: 4638136; GM: 20664092, 22538004
14994 150155183 SCREW TYPE RETAINER FORD: N804837-S
14995 150155422 CHRY SCR RIVET PL HL7HD12.5X30GR2- CHRYSLER: 4696488; FORD: N805026S; GM: 10195515
14997 150155185 SCREW TYPE RIVET PLASTIC CHRYSLER: 6503163; GM: 10053182
14998 150155024 PUSH TYPE RETAINER 410HLE GM: 15672330, 15956470
15037 150159285 GM TAP SCR CHRM PH WASH GM: 588546
15040 150153098 CHRY/AMC TRM PNL3/4X11/16 CHRYSLER: 4006529, 5208743
15042 150155195 GM BMP FASCIA RET 1/4 CHRYSLER: 55022134; GM: 5973996, 10077283, 14103438
15043 150154125 DRIVE TYPE RIVET GM: 14103461
15044 150155196 DRIVE TYPE RIVET GM: 22535007
15045 150155542 GM DRIVE RIVET FRT 10X25 PR3.5-7 98UP GM: 10053388, 22542705
15170 150159591 DLR L/P THUMB SCR #14X1/2
15187 150155174 BLIND RIVET FORD: N804583-S
15316 150159035 FLANGE LOCKNUT M6X1.0 FORD: N620480, N620480-S2A
15326 150159442 HEX NUT W/WASHER 5MM 10WR FORD: N621903
15328 150159367 HEX NUT W/WASHER 6.3 11WR FORD: N621905



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 49

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
15329 150159117 SPIN WASH NUT PHOS CHRYSLER: 6100048, 6500284
15331 150159369 M6 HEX NUT W/10 HEX 19MM WASHER OD CHRYSLER: 6100049, 34201358
15334 150159516 NUT W/WSH M8 13WR GM: 11501800
15335 150159340 M8 NUT W/13 HEX 24MM WASHER OD FORD: N621940; GM: 11503695, 11506117, 11516780
15337 150159079 FREE SPNG WSH NUT 10X1.5 FORD: N621942-S301
15347 150159122 HEX NUT SPIN WASH 1/4-20 CHRYSLER: 6025005; FORD: 45332
15350 150159123 5/16-18 SPIN WASH HEX NUT CHRYSLER: 6025007
15351 150159118 3/8-16 SPIN WASH HEX NUT FORD: 376785, 376785-S2
15366 150155264 SCREW TYPE RIVET FORD: E7GZ-17A904-B; MAZDA : BF67-50-033
15367 150155583 GM RETAINER CLIP GM: 20514862
15453 150157013 HOOD BUMPER GM: 472450, 12338034
15466 150152016 FRONT DOOR WINDOW GUIDE GM: 20160591
15467 150152015 FRONT & REAR DOOR WINDOW GUIDE GM: 10051034, 12338011, 20123070, 20328600
15478 150155171 GM BLK PLS BUMPER FASCIA FORD: N804379-S; GM: 1631564
15479 150153097 INTERIOR TRIM RETAINER FORD: N804349-S
15481 150155144 AIR-SCOOP CLIP CHRYSLER: 6501067
15490 150155226 NYLON BLIND RIVET GM: 10109689, 12337915
15518 150153046 GM DOOR LOCK CLIP GM: 4234830, 12337868
15518 150153048 ANTI RATTLE CLIP GM: 4234830, 12337868
15522 150155241 RIVET DRIVE TYPE FORD: N805231S
15668 150155431 TRIM CLIP FORD FORD: N803387-S, N803387-S300
15670 150153107 DOOR TRIM PANEL CLIP GM: 15545202
15695 150153026 RETAINR W/SEALER INTO 8MM GM: 94848834; TOYOTA: 62955-12010, 62955-20020
15721 150159077 IND HEX HD SEMS 4.2X13 GM: 11504010
15752 150159239 SPRING TYP U NUT 9/16
15758 150159461 LIC. SCR SLT HD 1/4X5/8
15759 150153012 REMOTE CONTROL ROD DOOR GM: 3998009, 9711304
15775 150159054 HEX HD SLF-DRILL 4.2X20
15778 150159371 FORD FENDER 6X1.0X23MM/8M FORD: N606676-S36
15780 150159446 FORD BLT IND HX HD W/DOG FORD: N606690-S2
15791 150159463 INDENT HEX WITH WSH 6X16 GM: 11508930
15940 150156048 HDLIT COMP RET. FORD: E9DB-13N020AA, E9DZ-13N129-A
15970 150153133 RADIATOR GRILL-GM GM: 15545202, 15607165, 15612948, 15953247
15998 150155189 HOOD INSULATION CLIP HONDA : 90700-SB2-003
16000 150155180 SCREW RETAIN CLIP-HONDA HONDA : 90675-SB3-003; MAZDA : FB01-56-964;

NISSAN: 63876-95596
16017 150153037 TRIM PANEL RETAINER GM: 363137, 9685057, 20451401
16124 050011755 BUTTON NEW MB RED MERCEDES: 001-988-20-81
16239 150159283 WELL NUT M5-0.8 GM#22520368 LUGGAGE RACK GM: 22520368
16242 150159537 WELL NUT M5 .8 PITCH
16306 150155578 FRONT BUMPER CLIP TOYOTA: 90183-03001, 90468-04038
16402 150156066 UPPER PIVOT FORD: E7TB-13A093-AB, E7TZ-13032-A
16622 150155261 RIVET DRIVE TYPE GM: 10157900, 11517803, 15993201
16624 150155456 GM DRV RVT REAR FASC M6 GM: 1636632, 20687704
16625 150155342 RIVET DRIVE TYPE GM: 10108746
16671 150155588 BUMPER STRIP CLIP MITSUBISHI: MB325299; TOYOTA: 90468-04030
16686 150159527 BLIND RIVET 1/8 GM: 9432552
16687 150159558 RIV TRUNK LOCK COVER CHRY CHRYSLER: 6032138; GM: 9432137, 20477732
16695 150153115 DOOR TRIM CLIP GM: 10153057
16725 150155587 NISSAN DRIVE RIVET M5PR1-4 FACE8X12 86UP NISSAN: 66814-01G00
16726 150155246 RIVET DRIVE TYPE FORD: N808048-S, W705532-S300

Body Clip Cross Reference
Auveco/Car-Pak #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 50
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Auveco/Car-Pak #

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
16775 150153039 TRIM PNEL RETAIR INTO 6MM HONDA : 90667-SA7-003, 90667-SA7-0030; NISSAN:

89427-98070
16779 150153024 HON/TOY RETAINING CLIP HONDA : 74842-659-003, 74842-659-0030; TOYOTA:

90467-12078, 90467-12078-01
16782 150155600 IMPORT DRIVE TYPE RIVET HONDA : 91545-SE0-003, 91545-SE0-003-W1; NISSAN:

63848-01G00
16783 150155403 PUSH-TYPE RETAINER NISSAN: 66824-01G00
16784 150153155 NISSAN/TOYOTA DRIVE TYPE RIVET 7X18X11MM NISSAN: 80999-05N07; TOYOTA: 90467-07043, 90467-

07043-11, 90467-07043-C0
16816 150155411 GM BLK PLS DRIVE TYPE RIV GM: 21047094, 21110145
16818 150155399 TRIM PANEL RETAINER CHRYSLER: 6501301; GM: 21094146
16832 150157020 HOOD BUMPER KIT FORD: E83Z-16758-A, N805083-C
16835 150155229 RIVET SCREW WITH SHOULDER CHRYSLER: 6502625; GM: 10140480
16849 150157017 HOOD ADJUST BUMP
16850 150157019 HOOD ADJUST 6M
16858 150159598 NISSAN FENDER RIVET FORD: NAO1-56145; KIA : MNA01-56145; MAZDA :

NA01-56-145; NISSAN: 63844-01A00
16859 150155581 NISSAN COWEL PANEL CLIP GM: 94051993; NISSAN: 66860-01W01
16860 150155152 DARK GRAY GILLE CLIP NISSAN: 62318-01W00
16863 150157033 HOOD INUL RETAIN FORD: N803613-S
16936 150153122 DOOR HINGE BUSHING GM: 12338074, 15691493, 15964971, 16632193
16937 150153123 DOOR HINGE BUSHING GM: 15562609, 15964972, 16632192
16938 150153147 GM DOOR TRIM PNL CLIP BLK GM: 15638413, 15963179
16941 150160012 CONVOLUTED WIRING HARNESS GM: 12015983
16949 150157018 HONDA WASHERHOSE RETAINER HONDA : 90652-SB2-023
16951 150156045 HEADLAMP SPACER TOYOTA: 81124-89101
16954 150155011 FORD HOOD ROD CLIP FORD: 386299-S
16986 150159419 GM/FRD BMPR BOLT SS CAP GM: 14003784
17003 150155473 BUMPER COVER RETAINER FORD: F32Z-17C756-S; MAZDA : GJ21-50-049
17004 150157015 HOOD INSULATION RETAINER CHRYSLER: 4341060
17006 150152072 VW BLIND RIVET WHL OPENING VW: N-900-845-01, N-906-349-01
17057 150155593 RIVET SCREW TYPE SILL PL. HONDA : 90505-SM4-003
17058 150155368 HONDA GROMMET NUT GRILLE HONDA : 90676-SA7-003, 90682-SB0-003
17060 150155252 PLASTIC RIVET SCREW FORD: E92Z-17C756-C; MAZDA : GJ21-50-034
17081 150155255 SCREW TYPE RIVET HONDA : 91524-SE0-003
17092 150153117 DOOR TRIM CLIP GM: 20734005
17096 150155317 ROCKER PANEL RETAINER HONDA : 91513-SM4-000
17101 150155188 BLIND RIVET CHRYSLER: 4370138, 6503860; FORD: N804675S
17118 150153111 DOOR LOCK POWER LEFT HAND FORD: E6DZ-5421971-A, F3LY-6321971-A
17119 150153112 DOOR LOCK POWR RIGHT HAND FORD: E6DZ-5421970-A, F3LY-6321970-A
17121 150155592 3/16 RIVET FORD LP FRAME FORD: N805592-S100; GM: 25618730
17122 150153104 2 PC FOLD OVER CLIP FORD86 FORD: E6DZ-5421952A, E83Z-5421952-B
17124 150153109 TRIM PANEL DOOR CLIP FORD: N805155-S
17143 150155603 HONDA BUMPER FASCIA RIVET HONDA : 91502-SM4-000
17144 150155269 HONDA BUMPER FASCIA RIVET HONDA : 91504-SM4-000
17162 150155275 DRIVE TYPE RIVET GM: 96057846; TOYOTA: 90467-07041, 90467-07041-B2,

90467-07076-C0
17177 150153130 GM BLD RVT DR LCK ACTUATOR GM: 22093245
17192 150155320 COWL GRILLE REATAINER HONDA : 91508-SM4-003
17194 150155100 GRILLE CLIP TOYOTA: 90467-13005
17195 150156047 CLIP GRILLE/HEADLAMP GM: 94218027; ISUZU : 8942180270; MAZDA : B092-50-

715; MITSUBISHI: MB153825; TOYOTA: 90467-13011



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 51

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
17196 150155344 NISSAN GRILLE RETAIN CLP 12X16MM NISSAN: 62380-U7400
17205 150155299 HONDA COWL CLIP HONDA : 91501-SM4-003
17206 150155488 BUMPER COVR FITS INTO 9MM TOYOTA: 90467-09145
17215 150157027 HOOD INSULATION RETAINER GM: 15678493, 21039141
17216 150155325 RIVET DRIVE CHRYSLER: 6503598; FORD: N807389-S; GM: 15969147,

21030249
17220 150155328 BLIND RIVET GM: 21094747
17222 150155326 RIVET DRIVE FORD: F3LY-14570-B; GM: 21075686
17226 150155327 RIVET DRIVE GM: 10207146, 21077323
17227 150155339 RIVET DRIVE GM: 21077405
17237 150155143 HOOD INSUL. CLIP NISSAN NISSAN: 65832-F5000, 65846-30F00
17267 150155597 RIVET TYPE SCREW ACURA : 91503-SP0-003
17279 150152089 NYLN WINDSHLD MLD CLIP BMW 7 SERIES 1987+ BMW : 51-31-1-938-494, 51-31-8-177-850
17287 150155172 HONDA COWL RETAINER HONDA : 90687-SB0-003, 90687-SB0-013
17342 150155304 NISSAN FRONT BUMPER NISSAN: 01281-00441
17347 150155595 RIVET DRIVE TYPE RETAINER NISSAN: 01553-06721
17378 150155197 SCREW TYPE RIVET NISSAN: 01553-02741, 01553-03101
17379 150155596 RIVET SCREW TYPE - HONDA HONDA : 91512-SM4-003
17381 150155308 HEADLINER RETAINER FORD: N805315
17383 150155276 DRIVE TYPE RIVET GM: 94847334, 96057847; SUZUKI: 09409-07313; TOY

OTA: 90467-07066
17385 150155606 INNER PANEL CLIP NISSAN: 63848-D4000, 63848-D4001
17408 150159531 CLOSE END RIVET FORD: N803933-S101, N806126-S100
17410 150159508 RIVET-CLOSE END FORD LUGG FORD: 390428-S100
17420 150151145 CLOSE END SLRVTM597UP TOYOTA: 90084-26001
17434 150153106 CHRY BUSHING 11/32-13/32-13/32 CHRYSLER: 2486468
17437 150153227 GM DOOR HINGE PIN 4-5/32L GM: 12338015, 14066728
17439 150155594 LEXUS BUMPER COVER TOYOTA: 90467-09093
17440 150155232 BODY SIDE CLIP ACURA : 91501-SG0-003
17442 150155231 CLIP DOOR BELT MLDG PLAST HONDA : 90601-SH3-014
17443 150155203 BODY SIDE CLIP HONDA : 91534-SE0-000, 91534-SE0-003
17452 150155303 REAR BUMPER RETAINER NISSAN: 01553-00545, 01553-01121
17453 150155211 INTERNAL CARPET CLIP MAZDA : B003-68-865-96
17472 150155574 NISSAN FRONT BUMPER CLIP MITSUBISHI: MB547806; NISSAN: 63854-01A00
17495 150151099 STAMPED NUT M4 CHRYSLER: 34202159; FORD: N620391-S36
17599 150155349 GM RAD GRILLE RETAIN5/16X3/4X1-2/16 91UP GM: 15672328
17611 150157039 HOOD PROP ROD CLIP TOYOTA: 53452-90351
17615 150155356 RIVET-BLIND SEALING CHRYS CHRYSLER: 6032856; GM: 15622490
17616 150155412 SATURN BLK PLS FRNT FASCI GM: 21077131
17632 150155387 FORD RIVET SCREW 8X18 GR3-7 PL 89-92 FORD: MB455-56143; MAZDA : B092-51-833
17634 150155302 COWL GRILLE PLASTIC RET NISSAN: 01553-01781, 27158-20100
17637 150159523 BLIND RIVET GM: 21093072
17639 150155598 BLIND RIVET CHRYSLER: 6035201; FORD: N806830-S100
17640 150159525 BLIND RIVET GM: 3540146, 3548011, 3548690
17641 150159526 BLIND RIVET GM: 9442361, 25609048
17642 150159499 FORD FUEL LINE RET. CLIP FORD: N802241-S
17643 150159498 FORD FUEL LINE RET. CLIP FORD: N802239-S
17645 150156077 BMW HEADLAMP COVER BMW : 51-71-1-916-197
17649 150153143 GM TRUCK TRIM PANEL RET GM: 15953247
17653 150159528 BLIND RIVET GM: 9433185
17664 150155397 RETAINER 1/4 INCH HOLE CHRYSLER: 6033082, 6033840; FORD: 390018-S; GM:

10121502

Body Clip Cross Reference
Auveco/Car-Pak #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 52
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Auveco/Car-Pak #

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
17667 150155270 PLASTIC SIDE MOULDING
17669 150153141 TRIM PANEL RETAINER YEL NYL CHRYSLER: 6502907, 6504014
17685 150153159 JP DR TRM PNL CLP7.5X16X32. CHRYSLER: 6502991
17974 150152009 POWER WINDOW REGULATOR FORD: D0AZ-62234A24-B
17975 150157028 HOOD INSULATION RETAINER CHRYSLER: 6502842; GM: 21039129
17976 150153127 DOOR HINGE PIN RETAINER GM: 15562610
17981 150153156 BELT MOULDING CLIP CIVIC HONDA : 91510-SR3-003
17988 150155486 PSH-TYPE RETAINR INTO 9MM LEXUS : 90467-09143
17989 150153202 LEXUS SD DR CLAD RET 90UP LEXUS : 75049-33010
17990 150153025 NYLON RETAIN CLIP 7MM LEXUS : 90467-09138
18028 150155348 RIVET-BLIND W/SHOULD CHRY CHRYSLER: 4630088; GM: 15732202
18029 150155353 RIVET-DRIVE TYPE CHRYSLER CHRYSLER: 4630253
18030 150155354 RIVET DRIVE CLIP CHRYSLER: 6501925; GM: 10134407
18031 150155363 CHRY BLIND RIVET CNTSK 6.3X17 NYL 93UP CHRYSLER: 4630088, 4630660
18032 150155358 RIVET SCR TYPE COWL-CHRYS CHRYSLER: 6502573
18033 150152039 WEATHERSTRIP CLIP - CHRYS CHRYSLER: 4696129
18102 150155341 TAIL LAMP RETAINER CHRYSLER: 6502776; FORD: N806624-S191
18108 150155380 CHRY BLIND RIVET TOUGH M6.3 FLG17 81UP CHRYSLER: 34201631
18114 150153165 HOOD WEATHER CLP HONDA : 91520-SM4-C01, 91520-SM4-C010
18119 150159520 RIVET TYPE SCREW HONDA : 91502-SP0-003
18153 150155280 FRONT BUMPER RETAINER GM: 15686142
18157 150155245 COWL GRILLE CLIP HONDA : 90672-671-003
18165 150155427 COWL GRILLE RET M7 HONDA : 91508-SR3-000
18166 150159093 TRIM PANEL RETAINER 10X4 NISSAN: 80875-85E00
18174 150153162 GM DR RAD TRM 8X19X24 92UP GM: 25601491
18206 150155216 DRIVE TYPE RIVET MAZDA : GJ21-68885-B69
18210 150155083 ROCKER PANEL CLIP GM: 25500454
18248 150156086 DODGE RAM BL PL HDLMP GKT CHRYSLER: 55055098
18249 150155378 COWL SCREEN RETAINER CHRYSLER: 6503339
18261 150159455 GM IND HX SLF DRILL FREE GM: 11503578, 11503785
18262 150155385 GM S-10 TRUCKS RADIATOR GRILLE CLIP GM: 15002520, 15682898, 15709521
18263 150156084 HEADLAMP ADJUSTING BARrel FORD: F37Z-13N129-A
18265 150155272 DRIVE TYPE RIVET NISSAN: 76882-57A00
18268 150155383 GM DRIVE RIVET 10X25 12X2.0X41 PL 94UP GM: 15959832
18269 150155362 CHRY/JEEP DRIVE RIVET 6.33X22 PL 93UP CHRYSLER: 6503106
18270 150155508 PUSH TYPE RETAINER 7MM LEXUS : 90467-07117
18271 150153166 MZDA HOOD CLP 14X15 MAZDA : 9926-40-531B
18294 150155429 SEAT PNL RET8.5X12.6 HONDA : 91566-SP0-003
18298 150155420 GM BLK PUSH IN TYPE RET GM: 22536642
18301 150155417 GM BLK PLS BUMBER CLIP CHRYSLER: 6503768; GM: 10185925
18308 150155548 GM DRIVE RIVET M6.3 FLG19 GM: 3540858
18310 150154127 DRIVE BUMPER RIVET GM GM: 22587036
18327 150155496 JEEP PIN DRIVE RIVET CHRYSLER: 6503454
18334 150155384 GM DRIVE RIVET 10X25 12X2.0X45 GM: 15959833
18353 150153140 DOOR TRIM PANEL RET GM: 15960325
18379 150155394 TRUNK LINER RETAINER FORD: W701380-SSW
18389 150155447 GM RAD BAFFLE RET BLK GM: 25603960
18392 150153094 DOOR LOCK ROD RIGHT END GM: 20582532
18393 150153095 DOOR LOCK ROD GM: 20582533
18415 150159098 BUMPER GROMMET HONDA : 71144-SR3-A00
18416 150159420 GM IND HX HD W/START WASH GM: 11505044
18456 150155409 94 INTEGRA WHT PL BUMPR ACURA : 90661-ST7-003



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 53

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
18457 150155369 HONDA ACCORD RAD GRILLE RETAINER HONDA : 91578-SV4-003
18458 150155421 HOOD INSULATION 6MM HOLE FORD: F1CZ-16774-A; MAZDA : B455-56-741
18502 150159603 PLASTIC RIVET 6.3MM
18503 150155396 BK PLASTIC DRIVE RIVET 8M FORD: W701054-S300
18509 150152019 FORD DOOR/HOOD INNER CIP CHRYSLER: 4040732
18510 150152046 GM WEATHER STRIP HOOD CLP GM: 20200750
18682 150155526 BMPR CVR RET 5X13 GM: 10098645
18685 150155450 BUMPER COVER FRONT & REAR GM: 3548804
18692 150152023 WEATHERSTRIP CLIP FORD: E7GZ-6120586-B; MAZDA : G031-58-762; TOYOTA:

67867-28030, 67867-89103, 67868-89101
18732 150155534 GM BLIND RIVT ALU/ALU GM: 9434229
18746 150157040 ACURA HOOD INSUL BLK 7.5 ACURA : 90700-SJ4-000
18750 150157035 5/8 PLUG FLUSH BLACK
18771 150155432 DODGE H/L MNT 6.5X25X29.7 CHRYSLER: 6502104
18796 150159533 HEX TAP IND SCR 4.2X18MM
18816 150155405 FORD MUSTNG PL GRMT HL10M FORD: N807994-S
18827 150157046 CHRY HOOD INSUL RETAIN CHRYSLER: 6503892
18842 150157049 HOOD INSUL RETAIN M7 TOYOTA: 90467-09006
18848 150153146 95 WINDSTAR YEL DR PNL FORD: F58Z-16237A02-A
18859 150155271 COWL SCREEN RETAINER GM: 10119816
18862 150153195 CHRY DOOR TRIM PNL CLIP M7 CHRYSLER: 6503204
18873 150155445 REAR BUMPER COVER RET. TOYOTA TOYOTA: 52161-02020, 52161-16010
18877 150152052 WTHRSTRP RET 5X15 HONDA : 91530-SP1-003
18888 150155462 TOY DRIVE RIVET FRT FENDR TOYOTA: 90467-07166
18889 150159548 DOOR LOCK ACT.GM JN GM: 15015804, 22643056, 88891791
18893 150155400 RIVETSCR 6.3X18X13 FORD: N806322-S
18894 150155401 RIVET SCR PL6.3X18X19 FORD: N807578-S, N808332-S
18895 150155402 RIVET SCR PL6.3X18X27 FORD: N807577-S, N808331-S
18896 150155413 SATURN BLK PLS DRIVE RET GM: 21095797
18912 150159549 GM RIVET STL/ALU GM: 22585836, 22641917
18913 150155468 DODGE BLND RVT BLK NYL CHRYSLER: 6503938
18914 150153114 DOOR LATCH BUSHING
18915 150153153 95 NEON DOOR PANEL CLIP CHRYSLER: 6502907, 6504014
18926 150153158 GM TLGATE RODCLP3/32X3/16 GM: 14037239, 15545178
18927 150152059 GMBLINDRVT LEG.RET3/16X7/ GM: 22569178, 22579423
18929 150159472 BLIND RIVET WITH FLANGE GM: 10120608
18930 150153163 DOOR TRIM CLIP GM: 22600612, 22651066
18934 150159509 HEX HEAD BODY BOLT#14X7/8 CHRYSLER: 6034703, 6035188, 6505813AA
18947 150152057 KIT F/PWR WNDWREG89UP
18948 150153161 GM RET SPKR CLP 5.9X11X19 GM: 1644290
18951 150159568 CHRY/MITSU SCR RIVET M8 MITSUBISHI: MR138807
19006 150159055 RD WSH HD TEK 4.2 X 25MM
19013 150153189 DR TYP RVT M7 15X2MM TOYOTA: 90467-07059-22
19109 150153186 DR TRM PNL CLP M9X11 TOYOTA: 67771-30070
19111 150159559 RIVET BUMPER TAURUS 96' FORD: N807168-S
19112 150157045 HOOD INSUL RETAIN M7 TOYOTA: 90467-09004, 90467-09004-01
19113 150157044 HOOD INSUL PL M7 TOYOTA: 90467-08124
19114 150155464 HOOD SL RET 9X12X9 HONDA : 91518-SM4-003
19116 150152053 WTHRSTRP FRT & RR DOOR CLP HONDA : 91516-SM4-013, 91530-ST5-003
19118 150155463 PSH TYPE RETAINR INTO 8MM HONDA : 91501-S04-003
19120 150155499 LEXUS ES300 LOW QRT PNL LEXUS : 75039-33060
19128 150155461 SCR RVT FNDR M7 FLG20 GM: 96064506; TOYOTA: 90467-07044

Body Clip Cross Reference
Auveco/Car-Pak #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 54
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Auveco/Car-Pak #

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
19129 150153188 CRU DR TRM PNL M9X17 GM: 95008221; MITSUBISHI: MB608104; TOYOTA: 67771-

30090
19136 150152090 WNDSHLD REVL MLD CLIP GOLF JETTA '93-'98 VW: 1H0-853-733B
19140 150159563 CHRY SCR RIVET BUMP CVR ACURA : 90505-SL0-003; CHRYSLER: MB888869; GM:

94852368; TOYOTA: 90467-08155
19142 150155540 HONDA SCR RIVET 6.6X15X13 HONDA : 91550-SH3-003
19145 150153190 DOOR PANEL FRONT RETAINER HONDA : 91560-SP0-003
19147 150155415 NISN METAL FRNT BUMPR RET NISSAN: 62228-51S00
19149 150153177 DOOR WTHRSTRIP CLP M5 CHRYSLER: 4658673
19170 150159638 #14X5/8 TRUSS HD S/T SCRW
19180 150153228 FORD HEADLIGHT MOUNT BRKT FORD: F75Z-13N129-AA, XL3Z-13N129-AA
19183 150156101 GM DOOR HINGE PIN PHOS 4 LONG GM: 20043351, 20043361
19190 150153183 DOOR LOCK ROD L.H.CLIP CHRYSLER: 4658445
19191 150153184 DOOR LOCK ROD R.H.CLIP CHRYSLER: 4658444
19194 150155502 WHEEL APRON RETAIN PL TOYOTA: 90189-06028
19195 150155060 PUSH RETNR BLK NYLON GOLF JETTA '91-'93 VW: 161-867-299-01C
19201 150159639 8X22 HEX WASH HD SHLDR BT
19213 150153199 CHRY DR TRM PNL5/16X1/16 CHRYSLER: 6503709
19216 150159368 6MM HEX NUT W/14MM SPIN W CHRYSLER: 6100047
19219 150159552 SCREW TYPE RIVET TOYOTA: 90467-09096
19233 150155500 ACURA BUMPER PUSH RET ACURA : 91503-SZ3-003; HONDA: 91503-SZ3-003
19237 150155491 COWL RETAINER PH REC. FORD: W701649-S, W704881-S300
19239 150155514 HONDA DRIVE RIVET M8 ACURA : 91512-SX0-003; MITSUBISHI: MU000319
19245 150155505 DODGE BUMP CVR RETAIN CHRYSLER: 5BB14LX9
19246 150155479 BUMPR RETAIN 10X18 NISSAN: 01553-09241
19248 150155428 DR RVT BMP BLK 6X15 VOLVO : 1268176-3
19249 150155062 RCKR PANEL PSH RTNR WHT NYLN VOLVO 1993+ VOLVO : 3512624-2
19264 150159033 GM FENDR BRKT RET NUT #8 GM: 22642007
19270 150153169 DOOR PAN GM GM: 10285935
19274 150155507 NISSAN DRIVE RIVET REUSABLE NISSAN: 01553-09321
19275 150153168 DOOR PANEL GM U & W '97 GM: 10287971
19277 150152048 GRMT NUT WHEEL OPENG FORD: N804765-S
19317 150159571 GM EXTR NUT SNAP IN GM: 15707256
19323 150155616 HOOD INSUL RETAINER MITSUBISHI: MU481187
19326 150153193 TAIL LMP RET M9.5 FORD: N807706-S
19338 150155448 HOOD SEAL RETAINER CHRYSLER: 6504098; FORD: N808842-S
19339 150155484 CHRY RADIATOR GRILL RET. CHRYSLER: 4676356
19354 150157055 FORD ROOF/TRIM RETAIN-TAN FORD: N807155-S
19355 150155506 GM DRIVE RIVET PL GM: 15960621
19356 150153194 GM DR PNL RET M7 18X28 GM: 15986673
19359 150155509 HONDA BELT MLD CLIP GRN HONDA : 91531-ST0-003
19368 150152062 GM WTHRSTRP CLP FR/RRDR97 GM: 10283414, 10405030
19369 150155504 BMPR CLIP GM: 3543865
19373 150153206 DR PNL RET GRY M7 91UP FORD: N807154-S
19376 150159276 VOLVO ALU/BLK BUMPR RIVET VOLVO : 979878-6
19378 150155683 #10-24X3/4 UNIVSL MLDG CLP
19385 150153180 HOOD INSULATION RETAINER MITSUBISHI: MB020923
19386 150153197 CHRY DR PNL RET M9.5 14MM CHRYSLER: 6505292AA
19395 150156092 GM BLIND RIVET STEEL GM: 15022087
19396 150155476 BLIND RIVET ALUM. FORD: N808426-S100
19406 150155501 BLIND RIVET MULTI GRIP CHRYSLER: 6035414
19414 150154004 PEEL RVT 3/16 FLG 1/2 FORD: W525170-S417



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 55

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
19415 150155307 BELT CLIP HONDA : 91527-SM4-003, 91527-SZ3-003, 91561-S84-A01
19416 150155617 PUSH TYPE RET TOYOTA: 90467-09139
19417 150159557 SQ TRUSS SCREW CHRYSLER: 6503401, 6503819
19419 150159546 FORD BUMP RIVET ALU/ALU FORD: N811460-S100
19421 150155458 STEP WELL MOULDING CLIP FORD: F7UZ-1513284-BA
19422 150155494 CHRY PIN DRIVE RIVET CHRYSLER: 6504521
19424 150153124 GM DOOR HINGE PIN 5-1/4 GM: 15591860, 15685040, 15691595, 15967691, 88891731
19425 150152050 WEATHERSTRIP CLIP FORD: 385677
19426 150153204 FORD DOOR PWR WND&LCK SWT FORD: F2SZ-14570-A
19440 150155536 GM WIRE HARNESS CONVL 6.3 GM: 12040984
19441 150155433 PANEL 9MM HOLE FORD: F1TZ-7810182-A, F57Z-7810182-AAA
19454 150155620 HONDA BUMPER FASCIA GROM HONDA : 90651-SL9-013, 90651-SL9-0130
19470 150155538 HONDA REAR BMPR RETAIN HONDA : 90108-SW3-003, 90109-SW3-003, 90418-SW3-

003
19482 150153201 LEXUS ES3000 LOW DR PNL MLD LEXUS : 75039-33010
19483 150152045 HONDA CIVIC BLK PL RTN CL ACURA : 91515-SR3-000
19490 150155622 TOYOTA PUSH TYPE RETAINER TOYOTA: 90467-06150
19501 150157057 GM TRIM PANEL RETAIN-TAN GM: 10249241
19506 150155625 ACURA/HONDA TRUNK LIN RET ACURA : 90666-SA7-003ZW
19507 150155626 ACURA MOULDING CLIP ACURA : 91504-SP1-003
19511 150153211 LINCLN LW DR TRM PNL M9 FORD: W704958-S300
19516 150155475 FORD BLIND RIVET ALUM. FORD: N804851-S100
19517 150155544 LINCLN COWL RETAIN 52X14 FORD: N811849-S300
19519 150155490 GM GARNISH MOULDING CLIP CHRYSLER: 6502988; GM: 16662182
19523 150155471 GM LIFTGATE SCUFF PLATE GM: 10271562
19527 150157059 GM TRIM PANEL RETAINER GM: 10408480
19530 150155472 OLDS COWL VENT RETAINER GM: 10281610
19531 150155628 DOOR BELT MOULD CLIP TOYOTA: 68211-06020
19533 150155629 HONDA SCREW GROMMET HONDA : 90107-S10-003
19535 150151151 LEXS PIN RET CWL 16X1795UP LEXUS : 90467-07126
19541 150157062 HOOD INSUL RETAIN-CHRYS CHRYSLER: 6504135
19546 150155656 T-GATE LINING PUSHRET HONDA : 91570-SK7-003ZF, 91570-SKF-003ZF
19548 150159573 CHRY THR CUT NUT ZN M6 CHRYSLER: 6100814
19549 150156094 GM PIVOT SCKT HDLMP ADJ GM: 16506617
19552 150155539 DRIVE RIVET COWL GRIL TOYOTA: 90467-07146
19607 150155556 DRIVE RIVET 10.5X12.5 FORD: XL3Z-17E971-AA
19613 150159637 GM C&K TRUCKS FRONT AIR RETAINER GM: 15733971
19614 150159636 GM C&K TRUCKS FRONT AIR GROMMET GM: 15733970
19615 150155520 GM DRIVE RIVET REAR BUMP GM: 15153415
19628 150153209 JEEP DOOR PANEL RETNR M7 CHRYSLER: 5012874-AA, 6505539AA
19639 150156108 RADIATOR WHEEL HOUSE FENDER PUSH RETAIN CHRYSLER: 6506008AA; GM: 15149708
19641 150155521 CHRY RETAINER PIN FRT FAS
19650 150155541 HONDA REAR BUMP GROM HONDA : 90106-SW3-003
19651 150153200 FORD DOOR LOCK ROD 4.8MM FORD: F85Z-1521952-BB
19653 150159052 HEX HEAD M 4.2 X30MM FORD: N811534-S61
19655 150157053 HOOD INSULATION FASTENER FORD: 386553-S
19658 150153212 FORD DR&TL ROD #10-24 M8 GM: 16629990, 16675980
19667 150153191 TRM PAD CLP3/16X3/4X FORD: N801994-S100
19674 150155638 HONDA HEADLINER RETAINER HONDA : 90671-SB3-003YF, 90671-SX3-003YF
19678 150157065 WETHRSTRIP RETAIN FD 95UP
19682 150155640 HONDA HOOD SEAL RET BLK HONDA : 91518-S10-003
19721 150155642 FENDER LINING SCREW GROM TOYOTA: 90189-06157

Body Clip Cross Reference
Auveco/Car-Pak #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 56
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Auveco/Car-Pak #

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
19729 150155644 HOOD INSUL RET TOYOTA: 90467-09050
19732 150155550 FRNT BUMP FASC CLIP GM: 22615352
19734 150155645 HONDA BUMP GROM #10 SCREW HONDA : 90107-SX0-003
19739 150155646 BUMP COVER PUSH RET TOYOTA: 90467-09127
19741 150153208 DOOR PANEL SCREW GROMMET #8 HONDA : 90670-SG0-003, 91626-SH3-003
19742 150155648 FEN LIN SCREW GROM#12 TOYOTA: 90189-06104
19744 150155649 HONDA TRUNK TRIM RET 98ON HONDA : 90669-SP0-003ZA
19751 150155531 JEEP BLND RVT SS 3/16X3/8 CHRYSLER: 6035122
19752 150156111 DOOR BELT MOULDING CLIP FORD 95-98
19756 150155652 FEN LIN SCREW GROM#12 TOYOTA: 90189-06214
19758 150157066 TRIM PAN RET W/SEAL PONT GM: 25704141, 25762391
19760 150155553 FORD KICK PANEL RETAIN M7 FORD: N807535-S
19775 150157069 TRIM PAN RET W/SEAL-CHEVY CHRYSLER: 55350747-AB
19777 150159606 DUO-DRIVE TRUSS LP SCREW #14x5/8 x14mmhd
19783 150155537 FORD PARK & TURN HOUS RETNR FORD: N811169-S, W705550-S300; TOYOTA: 90075-10801,

90075-10805, 90189-06111
19785 150155545 CHRY COWL VENT GROMMET CHRYSLER: 4805119
19786 150152049 FORD/CHY REPAIR KIT FOR PWR WINDOWS 3PC
19787 150156112 FENDER AND ROCKER PANEL PUSH RETAINER GM: 22657634
19788 150155554 GM SCRW RIVET M5X11 GM: 10246149, 22657634
19795 150155535 GM WIRE HARNESS CONVL 6.3 GM: 12015631
19797 150155653 DOOR MOULD W/SEALER TOYOTA: 90080-46269, 90467-10077
19800 150156113 ROCKER PANEL MOULDING CLIP CHEVY 2000 GM: 10437565
19801 150155323 RIVET DOOR COWL GM: 21077123
19809 150155557 U Nut #8 (M4.2) CHRYSLER: 6504870AA
19820 150155710 ROCKER PANEL MOULDING CLIP GM: 22603384
19821 150156116 ROCKER PANEL MOULDING CLIP CHEVY 2000 GM: 10431761
19842 150155654 ROCKER PANEL 97 ON TOYOTA: 75867-30110
19849 150156117 BUMPER PUSH RETAINER FORD 2000 FORD: W706494-S300
19894 150153226 JEEP MOULDING CLIP CHRYSLER: 5FR56DX9
19904 150155063 RCKR PNL PUSH RTNR VOLVO 850 SER 1994+ VOLVO : 9133417-7
20164 150157073 HOOD INSUL RET-CHRY 97-00 CHRYSLER: 4878883-AA
20165 150157074 TRIM PAN RET-CHRYS 97-00 CHRYSLER: 4658887
20186 150155279 EMBLEM GROMMET NATRL NYLON BMW '86-'01 BMW : 51-14-1-902-279
20187 150159295 RADIATOR HOUSING RTNR MERCEDES 1974+ MERCEDES: 000-990-34-92
20188 150153175 TRIM PANEL RETNR WHT NYLNMERCDS '95-'68 MERCEDES: 003-988-41-78
20190 150153220 TRIM PANEL CLIP FORD TAURUS/SABLE 2000 FORD: W708621-S300
20191 150155671 FORD PUSH RETAINER FORD: YS4Z-16K262-AA
20192 150155525 MUD FLPS RETAIN6.3X18
20195 150153221 FORD DOOR LOCK CLIP-LEFT FORD: YL3Z-1521971-AA
20196 150155680 TOYOTA ROCKER PANEL PUSH TOYOTA: 90467-06133-CO
20203 150159694 PUSH RETNR BLK NYLON MERCDS 1986+ MERCEDES: 124-990-07-92-9C75
20205 150159673 MOULDING INSERT WHT NYLN MERCDS 1994+ MERCEDES: 001-988-20-81, 001-988-76-81
20244 150155675 GM PUSH RETAINER GM: 25707329
20245 150155676 FORD NYLON NUT #8-6MMHOLE FORD: N806334-S
20247 150155669 FEND/BUMP RETAIN CHRYSLER: MR200300
20248 0501105035 PANEL CLIP BMW E28,30,39 BMW : 51-11-8-174-185
20259 150159640 #10X3/4 TRUSS HD SEMS BLK HONDA : 90114-SE0-000
20260 150159634 VW SCUFF PLATE GROMMET VW: 1J0-853-120
20262 150155678 GM TRUNK TRIM RETAINER GM: 22642756
20268 150155679 GM GARNISH MOULDG FASTENR GM: 15748479
20270 150155515 BMW7 DRIVE RIVET TRUNK BMW : 51-48-1-938-725



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 57

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
20271 150159658 #8X3/4 PHILLIPS PAN HEAD SEMS
20272 150155497 HONDA BELT MOULD CLIP RED HONDA : 91589-SV4-003
20273 150155668 INT. TRIM RETAINER CHRYSLER: 5GC71RC3AA, 5GF92RC3AA; FORD: N808791
20274 150155670 CHRY DOOR PANEL RETAINER
20275 150153218 CHRY DOOR PANEL GROMMET
20310 150159293 LICENSE PLATE RETAINER FORD: 383142-S
20314 150155053 TRUCK & TRIM RETAINER MB SL500 & 600 '99 MERCEDES: 000-990-37-92
20316 150155079 DR FRM/BMPR RET CHRYSLER: 4381395, 6501086; FORD: 388904-S
20319 150157031 HOOD INSULATION RETAINER FORD: W700671-S300
20327 150155708 NISSAN BUMPER FASCIA PUSH TYPE RETAINER NISSAN: 63848-9E001
20328 150155707 ROCKER PANEL MOULDING CLIP GM: 10443956
20332 150155418 GM FRNT BUMPER FASCIA RET CHRYSLER: 6033018; FORD: N803678-S; GM: 10182300
20334 150155689 HONDA TRUNK PAD RETAINER GRAY HONDA : 90667-S0D-003ZC
20335 150155694 TOYOTA FENDER LINER RETAINER TOYOTA: 53879-60010
20338 150153553 GM DOOR PANEL REATAINER WHITE GM: 10421018
20340 150155703 HONDA DOOR MOULDING CLIP HONDA : 91501-S5A-003, 91501-S5D-A01
20341 150153552 VW DOOR TRIM PANEL RETAINER VW: 3B0-868-243
20348 150155704 NISSAN BUMPER RETAINER NISSAN: 63878-01E10
20349 150155705 NISSAN BUMPER CLIP NISSAN: 01553-09611
20352 150155695 HONDA REAR PANEL RETAINER
20355 150155690 FORD FRONT END CLIP FORD: W705849-S300
20358 150155691 FORD ROCKER PANEL CLIP FORD: F6DZ-5410182-AA
20362 150155693 GM BUMPER RETAINER GM: 15056810
20363 150155697 FORD DOOR PANEL RET. WHITE
20365 150155698 COWL VENT RETAINER GM: 10301966, 10425306
20366 150157080 FENDER LINER/ MUD FLAP RETAINER FORD: W701855-S300
20367 150155696 FORD BUMPER COVER RETAINER FORD: W706713-S300
20377 150155706 CHEVROLET ROCKER PANEL MOULDING CLIP GM: 10443956, 11518357
20381 150155687 TRIM PANEL CLIP HONDA : 90667-671-013ZA; MITSUBISHI: MC440901;

NISSAN: 62660-48600-1
20390 150155684 TOYOTA FENDER CLIP-BLUE TOYOTA: 90904-67036
20391 150155685 TOYOTA FENDER CLIP-RED TOYOTA: 90904-67037
20392 150155688 FORD EXPED/EXPL/MTN'EER CLIP
20395 150159659 M6X1.0 SPECIALTY INSERT GM: 10281487
20398 150159664 FORD RIVET W/ CAP FORD: W700636-S303
20399 150155692 FORD ESCAPE HOOD RETAINER FORD: W701374-S
20400 150155699 FORD RADIATOR GRILL CLIP FORD: YF4Z-8194-AA
20401 150159657 M6X1.0 SPECIALTY INSERT WITH SEALER FORD: W706172-S309, W708384-S309
20403 150155700 SCUFF PLATE RETAINER BMW : 51-47-1-840-960
20404 150153551 SCREW GROMMET ROCKER PANEL MOULDING CLIP MERCEDES: 000-988-86-25
20405 150155702 ROCKER PANEL MOULDING CLIP VOLVO : 9151649-2
20406 150155712 VOLVO RADIATOR CLIP VOLVO : 1372920-7
20407 150155709 HOOD INSL/RADIATOR SEAL VOLVO : 9133073-8
20415 150159651 M6-1.0 SPECIALTY INSERT WITH SEALER FORD: N803763-S100; GM: 15685099
20421 150159655 M5-8 SPECIALTY INSERY WITH SEALER FORD: N811257-S100, N811257-S309
20422 150159656 M6X1.0 SPECIALTY INSERT GRIP GM: 11519952
20423 150159660 M8X1.25 SPECIALTY INSERT GM: 11519960
20424 150152044 FRONT DOOR WINDOW REGULAT
20427 150153548 CHRY DOOR TRIM RETAINER GRAY CHRYSLER: 6505759-AA
20428 150153549 CHRY DOOR TRIM RETAINER L GREEN CHRYSLER: 5028438-AA
20429 150155701 MOULDING CLIP TOYOTA: 90467-11100
20436 150159652 HEX WASHER HEAD SCREW CHRYSLER: 6507219-AA

Body Clip Cross Reference
Auveco/Car-Pak #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 58
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Auveco/Car-Pak #

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
20444 150153550 TRIM PANEL RETAINER GM: 15076791
20447 150159653 EXTRUDED U NUT FORD: N623334-S426
20451 150159654 SPECIALTY INSERT WITH SEALER GM: 15990498
20457 150159663 CHRYSLER TAIL LIGHT HOUSING RETAINER CHRYSLER: 4857345-AA
20465 150155714 MAZDA FRONT & REAR FENDER RETAINER MAZDA : UB39-45-919
20469 150153554 TOYOTA DOOR LOCK ROD CLIP-RH TOYOTA: 69293-12030
20470 150153555 TOYOTA DOOR LOCK ROD CLIP-LH TOYOTA: 69293-12040
20472 150159665 HONDA EMBLEM NUT W/ SEALER HONDA : 91512-SR3-004
20473 150155716 TOYOTA DOOR PANEL RET. W/ SEALER TOYOTA: 67771-12070
20481 150159669 GM SIDE, ROCKER, FENDER CLIP GM: 10423553
20485 150153547 GM TRUCK DOOR PIN & BUSHING KIT
20515 150153544 CHRYSLER TRIM PANEL RETAINER CHRYSLER: 6505918-AA
20516 150155715 FORD HEADLIGHT & DECK LID RETAINER FORD: W706182-S300
20517 150155753 SCREW GROMMET REAR BUMPER COVER FORD: W707606-S300
20520 150159668 GM ROCKER PANEL MOULD. RET. GM: 10308063
20521 150159667 GM ROCKER PANEL MOULD RET. W/ SEALER GM: 10242285, 10297369, 10308019
20523 150155757 ROCKER PANEL BUMPER FASCIA CLIP BLK NYL CHRYSLER: 55156429-AA
20524 150159666 DODGE DOOR & FENDER SHIELD RETAINER CHRYSLER: 6035821
20526 150155717 CHRYSLER RADIATOR GRILL FASTENER CHRYSLER: 4805570-AA
20527 150155760 REAR LIGHT HOUSING LOWER GROMMET GM: 15745990
20529 150155761 REAR LIGHT HOUSING UPPER GROMMET GM: 15745991
20534 150155755 DOOR LOCK ROD CLIP LEXUS TOYOTA '90-'03 TOYOTA: 69293-12050
20535 150155756 DOOR LOCK ROD CLIP LEXUS TOYOTA 90-03 TOYOTA: 69293-12060
20543 150155754 HOOD INSL RETAINER BLK NYLON HYUNDAI : 81126-37010
20544 150153543 DODGE TRUCK HINGE REPAIR KIT
20545 150155759 TRIM PANEL RETNR NYLON & RUBBER
20546 150155723 AIR CABIN FILTER FASTENER TAURUS & SABLE FORD: N808342-S307
20558 150155734 GARNISH MOULDING RETAINER LEXUS & TOYOTA TOYOTA: 62217-13010
20559 150155735 GARNISH MLDNG RETAINER VIBE LEXUS TOYOTA GM: 88970345; TOYOTA: 90467-10167
20563 150155758 DOOR TRIM PANEL RETNR JEEP LIBERTY 02-03
20564 150155512 HONDA DRIVE RIVET F&R ACURA : 91503-SZ5-003; HONDA : 91503-SZ5-003
20566 150155728 BODY SIDE MOULDING CLIP W/SEALER HYUNDAI HYUNDAI: 87756-2D000
20567 150155729 BODY SIDE MOULDING CLIP W/SEALER HYUNDAI HYUNDAI: 87756-38000
20568 150155730 ROCKER PANEL CLIP W/SEALER HYUNDAI '04 HYUNDAI: 87758-3D000
20572 150155732 PANEL RETAINER MONTERO '01-04 (MB846992)
20573 150155733 HEADLINER NYLON NUT MONTERO '97-'04
20575 150153557 DOOR PANEL & ROCKER MLDNG TOYOTA '98-'04 TOYOTA: 67771-12080
20576 150153558 FENDER FLARE RETAINER VIBE & ECHO GM: 88969790; TOYOTA: 75867-21010
20577 150155725 PANEL RETAINER VIBE '03-'04 TOYO '00-'04 GM: 88970494; TOYOTA: 90467-07168, 90467-07168-C1
20578 150155726 ROCKER MOULDING RETAINER VIBE & COROLLA GM: 88970495; TOYOTA: 76924-52021
20579 150155727 COWL VENT GROMMET W/SEALER MAZDA '04 MAZDA : FD02-50-798
20580 150155722 BMPR CVR & GRNSH MLDNG RTNR CHRY & MITSU MITSUBISHI: MR478262
20581 150155724 BMPR CVR GRNSH RTNR W/SLR CHRY & MITSU MITSUBISHI: MR478263
20584 150155718 SCREW GROMMET DOOR MOULDING CADILLAC GM: 25647358
20603 150155739 BUMPR RETNR W/SEALER HONDA '01-'04 HONDA : 71592-S5D-000
20607 150155720 ROCKER MOULDING CLIP GRAND PRIX GM: 10323057
20608 150157083 GRILL MOUNTING RTNR ELEMENT '03-'04 ACURA : 91503-S0K-A01
20609 150155741 HOOD INSL RETNR ACURA HONDA 2004-2000 HONDA : 91501-S1K-003
20611 150155742 COWL VENT RETAINER ACCORD '03-'04 HONDA : 90602-S7S-003
20612 150155743 COWL VENT GROMMETW/SLR ACCORD '03-'04 HONDA: 90603-S7S-003
20613 150155740 FRONT BMPR RETNR FRONTIER XTERRA '98-04 NISSAN: 63848-40Y00
20615 150157081 FENDER LINER RETAINER BONNEVILLE '00-'04 GM: 11517992



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 59

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
20616 150153556 DOOR PANEL RETAINER W/SEALER HUMMER H2 GM: 11519031
20617 150155748 WHEEL OPENING MOULD CLIP GREEN NYLON GM: 10242602
20619 150155721 ROCKER PANEL FASTENER GM S & T TRUCKS GM: 15046306
20622 150155738 HEADILNR RETNR JEEP LIBERTY 2002-2004 CHRYSLER: 6506311-AA
20624 150157084 FENDER FLARE RTNR EXPEDITION & NAVIGATR FORD: W709002-SAA
20625 150157082 HEADLINR RETNR EXPDITION NAVIGATR '03-04 FORD: XW7Z-6302354-AAB
20629 150155746 SPLIT TYPE RIVET 5/32"DIAM ALM CHRY99-04 CHRYSLER: 6036148-AA
20631 150155719 PUSH RETAINER FRONT BUMPER COVER GP GM: 11588988
20634 150155736 DOOR PANEL RETAINER ALERO & GRAND AM '04 GM: 10363811, 22722859
20635 150155737 TRIM PANEL GRMMT W/SEALR ALERO &GRAND AM GM: 22722860
20663 150155747 ROCKER PANL MOULDING CLIP MUSTANG 01-04 FORD: F57Z-16241-AB, W709767-S300
20664 150155745 DOOR PANEL RETAINER MALIBU 2004 GM: 11509030
20666 150155744 DOOR TRIM RETNR GRAY NYLON MALIBU 2004 GM: 22677979, 22677980
20667 150155749 COWL VENT GROMMET CHRY MINIVAN 2004 CHRYSLER: 4860375-AB
20669 150155750 TRIM PANEL RETNR ALTIMA INFINITI 97-04 NISSAN: 01553-07111
20671 150155751 TRIM PANEL RETNG CLIP FRONTIERXTERR00-04 NISSAN: 01553-0052U
20674 150155752 REAR BUMPER RETNR W/SLR QUEST 2004 NISSAN: 85284-AD005
20698 150159650 CIGARETTE LIGHT PLUG GM: 9616231
72-3572 150155609 WHEEL HOUSING MLDING#8-16 FORD: D2VZ-6521952-A
72-3705 150153049 DOOR LOCK ROD RETAINER CHRYSLER: 3796071
78-4813 150153058 DOOR LOCK ROD END 1/6INCH GM: 11500659
78-4968 150159376 LONG THROAT EXT NUT6.3MM GM: 14003786
79-5026 150155069 REAR BUMPER END CAP RET. NISSAN: 01553-00542
82-5536 150153068 FENDER CLIP M5 NISSAN: 62318-H8500
82-5539 150155099 BLACK GRILLE CLIP NISSAN: 80533-00100
82-5567 150153074 DATSUN CLIP ROD END NISSAN: 82532-H8500
82-5568 150153075 DATSUN CLIP ROD END VW: N90282401, 3096724
85-5952 150155159 DOOR TRIM CLIP NISSAN: 1553-53500
85-5958 150153093 NISSAN TRUCKS DOOR TRIM CLIP FORD: E2SZ-13410-A
86-6047 155618065 FORD F/1157 SOCKET/WIRE A GM: 11505816
87-6201 150159431 BLK IND SCR W/WSR 5X20MM GM: 10087223
87-6293 150152024 FRNT DOOR WINDW GUIDE GM: 11503412
88-6419 150159447 SLF-TAP6.3X20HEX HD W/WSH FORD: N800394-S2
88-6467 150159450 IND HEX HD BLT W/WSH 8X25 HYUNDAI: 86353-21001
88-6500 150155205 GRILLE CLIP FORD: B040 68 865 A96
89-6574 150155212 SCREW TYPE RIVET FORD: KA01 68 401, H260-68-401
89-6586 150155222 DOOR INTERNAL TRIM CLIP ACURA: 90652-SD4-003
89-6593 150155224 ACURA DOOR MLDNG. CLIP GM: 12046623, 12101899, PT169
89-6625 155638003 GM COOLANT TEMPERATUR SENSOR TOYOTA: 81195-89101
89-6710 150156053 HEADLAMP ADJUSTING SCREW HONDA: 90140-SB0-000
90-6723 150159459 BUMPER BOLT WITH SHOULDER FORD: E4SZ-6321970-A, F1LY-6321970-A
90-6731 150153113 DOOR LOCK RIGHT/LEFT FORD: N802408-S100
90-6745 150159464 HEX HEAD DOG POINT BOLT BMW: 6101126
90-6746 150159465 HEX HEAD DOG POINT 6X30 MAZDA: B100-68-8550
90-6750 150155256 REAR LAMP ACC DOOR ACURA: 75801-SD2-003
90-6752 150155257 BODY SIDE CLIP GM: 11509319
90-6789 150159470 POZI DRILL OVAL 4.2X12 NISSAN: 62228-61A00
90-6801 150155273 FRONT BUMPER RETAINER GM: 10120517, 10155743
90-6819 150159476 PHIL SCREW W/WASHER4.2X15 GM: 11503499
90-6845 150159481 PHILLIP PAN W/WSH 4.2X15 GM: 11502546
90-6851 150159482 STAMPED NUT 6.3MM GM: 11514332
90-6855 150159484 IND HEX W/WAHSER 6.3X16 CHRYSLER: 6033854

Body Clip Cross Reference
Auveco/Car-Pak #



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 60
Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

Body Clip Cross Reference
Auveco/Car-Pak #

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
91-6899 150159487 HEX HD BLT1/4X3/4 HONDA: 75329-DH4-013
91-6921 150153118 HONDA RED DOOR CLIP GM: 11508322
91-6940 150159494 IND HEX W/DOG POINT 6X20 NISSAN: 66814-01A00
91-6952 150155301 RIVET TYPE SCREW GM: 25512804
91-6969 150159500 INDENT HEX WITH WSH4.2X16 FORD: F2UZ-16828-A
91-6984 150157023 HOOD ROD RETAINER FORD: 380934-S2
92-7021 150159504 PH RND HD DRILL SCR8X1/2 GM: 20180200,
92-7069 150151106 RIVET WITH SHOULDER CHRYSLER: 6031872
92-7069 150151106 RIVET WITH SHOULDER GM: 90058568
93-7133 150155351 GM INSUL RETAIN HD20MM HL8MM GR7-15 PL GM: OLDS 24512415
93-7193 150155361 GM RAD GRILLE FILLER PANEL 10X20 88-92 GM: OLDS 22524346
94-7220 150155370 RADIATOR RETAINING CLIP GM: 8732474
94-7223 150155372 BLACK PLASTIC RETAINER GM: 22578214
94-7240 150159524 BLIND RIVET GM: 20095324
94-7255 150155379 DODGE DRIVE RIVET FRT WHL WELL 5X9 94UP CHRYSLER: 6002372, 6003323
94-7358 150153135 CHRY DOOR PANEL RETAINER GM: 11513923
95-7362 150159534 TORX OVAL TRIM SCR 4.2X20 GM: 15685073
95-7467 150153144 DR LCK ROD CLP RH/LH NISSAN: 01553-02741, 01553-03201
95-7491 150159543 SCREW TYPE RIVET BLK NISSAN: 62228-65E00
95-7493 150155416 METAL CLP FRNT BUMPR GM: 10140336, N808552-S
96-7504 150155419 GM PUSH IN TYPE RETAINER CHRYSLER: 4658676
96-7519 150153151 96 CIRRUS DOOR ROD CLP WH FORD: 1U2Z-14S411-HA, WPT-109
96-7573 155617018 LAMP-ST SCKT BASE 3157 FORD: W70595-S300
96-7588 150155441 GM FRT BMP RET M7 17.5X37 GM: 10146315
96-7588 150155441 GM FRT BMP RET M7 17.5X37 TOYOTA: 90467-09128
96-7604 150159553 SCREW TYPE RIVET FORD: F3TZ-101012-A
97-7626 150155449 HL LIP MOULD RETAIN GM: 10271128
97-7639 150157042 HOOD PROP ROD CLIP TOYOTA: 95008221, 67771-12050, 67771-16080
97-7673 150153174 FRONT/REAR DOOR RETAINER GM: 22659122
97-7687 150155455 GM MALIBU DRV RVT M9 CHRYSLER: 4658674
97-7696 150153181 DOOR LOCK ROD R.H. CHRYSLER: 4658675
97-7697 150153182 DOOR LOCK ROD C.H. FORD: N807601-S417
97-7703 150159562 FORD RIVET ALY/STL M6.3 TOYOTA: 90467-07096
97-7709 150153187 TRM PNLCLP M6 26X10.5 TOYOTA: 90467-10107
97-7710 150155459 FNDR SPLSH SHLD 17X11 CHRYSLER: MB361578
97-7722 150155465 CHRY FND MOULD GROMM 8X11 MITSUBISHI: MB361578
97-7722 150155465 CHRY FND MOULD GROMM 8X11 NISSAN: 01553-02923
97-7734 150155469 NISSAN WHL FLARE GROMMET FORD: E0AZ-5442487-A
97-7736 150155470 NISSAN PATHFNDR WHL FLARE TOYOTA: 90467-07151
98-7767 150155480 LUGGAGE COMP RETAIN CHRYSLER: 6504452
98-7776 150153196 CHRY DR TRM PNL M7 1X14 FORD: N801293-S36
98-7781 150159567 FORD IND HX M4-.7X12 FORD: W700615-S300
98-7785 150155485 RIVET SCREW PL M6 FORD: F4ZZ-6310182-A
98-7844 150155503 ROCKER PNL GRD EFF HONDA: 91562-S84-A01
98-7859 150155511 HONDA BELT MLDNG CLIP YEL HONDA: 90668-SGO-003
98-7861 150155513 HONDA GROMET NUT M4 7X10 VW: 1H0-819-055-B-01C
98-7867 150155517 VW COWL VENT SCR PL GM: 20227160
98-7887 150155528 GM INT TRIM RET 1/4X23/32 GM: 11509627, 115313599
98-7888 150159576 GM EXTR U NUT BLK CHRYSLER: MB566719
98-7893 150153207 CHRY DOOR CLAD RETM7 96UP HONDA: 91528-SM4-023
99-7931 150155551 HONDA DRIP RAIL CLIP WHT TOYOTA: 90269-05054
99-8008 150159670 TOYOTA GAS FILLER RIVET W/ SEAL, M5 TOYOTA: 90269-06013



Re
vi

si
on

12
/2

00
5

©
20

05
W
U
R
TH

U
SA

,I
nc

.

CR 61

Toll Free Order Hotline 1-800-WURTH USA or visit us on the internet at www.wurthusa.com

VENDOR # WURTH # DESCRIPTION MAKE / O.E.M. #
99-8209 150159671 TOYOTA GAS FILLER RIVET W/ SEAL, M6 Hole FORD: F57B-16241-AA
99-8248 150159556 FORD MOULDING FENDER

Body Clip Cross Reference
Auveco/Car-Pak #


